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Q1. When two elastic bodies collide with each other,!

(a) The two bodies will momentarily come to rest after
collision.

(b) The two bodies tend to compress and deform at the
surface of the contact.

(c) The two bodies begin to regain their original shape.

(d) All of these

Q2. An ideal machine is one whose efficiency is!
(a) Between 60 and 70 %

(b) Between 70 and 80 %

(c) Between 80 and 90 %

(d) 100 %

Q3. The friction experienced by a body, when in motion, is
known as-

(a) Rolling friction.

(b) Dynamic friction.

(c) Limiting friction.

(d) Static friction.

Q4. The moment of inertia of a square of side A. about an
axis through its centre of gravity is_

(a) A*/4

(b) A*/8

(c) A*/12

(d) A*/36

Q5. The forces, whose lines of action are parallel to each
other and act in the same directions, are known as _

(a) Coplanar concurrent forces.

(b) Coplanar non-concurrent forces.

(c) Like parallel forces.

(d) Unlike parallel forces.

Q6. A ladder is resting on a rough ground and leaning against
a smooth vertical wall. The force of friction will act _

(a) Downward at its upper end.

(b) Upward at its upper end.

(c) Zero at its upper end.

(d) Perpendicular to the wall at its upper end.

Q7. Which of the following statement is correct!?

(a) The stress is the pressure per unit area.

(b) The strain is expressed in mm

(c) Hook's law holds good upto the breaking point.

(d) Stress is directly proportional to strain within the elastic
limit.

Q8. When a body is subjected to a direct stress tensile stress
(o) in one plane, then the normal stress on an oblique section
of the body inclined at an angle 0 to the normal of the section
is-

(@)ocos B

(b) 6 cos? 8

(c)osinB

(d) osin?0

Q9. The bending moment on a section is maximum where
shear force is!

(a) Minimum.

(b) Maximum.

(c) Changing sign

(d) Zero.

Q10. Which of following statement is correct-?

(a) A continuous beam has only two supports at the ends.

(b) A uniformly distributed load spreads uniformly over the
whole length of a beam.

(c) The bending moment is maximum where shear force is
maximum.

(d) The maximum bending moment of a simply supported
beam of length | with a central point load

Q11. A leaf spring is supported at the-
(a) Ends and loaded at centre.

(b) Centre and loaded at the ends.

(d) Centre and loaded anywhere.

(c) Ends and loaded anywhere.

Q12. The hoop stress in a thin cylindrical shell is!
(a) Longitudinal stress

(b) Compressive stress

(c) Radial stress

(d) Circumferential tensile stress
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Q13. The buckling load for a given column depends upon!
(a) Dimensions of cross-section of the column

(b) Length and least radius of gyration of the column.

(c) Modulus of elasticity for the material of the column.
(d) All of these

Q14. Rivets are generally specified by.
(a) Thickness of the plates to be joined.
(b) Overall length.

(c) Shank diameter.

(d) Diameter of head.

Q15. A With an increase in size of tube, the rise or
depression of liquid in the tube due to surface tension will.
(a) Decrease.

(b) Increase.

(c) Remain unchanged.

(d) Depend upon the characteristics of liquid.

Q16. A body floating in a liquid is said to be in neutral
equilibrium, if its metacentre.

(a) coincides with its centre of gravity.

(b) lies above its centre of gravity.

(c) lies below its centre of gravity.

(d) lies between the centre of buoyancy and centre of

gravity.

Q17. When a liquid is flowing through a pipe, the velocity of
the liquid is.

(a) maximum at the centre and minimum near the walls.

(b) minimum at the centre and maximum near the walls.

(c) zero at the centre and maximum near the walls.

(d) maximum at the centre and Maximum near the walls.

Q18. The divergent portion of venturi meter is made of
longer than convergent portion in order to. _

(a) Avoid the tendency of breaking away the stream of liquid
(b) To minimise frictional losses

(c) Both A.and B.

(d) None of these

Q19. The effect of magnitude of the water hammer depends
upon the !

(a) Elastic properties of the pipe material

(b) Elastic properties of the liquid flowing through the pipe
(c) Speed at which the valve is closed

(d) All of these

Q20. One poise is equal to.
(a) 0.1 N-s/m?

(b) 1 N-s/m?

(c) 10 N-s/m?

(d) 100 N-s/m?

Q21. In an inward reaction turbine_

(a) The water flows parallel to the axis of the wheel.

(b) The water enters at the centre axis of the wheel and then
flows towards the outer periphery of the wheel.

(c) The water enters the wheel at the outer periphery
towards the centre of the wheel.

(d) The flow of the water is partly radial and partly axial.

Q22. The cavitation in a hydraulic machine!

(a) causes noise and vibration of various parts.

(b) reduce the discharge of a turbine.

(c) causes sudden drop in power output and efficiency.
(d) All of these

Q23. Which of the following statement is wrong! ?

(a) The reaction turbines are used for low head and high
discharge.

(b) The angle of taper of draft tube is less than 8°

(c) An impulse turbine is generally fitted slightly above the
tail race.

(d) A Francis turbine is an impulse turbine.

Q24. Multi-stage centrifugal pumps are used to-
(a) give high discharge.

(b) produce high heads

(c) pump viscous fluids.

(d) All of these

Q25. An open system .

(a) is a specified region where transfers of energy and / or
mass take place

(b) is a region of constant mass and only energy is allowed
to cross the boundaries

(c) cannot transfer either energy or mass to or from the
surroundings

(d) has an enthalpy transfer across its boundaries and the
mass within the system is not necessarily constant

Q26. During an isothermal expansion process of a gas :-
(a) pressure remains constant

(b) temperature remains constant

(c) both pressure and temperature remain constant

(d) none of the above

Q27. Second law of thermodynamics is known as the law of-
(a) Energy

(b) Entropy

(c) Enthalpy

(d) Internal energy

Q28. Efficiency of a Carnot engine is 75%. If the cycle
direction is reversed, CoP of the reversed Carnot cycle ( reff)
is.

(a) 1.33

(b) 0.75

(c)0.33

(d) 1.75
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Q29. If the value of [dQ/T is greater than zero, the nature of
the thermodynamic cycle is !

(a) Reversible

(b) Irreversible

(c) Both reversible and irreversible

(d) Impossible

Q30. The change in entropy is zero during ............ Process-
(a) Polytropic

(b) Adiabatic

(c) constant pressure

(d) Hyperbolic

Q31. During fusion, the entropy :-
(a) decreases

(b) increases

(c) always remains constant

(d) none of these

Q32. Superheating of the steam is done at_
(a) Constant temperature

(b) Constant volume

(c) Constant pressure

(d) Constant entropy

Q33. Volume of 1 kg of dry steam is known as:_
(a) total volume

(b) saturated volume

(c) specific volume

(d) none of these

Q34. Deaeration of feed water in a Rankine vapour cycle is
carried out because it reduces: -

(a) Cavitation of boiler feed pumps

(b) Corrosion caused by oxygen

(c) Heat transfer coefficient

(d) pH value of water

Q35. The process of maintaining the speed of a steam
turbine constant for various load conditions is known as:_

(a) Reheating

(b) Bleeding

(c) Governing

(d) Cooling

Q36. Liquefied Petroleum Gas is a mixture of.
(a) Propane and butane

(b) Propane and ethane

(c) Methane and isopropane

(d) Butane and ethane

Q37. Which of the following coal has the highest calorific
value?

Q38. Compression ratio in SI engine varies from.
(a)6to 10

(b) 10to 14

(c) 14 to 22

(d) 22to 32

Q39. An IC engine has a bore and stroke of 2 units each The
area to calculate heat loss can be taken as : -

(@)4m

(b)5m

()6

(d8m

Q40. If the Net Positive Suction Head (NPSH) requirement
for the pump is not satisfied -

(a) no flow will take place

(b) cavitation will be formed

(c) efficiency will be low

(d) excessive power will be consumed

Q41. A hydraulic press is a device used_

(a) to store pressure energy which may be supplied to a
machine later-on.

(b) to increase the intensity of pressure of water by means
of energy available from a large quantity of water at a
low pressure.

(c) to lift larger load by the application of a comparatively
much smaller force.

(d) All of these

Q42. Which of the following hydraulic unit is used for
transmitting increased or decreased torque to the driven
shaft ?

(a) Hydraulic Ram

(b) Hydraulic intensifier

(c) Hydraulic torque converter

(d) Hydraulic Accumulator

Q43. When the gas is heated at constant volume, the heat
supplied!

(a) increase the internal energy of the gas.

(b) increase the temperature of the gas.

(c) does some external

(d) Both A. and B.

Q44. When the gas is cooled at constant pressure,!
(a) its temperature increases but volume decreases.
(b) its volume increases but temperature decreases.
(c) both temperature and volume increases.

(d) both temperature and volume decreases.

Q45. The heat absorbed or rejected by the working
substance is given by.

(a) Anthracite (a) 6Q=T.ds
(b) Bituminous (b)6Q =T/ds
(c) Lignite (6Q=ds/T
(d) Peat (d) None of these
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Q46. The condition for reversibility of a cycle is!

(a) the pressure and temperature of the working substance
must not differ, appreciably, from those of the
surroundings at any stage in the process.

(b) all the processes, taking place in the cycle of operation,
must be extremely slow.

(c) the working parts of the engine must be friction free.

(d) All of these

Q47. The efficiency of steam turbines may be improved by!
(a) Reheating of steam.

(b) Regenerative feed heating.

(c) Binary vapour plant.

(d) All of these

Q48. The compression ignition engines are governed by_
(a) Hit and miss governing,

(b) Quantitative governing,

(c) Qualitative governing.

(d) Combination of B. and C.

Q49. Consider a refrigerator and a heat pump working on
the reversed cornot cycle between the same temperature
limits. Then: _

(a) COP of Heat Pump=COP of Refrigerator

(b) COP of Heat Pump=COP of Refrigerator-1

(c) COP of Heat Pump=COP of Refrigerator+1

(d) COP of Heat Pump= 1/(COP of Refrigerator)

Q50. A refrigerant moving in a refrigerator follows-:
(a) open system

(b) closed system

(c) both open and closed system exists

(d) none of the above

Q51. The viscosity of !

(a) Liquid increases with temperature
(b) Fluids decreases with temperature
(c) Fluids increases with temperature

(d) Gases increases with temperature

Q52. Local atmospheric pressure is measured by.
(a) Barometer

(b) Altimeter

(c) Hydrometer

(d) Hygrometer

Q53. The force exerted by a jet of water on a moving vertical
plate, in the direction of motion of plate is given by _
(@)eav?

(b) eay?

(c) ea (v-u)?

(d) ea (v-u)?

Q54. In case of laminar flow, the loss of pressure head is.
(a) Proportional to (Velocity)?

(b) Proportional to velocity

(c) Proportional to (Velocity)'/?

(d) None of the above

Q55. The loss at the exit of a submerged pipe in a reservoir
is_

V2

O

(d) Negligibly small

Q56. The energy loss in a pipe line is due to_

(a) Viscous action only

(b) Surface Roughness only

(c) Friction offered by pipe wall as well as by viscous action
(d) None of the above

Q57. A turbulent pipe flow is said to be in the transitional

regime, if the friction factor !

(a) Independent of Reynolds number

(b) Independent of relative roughness

(c) Independent of both Reynold number and relative
roughness

(d) Dependent on both Reynold number and relative
roughness

Q58. The total head in a flow is the sum of_

(a) Piezeometric head and datum head

(b) Piezeometric head and pressure head

(c) Piezeometric head and velocity head

(d) Piezeomatric head, velocity head and datum head

Q59. An orifice meter consists of an orifice of diameter in a
pipe of diameter D. In general, the C4 of the orifice meter is -
(a) A function of d/D only

(b) A function of Reynolds number only

(c) a function of D/d and Reynolds number

(d) Independent of d/D and Reynolds number

Q60. Hydraulic accumulator is used for-

(a) Accumulating oil

(b) Accumulating hydraulic energy

(c) Supplying large quantities of oil for very short duration
(d) Supplying energy when main supply fails

Q61. Discharge through a double acting reciprocating pump
is given as_

(a) ALN/60

(b) ALN/120

(c) 2ALN/60

(d) 3ALN/120
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Q62. Reciprocating pumps are most suited for where-

(a) Operating speeds are much high

(b) High heads are required on mains despite fluctuations in
discharge

(c) Constant supplies are required regardless of pressure
fluctuations

(d) None of the above

Q63. The delivery valve while starting centrifugal pump is
kept_

(a) Half open

(b) Fully open

(c) Fully Closed

(d) in any position

Q64. Power required to drive a centrifugal pump is
proportional to (N = speed)_

(@ N

(b) N2

(c) N°?

(d) N*

Q65. The ratio of power developed by the runner to the
power supplied by the jet at entrance to the turbine is known
as.

(a) Hydraulic efficiency

(b) Mechanical efficiency

(c) Volumetric efficiency

(d) Overall efficiency

Q66. Fatigue of a component is due to.
(a) cyclic load

(b) static load

(c) constant heating

(d) collision

Q67. Which of the following is TRUE for factor of safety_?
(a) Tensile stress/Permissible stress

(b) Compressive stress/Ultimate stress

(c) Ultimate stress//Permissible stress

(d) Ultimate stress/Shear stress

Q68. Kinetic pairs are those which have two elements that_
(a) have line contact

(b) have surface contact

(c) permit relative motion

(d) are held together

Q69. A cotter joint is used to connect two rods which are in_
(a) Tension only

(b) Compression only

(c) Tension and Compression only

(d) Shear only

Q70. The thickness of a boiler plate is 16 mm, the diameter
of rivet used in the boiler joint is!

(a) 28 mm

(b) 10 mm

(c) 20 mm

(d) 24 mm

Q71. The shearing strength of a rivet is 50 N/mm? If the
diameter of the rivet is doubled, then its shearing strength
will be-

(a) 100 N/mm?

(b) 200 N/mm?

(c) 50 N/mm?

(d) 300 N/mm?

Q72. Rivets are generally specified by :-
(a) Diameter of head

(b) Thickness of plates to be riveted

(c) Length of rivet

(d) Nominal diameter

Q73. Ariveted joint may fail due to :!
(a) Shearing of the rivet

(b) Shearing off the plate atan edge
(c) Crushing of the rivet

(a) Only A

(b) Only B

(c) Only C

(d) Any of Aor BorC

Q74. The types of failure involved in the analysis of the
riveted joints are_?

(1) Shear failure of rivet

(2) Tensile failure of the plate

(3) Crushing failure of the plate

Which of the following statements are in correct for the
analysis of the riveted joints?

(a) (1) and (2) only

(b) (2) and (3) only

(c) (1) (2) and (3)

(d) (1) and (3) only

Q75. The main part of the rivet does not involve which of the
following part_?

(a) Head

(b) Shank

(c) Thread

(d) Point

Q76. Which of the following correctly depicts the efficiency
of the riveted joint.?
(a) Strength of riveted joints

strenght of unriveted solid plate

(b) Strenght of unriveted joints

strength of unriveted solid plate
(C) Strenght of riveted joints

Number of joint s

(d) None of these
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Q77. The strength equation for the rivet in the single shear is
given by -
(@) P = 7 d?t
— T 32
(b) P = 2 d*t
()P, = 1—6d2‘r

(d)P, = :—4d2r

Q78. For a scr ew, the angle of helix (a) is related to the lead
(L) and mean screw thr ead diameter (d) as_

L
(a)tana = 3
(b)tana = %

L
(A)tana = p—r
(d)tana = an

Q79. Allen bolts are !

(a) self-locking bolts

(b) designed for shock load

(c) used in aircraft application

(d) provided with hexagonal depression in head

Q80. Unit of proof resilience is !
(a) Mpa

(b) N/mm?2

(c) Nmm2

(d) Nmm

Q81. Metal to metal joint is used for applications subjected
to___.

(a) very high pressure

(b) very high temperature

(c) very high pressure and temperature

(d) severe vibrations

Q82. Which of the following is not a part of cotter joint!?
(a) Socket
(b) Spigot
(c) Cotter
(d) Collar

Q83. If proof resilience of the member is 400 Nmm and the
volume of the member is 20 mm3 then what will be the
modulus of resilience of the material.?

(a) 20

(b) 200

(c) 40

(d) 400

Q84. If the ultimate stress is 40% more than the permissible
stress the what will be the factor of safety!?

(a) .4

(b) 4

(c) 40

(d)1.4

Q85. Piston rings usually made of_
(a) Carbon steel

(b) Aluminium

(c) Cast - iron

(d) Phosphorous bronze

Q86. Morse test can be easily applied to determine IP. Of-
(a) Single cylinder C.L engine

(b) Multi cylinder C.l. engine

(c) Single cylinder S.I. engine

(d) Multi cylinder S.1. engine

Q87. Air cooling of engines is preferred because.
(a) Itis compact & light weight

(b) It is more, efficient

(c) Cooling rate can be controlled

(d) None of the above

Q88. The Lubrication system is used to!
(a) Decrease Friction

(b) Cool the components

(c) Lubricate the components

(d) All of these

Q89. The Silencer of an Internal Combustion Engine. _
(a) Increases brake specific fuel-consumption (BSFC)
(b) Has no effect on its efficiency

(c) reduces noise

(d) decreases BSFC

Q90. Knocking tendency in a Spark Ignition engine reduces
with increasing.

(a) Engine Speed

(b) Compression ratio

(c) Wall temperature

(d) Supercharging

Q91. Supercharging of IC. Engine is essential for_
(a) Stationary engine

(b) Marine engine

(c) Air craft engine

(d) None of above

Q92. With increasing temperature of intake air, I.C. engine
efficiency.

(a) Decreases

(b) Remains same

(c) Increases

(d) Depends other factor

Q93. In centrifugal air compressor the pressure developed
depends on!

(a) Impeller tip velocity

(c) Compression index

(b) Inlet temperature

(d) all of above
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Q94. If the value of poison's ratio is zero then it means that.
(a) The material is rigid

(b) There is no longitudinal strain in the material

(c) The material is perfectly plastic

(d) none of the above

Q95. The ratio of maximum shear strain developed in beam
of rectangular action to that of average shear stress is -

(@) 2

(b) 1.5

(c)3

(d)1

Q96. The strain energy stored in a simply supported beam of
length L and flexural rigidity EI due to a central concentrated
load W is!

(a) W2L3/48EI

(b) W?L?/48EI

(c) W?L?/96EIl

(d) W?L3/96EI

Q97. The Euler load for a column is 1000 KN and crushing
load is 1500KN. The Rankine load is equal to.

(a) 600 KN

(b) 1000 KN

(c) 1500 KN

(d) 2500 KN

Q98. Bending moment M and torque T is applied on a solid
circular shaft. If the maximum bending stress equals to
maximum shear stress developed, then M is equal to.

() T/2

)T

(c) 2T

(d) 4T

Q99. The maximum bending moment in a simply supported
beam of length L located by a concentrated load W at the
midpoint is given by _

(a) WL

(b) WL/2

(c) WL/4

(d) WLI8

Q100. Which of the following is an inversion of single slider
crank chain !

(a) Watt's indicator mechanism

(b) Beam Engine

(c) Elliptical trammels

(d) Whitworth quick return motion mechanism

Q101. The magnitude of linear velocity of a point B on link

Q102. The power transmitted by a belt is maximum when
the maximum tension in belt (T) is equal to T = Centrifugal
Tension_

(a) Tc

(b) 2T¢

(c) 3T¢

(d) 4T¢

Q103. For the same compression ratio, the efficiency of
diesel cycle as compared to the otto cycle is.

(a) Less

(b) More

(c) Equal

(d) None of the above

Q104. In case of sensible cooling of air, the coil efficiency is
given by (BPF = by pass factor):-

(a) BPF -1

(b) 1 - BPF

(c) 1/BPF

(d) 1+ BPF

Q105. Kinematic viscosity is equal to-
(a) Density/dynamic viscosity

(b) Dynamic viscosity/density

(c) Dynamic viscosity x density

(d) None of these

Q106. Compressibility of a liquid is expressed by its:!
(a) Density

(b) Pressure

(c) Volume

(d) Bulk modulus of elasticity

Q107. If D and d are the diameters of the runner and jet of
the Pelton wheel respectively, the number of buckets on the
runner is given by _

(2)30+D/d

(b)30+2D/d

(c)15+D/2d

(d)15+2D/d

Q108. How to avoid the cavitation in centrifugal pump_
(a) By lowering the suction pressure

(b) By lowering the delivery pressure

(c) By increasing the suction pressure

(d) By increasing the delivery pressure

Q109. When trying to turn a key into a lock, the following is

AB relative to point A is w = angular velocity of link AB. applied :!
(a) w.AB (a) Coplanar force
(b) w.(AB)? (b) Lever
(c) w2.AB (c) Moment
(d) (w.AB)? (d) Couple
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Q110. ... represents the area under acceleration - time
graph.!

(a) Acceleration

(b) Displacement

(c) Motion

(d) Change in velocity

Q111. The area of under the stress-strain diagram up to the
rupture point is known as -

(a) Proof resilience

(b) Modulus of toughness

(c) Modulus of elasticity

(d) Modulus of resilience

Q112. For the same maximum pressure and heat input, the
most efficient cycle is -

(a) Otto

(b) Diesel

(c) Dual

(d) none of the above

Q113. Which of the following is an inversion of single slider
crank chain !

(a) Watt's indicator mechanism

(b) Beam Engine

(c) Elliptical trammels

(d) Whitworth quick return motion mechanism

Q114. The factor which effects the critical speed of a shaft is!
(a) Diameter of the disc

(b) Span of the shaft

(c) Eccentricity

(d) all of the above

Q115. The brakes commonly used in motor cars is!
(a) Shoe brake

(b) Band brake

(c) Band and block brake

(d) Internal expanding brake

Q116. A disc is spinning with angular velocity w red/s about
the axis of spin. The couple applied to the disc causing
precession will be !

I= Mass moment of Inertia of disc

wp = angular velocity of precession of axis of spin

(@) 1/2 w?

(b) Iw?

(c) 1/2 Twwy,

(d) Iww,,

Q117. When the speed of the engine fluctuates continuously
above and below the mean speed, then the governor is said
to be!

(a) Unstable

Q118. Central brain of computer aided design is_
(a) Processor

(b) Hardware

(c)CPU

(d) Logic

Q119. To draw either horizontal or vertical lines, the
command in Auto CAD is _

(a) DRAW

(b) GRID

(c) ORTHO

(d) UNDO

Q120. In computer graphics conics like ellipses, parabolas
and hyperbolas can be specified by _

(a) Specifying five points on the element

(b) Specifying three points and a tangency condition

(c) Either above

(d) None of these

Q121. A typical interactive graphics workstation consists of
hardware components - !

(a) A graphical terminal and operator input device

(b) Output devices and terminal

(c) CPU and terminal

(d) all of the above

Q122. Which of the following is not a part of CAD hardware._
(a) Graphic display terminal

(b) Keyboards

(c) Computer programme

(d) Peripheral equipment

Q123. A Carnot cycle refrigerator operates between250k
and 300Kk. Its coefficient of performance is-

(@6

(b) 5

(1.2

(d)o.s

Q124. When the wet steam flows through a throttle valve
and remains wet at exit-

(a) Its temperature and quality increases

(b) Its temperature decreases but quality increases

(c) Its temperature increases but quality decreases

(d) Its temperature and quality decrease

Q125. Areal fluid is any fluid which-
(a) has zero shear stress
(b) has viscosity

b) Stabl
EC)) Isjchionous (c) has constant viscosity and density
(d) hunt (d) has surface tension and is in compressible
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Q126. The dimensions of the coefficient of dynamic viscosity
in (M.L.T) notation system are!

(aMLT™?

(b)M™ILT

(OQMLIT

(ML T

Q127. Inclined single column Manometer is useful for the
measurementof
(a) Negative

(b) Small

(c) medium

(d) High

pressure-

Q128. High velocity in a conduct of large size is known as-
(a) Laminar flow

(b) Turbulent flow

(c) Either of above

(d) none of the above

Q129. Minor losses in a pipe flow are those losses!
(a) Which are insignificantly small
(b) Which can be neglected always
(c) Caused by frictional resistance
(d) Caused by local disturbance due to pipe fitting

Q130. Maximum impulse will be developed in hydraulic ram
when!

(a) Ram chamber is large

(b) Supply pipe is long

(c) Supply pipe is short

(d) Waste valve closes suddenly

Q131. A hydraulic intensifier normally consists of !
(a) acylinder and a ram

(b) a cylinder, a piston, storage tank and control valve
(c) two cylinders, two rams and a storage device

(d) two co-axial rams and two cylinders

Q132. Which of the following devices is used for
transmitting increased or decreased torque from one shaft to
another.

(a) Hydraulic torque converter

(b) Hydraulic ram

(c) Hydraulic intensifier

(d) Hydraulic coupling

Q133. Specific speed of an palton wheel ranges from.
(a)12t0 70

(b) 80 to 400

(c) 300 to 1000

(d) 1000 to 1200

Q134. The value of speed ratio (K,) in case of Francis
turbine ranges from-

(@) 0.2t0 0.3

(b) 0.4t0 0.5

(€)0.6t0 0.9

(d) none of above

Q135. A Palton turbine is considered suitable for which of
the following head !

(@) 10 to 20 m

(b) 20to 30 m

(c)35to50m

(d) 100 to 250 m

Q136. Kaplan turbine is.

(a) A axial flow turbine

(b) A high head mixed flow turbine
(c) An impulse inward flow turbine
(d) An outward flow reaction turbine

Q137. Which of the following serious problems arise from
cavitation !?

(a) Damage to blade surface

(b) Fall in efficiency

(c) Noise and vibration

(d) All of above

Q138. The blade of power saw is made of.
(a) High speed steel

(b) Baron steel

(c) Stainless steel

(d) Malleable cast iron

Q139. The most suitable theory of failure for brittle material
is..

(a) Maximum strain energy theory

(b) Maximum normal stress theory

(c) Maximum shear stress theory

(d) Maximum distortion energy theory

Q140. A key connecting a flange coupling to a shaft is likely
to fail in_

(a) Tension

(b) Bending

(c) Shear

(d) Torsion

Q141. An open coiled helical spring is subjected to an axial
force, the wire of the spring is subjected to !

(a) Combined shear and bending only

(b) Combined shear, bending and twisting

(c) Combined shear and twisting only

(d) Direct shear only
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Q142. The life of a ball bearing is inversely proportional to-
(a) (Load)'/?

(b) (Load)?

(c) (Load)3?3

(d) (Load)?

Q143. The Most suitable bearing for carrying very heavy
loads with slow speed is.

(a) Hydrostatic bearing

(b) Hydrodynamic bearing

(c) Ball bearing

(d) Roller bearing

Q144. The bearing characteristic number in a hydrodynamic
bearing depends on !

(a) Length, Width and Load

(b) Length, Width and speed

(c) Viscosity, speed and Load

(d) Viscosity, Speed and bearing pressure

Q145. In spur gears, the circle on which the involute is
generated is called.

(a) Base circle

(b) Pitch circle

(c) Clearance circle

(d) Addendum circle

Q146. When the pitching of a ship is upward, the effect of
gyroscopic couple acting on it will be .

(a) To move the ship towards start-board

(b) To move the ship towards port side

(c) To raise the stern and lower the bow

(d) To raise the bow and lower the stern

Q147. The partial balancing means -

(a) Best balancing of engines

(b) Balancing partially the reciprocating masses
(c) Balancing partially the revolving masses

(d) All of the above

Q148. In a clock mechanism, the gear train used to connect
minute hand to hour hand is -

(a) Epicyclic gear train

(b) Reverted gear train

(c) Compound gear train

(d) Simple gear train

Q149. In a Hartnell governor, if a spring of greater stiffness
is used, then the governor will be -

(a) More sensitive

(b) Less sensitive

(c) Isochronous

(d) none of above

Q150. The swaying couple is due to the_
(a) Two cylinders of locomotive

(b) Partial balancing

(c) Primary unbalanced force

(d) Secondary unbalanced force

Q151. The radial distance of a tooth from the pitch circle to
the bottom of the tooth, is called .

(a) Dedendum

(b) Addendum

(c) Clearance

(d) Working depth

Q152. The work requirement for a reciprocating compressor
is minimum when compression process is.

(a) Isothermal

(b) Isentropic

(c) Polytropic

(d) Adiabatic

Q153. Performance of boiler is measured by!
(a) Amount of 'Mater supported per hour

(b) Steam produced in kg per kg of fuel burnt
(c) Steam produced in kg/hr

(d) All of above

Q154. For viscous flow the co-efficient of frictions is given
by..

(a) f=8/Re

(b)f=16/Re

(c)f=64/Re

(d)f=32/Re

Q155. The discharge coefficient of a standard venturi meter
can be expressed in general as Cq =.

(a) fn(Re)

(b) fn(B)

(c) fn(Re.p)

(d) A constant for all Re and 8

Q156. A tapered draft tube as compared to a cylindrical draft
tube!

(a) Prevents cavitation even under rece discharge

(b) Prevents hammer blow

(c) Responds better to load fluctuations

(d) Converts more of kinetic head into pressure head

Q157. Specific speed of turbine is expressed as!
(a) NvP
H

NVP

(b) T
NP
()
NvP
5/4

OF
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Q158. A tapered draft tube as compared to a cylindrical draft
tube!

(a) Prevents cavitation even under rece discharge

(b) Prevents hammer blow

(c) Responds better to load fluctuations

(d) Converts more of kinetic head into pressure head

Q159. The power which appears in the expression for the
specific speed is the _

(a) Water power

(b) Shaft power

(c) Power into the turbine

(d) none of the above

Q160. The maximum efficiency of spiral gears is (where 8 =
Shaft angle, and ¢ = Friction angle)_
(@)sin(06+@)+1/cos(B-¢)+1
(b)cos(B-@)+1/sin(B+@)+1
(c)cos(O+@)+1/cos(B-¢)+1
(d)cos(0-@)+1/cos(0+¢@)+1

Q161. The purpose of surge tank in a pipeline is to !
(a) remove friction

(b) prevent turbulence in the flow

(c) prevent flow loss

(d) relieve pressure due to water hammer

Q162. The magnitude of water hammer in the flow of a
liquid through a pipe does not depend upon _

(a) Length of pipe

(b) Elastic properties of pipe material

(c) Temperature of liquid

(d) Time of valve closure

Q163. Water hammer is developed in.
(a) penstock

(b) draft tube

(c) turbine

(d) surge tank

Q164. Which one of the following needs maximum Head-?
(a) Kaplan turbine

(b) Pelton turbine

(c) Francis turbine

(d) Reaction turbine

Q165. If the head on the turbine is more than 300m, the type
of turbine used should be _

(a) Kaplan

(b) Francis

(c) Pelton wheel

(d) Propeller

Q166. Kaplan Turbine is a: _

(a) Impulse turbine

(b) Inward flow reaction

(c) Axial flow reaction

(d) Axial flow reaction with fixed vanes

Q167. Francis and Kaplan turbines fall under the category
of-

(a) Impulse turbines

(b) Reaction turbines

(c) Axial flow turbines

(d) Mixed flow turbines

Q168. The cavitation in reaction type hydraulic turbine is
avoided by !

(a) Using high polished blades

(b) Using stainless steel runner

(c) Running turbine at designed speed

(d) All of above

Q169. Which relation is incorrect.?

(a) Francis Turbine - Impulse Turbine
(b) Pelton Turbine - Impulse Turbine
(c) Kaplan Turbine - Reaction Turbine
(d) Francis Turbine - Reaction Turbine

Q170. The tension of the tight side and the slack side of belt
is (T1) and (T;) respectively, with the linear velocity (V).
Which expression is most suited for the maximum power
transmitted by the belt.?

(@) (T:-Tz) xV

(b) (T1+T2) x V
T,-T,
=
T1+T;

(@™

Q171. The ratio of the tension in the tight side (T;) and
tension on the slack side of the belt (T;) of the belt is 5.0.
What is the power transmitted (kW)by a belt, if the tension
on the tight side of the beltis 5000 N and the velocity

of beltis 25.00 m/sec_?

(a) 50

(b) 75

(c) 100

(d) 150

Q172. Which of the following factors plays a considerable
role in choice of belt drives!?

(a) Angular position of connecting shaft

(b) Direction of belt motion

(c) Centre distance

(d) All options are correct
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Q173. The pulley, which is used to increase the angle of
contact, is calleda/an___ pulley_

(a) loose

(b) fast

(c) idler

(d) cross belt

Q174. Crowning of a pulley is done to :_
(a) prevent the wear and tear of the belt
(b) increase strength of the pulley

(c) avoid slipping of the belt

(d) enable pulley rigidly fixed to the shaft

Q175. The uniform pressure theory as compared to the
uniform wear theory gives _.

(a) Higher frictional torque

(b) Lower frictional torque

(c) Either lower or higher frictional torque

(d) None of these

Q176. Which of the following statement is INCORRECT about

the dry clutch and wet clutch_?

(a) Heatdissipation is more difficult in dry clutch.

(b) Rate of wear is very less in wet clutches as compared to
dry clutches.

(c) Torque transmitting capacity of dry clutch is less than
wet clutch.

(d) Engagement in wet clutch is smoother than dry clutch.

Q177. The equation for the calculation of torque
transmitting capacity in the conical clutch as per uniform
wear theory is

(@M, = —— (D +d)

4 sina
(b) My = ——(D —d)
(@M, =——(D—d)
(@M =75 (0= d)

Q178. In the disc-clutch the clutch acts as a -
(a) driving member

(b) driven member

(c) neutral member

(d) None of these

Q179. Which of the following clutch is also considered as the
wet clutch-?

(a) Single plate clutch

(b) Multi-plate clutch

(c) Both Single plate clutch and Multi-plate clutch

(d) None of these

Q180. Which of the following statement is CORRECT about
the dry clutch!?

(a) Heat dissipation is more difficult in dry clutch.

(b) Rate of wear is more in dry clutches.

() Dry clutch has the highest coefficient of friction

(d) All options correct

Q181. The outer cone of the conical clutch is keyed to the
shaft and the inner cone is to slide axially_

(a) driven, fixed

(b) driving, fixed

(c) driving, free

(d) driven, free

Q182. Which of the following statement is CORRECT about

the wet clutch-?

(a) Torque transmitting capacity of wet clutch is higher than
the dry clutch.

(b) Heat dissipation is easier on the wet clutch as compared
to the dry clutch.

(c) The engagement of the dry clutch is smoother in the wet
clutch.

(d) All option are correct

Q183. The torque transmitting capacity of the single plate
clutch is calculated by

@M=D +d)

()M, ==>(D +d)

@M, ==>(D~d)

(@M, =>(D~d)

Q184. Which of the following method is CORRECT for

increasing the torque transmitting capacity of the clutch!?

(a) Using the frictional material with a higher coefficient of
friction.

(b) Increase the plate pressure.

(c) Increase the mean radius of the friction disk.

(d) All options are correct

BILINGUAL

Mechanical
Engineering

ka Mahapack

Live Class, Video Course
Test Series, Ebooks

13| Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/
https://www.adda247.com/product-onlineliveclasses/9973/mechanical-engineering-maha-pack?examCategory=engineering-maha-pack

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q185. Why are gear teeth made harder.?
(a) To avoid wear

(b) To avoid pitting

(c) to avoid abrasion

(d) To avoid tensile strength

Q186. Gear teeth are made harder to avoid!
(a) greater compressive stress in bending
(b) tensile strength

(c) abrasion

(d) wear

Q187. If the radius of the pitch circle of the gear profile is 50
mm and the value of addendum is 5 mm. What will be the
radius of the addendum circle-?

(a) 27.5

(b) 55

(c) 50

(d)52.5

Q188. If pitch diameter is 200 mm and number of teeth are
20 then circular pitch of the gear will be:_

(a) 0.314 mm

(b) 3.14 mm

(c)31.4 mm

(d) 314 mm

Q189. The friction torque, transmitted in case of flat pivot
bearing for uniform ratio of wear is equal to—

(a) tWR

(b) HWR

() ZHWR

(d) ;uWR

Q190. Which of the following is the best suitable range of
working head of Kaplan turbine.?

() 5-70m

(b) 500 - 2000 m

(c) 300 -1500 m

(d) 100 - 300 m

Q191. The critical speed of a turbine is _

(a) same as the runaway speed

(b) the speed that will lead to mechanical failure of the shaft

(c) the speed which equals the natural frequency of the
rotor

(d) the speed equal to the synchronous speed of the
generator

Q192. In reaction turbine, draft tube is used: -

(a) To transport water downstream without eddies

(b) To convert the kinetic energy to flow energy by a
gradual expansion of the flow crosssection

(c) For safety to turbine

(d) Toincrease the flow rate

Q193. Turbine is a machine which converts:-
(a) mechanical energy to hydraulic energy
(b) Hydraulic energy to mechanical energy
(c) Electrical energy to mechanical energy
(d) Mechanical energy to electrical energy

Q194. Francis turbine is usually used for -

(a) law head installation up to 30 m

(b) medium head installation from 30 m to 180 m
(c) high head installation above 180

(d) for all heads

Q195. A Pelton wheel is ideally suited for: .
(a) High head and low discharge

(b) High head and high discharge

(c) Low head and low discharge

(d) Medium head and medium discharge

Q196. The discharge through a single acting reciprocating
pump is [N = rpm]-

() Q=ALN

(b) Q=ALN/60

(c)Q=2ALN/60

(d) Q=ALN

Q197. Multistage centrifugal pumps are used to obtain
high”_

(a) Pumping of viscous fluids

(b) Discharge

(c) Head

(d) Efficiency

Q198. The ratio of actual measured head to head imparted to
fluid by impeller for a centrifugal pump is known as _

(a) mechanical

(b) volumetric

(c) manometric

(d) impeller

Q199. Medium specific speed of a pump implies that it is

(a) centrifugal pump

(b) mixed flow pump
(c) axial flow pump
(d) axial flow pump or centrifugal pump

Q200. For discharge at high pressure head following pump
isn’t preferred_

(a) Axial flow

(b) Reciprocating

(c) Centrifugal

(d) None of the above
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Q201. In a centrifugal pump casing, the flow of water leaving
the impeller casing is !

(a) Rectilinear flow

(b) Radial flow

(c) Free vortex motion

(d) Forced vortex motion

Q202. To avoid boiling of water in centrifugal pumps _
(a) Suction pressure should be low

(b) Delivery pressure should be low

(c) Suction pressure should be high

(d) Delivery pressure should be high

Q203. To reduce the Acceleration of the fluid in
reciprocating pump _____is used-

(a) One way valve

(b) Air Vessel

(c) Transfer port

(d) All of the above

Q204. Which of the following pump is used for pumping
bingham plastic fluid-?

(a) Centrifugal pump

(b) Screw pump

(c) reciprocating pump

(d) jet pump

Q205. A single speed centrifugal pump, feeding a less water
supply distribution system of a block of houses, works at

(a) Maximum efficiency
(b) Minimum efficiency
(c) Reduced efficiency
(d) None of these

Q206. Which of the following is not a rotary pump!?
(a) gear

(b) vane

(c) screw

(d) None of the above

Q207. Low specific speed of a pump implies thatitis.
(a) High Discharge pump

(b) Low Discharge pump

(c) Both High and Low discharge pump

(d) None of the above

Q208. Two pumps can operate independently at heads H;,
H, and discharges Qi, Q, respectively. If the pumps are
connected in parallel, then what are the resulting discharge
(Q) and head (H)?!

Q209. The figure given below shows the relationship
between power (P) and discharge (Q) for different vane exit
angles of centrifugal pump. In the figure given below, curve c
holds good for:_

Tl\

P

Curve C

lv

Q

(a) vane exit angle of 90°

(b) vane exit angle of less than 90°
(c) vane exit angle of more than 90°
(d) any vane exit angle

Q210. Head developed by a centrifugal pump depends on
A

(a) impeller diameter
(b) speed

(c) fluid density

(d) all of the above.

Q211. After starting the centrifugal pump.
(a) delivery valve is kept wide open

(b) delivery valve is kept closed

(c) inlet valve is kept closed

(d) delivery valve is opened slightly

Q212. In the centrifugal pump, minimum efficiency is
obtained when the blades are -

(a) bent backward

(b) bent forward

(c) straight

(d) bent to have aerofoil section

Q213. At The suction pressure in a reciprocating pump, the
flow separation occurs at !

(a) 2.6 m of water

(b) 7.74 m of water

(c) 760 mm of water

(d) All of the above

Q214. In an inward flow reaction turbine _

(@ Q=Q:+Q2 (a) the water flows parallel to the axis of the wheel
H=H;+H; (b) the water enters at the centre of the wheel andfrom
(b) Q=Q1-Q, there flows towards the outer periphery of the wheel
H f Hl: H, (c) the water enters the wheel at outer periphery, and then
() 81 _ 811 ;%2 flows towards the centre of the wheel
(d) None T (d) the flow of water is partly radial and partly axial
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Q215. In a Kaplan turbine runner, the number of blades are
generally-

(a)2to4

(b)4to8

(c)8to6

(d) 16 to 24

Q216. The turbine to be used for 450 m head of water is.
(a) Pelton wheel

(b) Francis turbine

(c) Kaplan turbine

(d) None of these

Q217. The ratio of the pitch diameter of Pelton wheel to the
diameter of the jetis called : .

(a) Jet ratio

(b) Speed ratio

(c) Wheel ratio

(d) None of these

Q218. Cavitation may occur at : .

(a) the exit of reaction turbine

(b) the inlet of reaction turbine

(c) discharge side of centrifugal pump

(d) the inlet of penstock of hydroelectric power plant
(e) at the bucket of Pelton turbine

Q219. Which of the following is lowest specific speed
Turbine_?

(a) Pelton wheel with double jet

(b) Francis turbine

(c) Pelton wheel with single jet

(d) Kaplan turbine

Q220. High lift centrifugal pumps are those with head -?
(a) Greater than 15m

(b) Greater than 35 M

(c) Equal to discharge area x Velocity

(d) Above 10 m

Q221. The hydraulic Accumulator is Fitted.?
(a) In Between the pump and machine

(b) Before the Pump

(c) After the Pump

(d) Can not fitted anywhere

Q222. Which of the following are the advantages of impulse

turbine over reaction turbines!?

(A) Occupies ample space per unit power.

(B) Compounding is not necessary for speed reduction as
the rotor speed are usually low

(C) Suitable for high power generation

Q223. Bubble formation is caused by_____!
(a) high velocity

(b) high pressure

(c) weak material

(d) low pressure

Q224. Maximum combustion pressure in a gas turbine is
as compared to diesel engine.

(a) Lower

(b) Same

(c) More

(d) None of above

Q225. When the speed of centrifugal pump is doubled the
power required to drive the pump will.

(a) Increases 8 times

(b) Increases 4 times

(c) Double

(d) Remains the same

Q226. A surge tankis used to !

(a) Avoid reversal of flow

(b) prevent occurrence of hydraulic jump

(c) Smoothen the flow

(d) Relieve the pipe line of excessive pressure transients

Q227. A double acting reciprocating pump compared to
single acting pump will have nearly_

(a) double weight

(b) double head

(c) double flow

(d) double efficiency

Q228. A single acting two stage compressor with complete
intercooling delivers air at 16 bar Assuming an intake state
of 1 bar at 15°C, the pressure ratio per stage is_

(a) 16

(b)8

(c)4

(d)2

Q229. Centrifugal pump operating in series will result in -
(a) Higher discharge

(b) Higher Head

(c) Low speed operation

(d) Reduced power consumption

Q230. Mechanical Efficiency of a gas turbine as compared to
internal combustion engine is_

(a) Band C only (a) Lower
(b) Aonly (b) Same
(c) C only (c) Higher
(d) All of the above (d) Unpredictable
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Q231. Computer Graphic terminal use the -------- as display
device-

(a) X-Ray tube

(b) Cathode Ray tube

(c) Both of them

(d) None of these

Q232. Functions of CAD system are-
(a) Drafting

(b) Geometric modelling

(c) Design review and revaluation
(d) Engineering Analysis

Q233. Three dimensional representation of an object is
termed as-

(a) Engineering Analysis

(b) Geometric modelling

(c) Automated drafting

(d) None of above

Q234. Which of following is an output device for CAD!?
(a) Pen plotters

(b) Hard copy units

(c) Computer output to microfilm units

(d) All of above

Q235. To enlarge or reduce the apparent size of objects, the
command used in Auto CAD is-

(a) SNAP

(b) ZOOM

(c) UNDO

(d) ORTHO

Q236. Steady flow occurs when.

(a) Conditions do not change with time at any unit

(b) Conditions are same at adjacent points at any instant
(c) Conditions change steadily with time

(d) dv/dtis Constant

Q237. During throttling process .
(a) Enthalpy does not change

(b) Pressure does not change

(c) Entropy does not change

(d) Internal energy does not change

Q238. The air standard efficiency of otto cycle is given by

(@n=1+5m

Mn=1-5=

@n=1-Gm
1

Dn=2-5=

Q239. For same compression ratio .

(@) Thermal efficiency of otto cycle is greater than that of
diesel cycle

(b) Thermal efficiency of otto cycle is less than that of diesel
cycle

(c) Thermal efficiency of otto cycle is same as that for diesel
cycle

(d) Thermal efficiency of otto cycle can not be predicted

Q240. Kelvin-Plank’s law deals with_
(a) Conservation of heat

(b) Conservation of energy

(c) Conservation of heat into work
(d) Conservation of mass

Q241. If the temperature of the source is increased, the
efficiency of the carnot engine -

(a) Decreases

(b) Increases

(c) Does not change

(d) Depends on other factors

Q242. For free convection, Nusselt number is a function of.
(a) Prandtl and Grashof number

(b) Reynolds and Grashof number

(c) Grashof number only

(d) Reynolds and Prandtl number

Q243. The unit of overall heat transfer coefficient is -
(a) w/m3k

(b) w/m?k

(c) w/m?

(d) w/mk

Q244. The so called radiator of an automobile is a heat
exchanged of !

(a) Open type

(b) Parallel flow type

(c) Counter flow type

(d) Cross flow type

Q245. The shape of Bending moment diagram for uniform
cantilever beam carrying a uniformly distributed load over
its length is !

(a) A straight line

(b) A hyperbola

(c) An ellipse

(d) A parabola

Q246. Which theory of failure will you use for aluminium
components under steady loading-

(a) Strain Energy theory

(b) maximum shear stress theory

(c) Principal stress theory

(d) Principal strain theory
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Q247. Which material is used for bearing lining- ?
(a) Brass

(b) Bronze

(c) Gun metal

(d) White metal

Q248. Monel Metal is an alloy of-
(a) Molybdanum and nickel

(b) nickel and copper

(c) Molybdamum and aluminium
(d) Molybdanum and zinc

Q249. Bending moment M and torgue T is applied on a solid
circular shaft. If the maximum bending stress equals to
maximum shear developed, then M is equal to

(@QM+T

(b) VM? + T2

()3 VMZ + T2

(d) 5 [M+ VM2 +T2]

Q250. In an irreversible process there is a.
(a) Loss of heat

(b) No loss of work

(c) Gain of heat

(d) No gain of heat

Q251. Availability function is expressed as_
(a)a=(u+pou+T,s)

(b) a=(du + p,dv + T,ds)

(c)a=(du + p,dv — T,ds)
(d)a=(u+pou+ T,s)

Q252. In steam and other vapour cycles, the process of
removing non-condensable is called-

(a) Scavenging process

(b) Deaeration process

(c) Exhaust process

(d) Condensation process

Q253. The steam is boiler drum is always.
(a) Wet

(b) Dry

(c) Super heat

(d) Wet or Dry

Q254. An Economizer is installed in a boiler primarily to-
(a) Super heat the steam

(b) Reduce fuel consumption

(c) Increase steam pressure

Q255. Ratio of heat absorbs by feed water to the heat
supplied by fuel in a given time, is known as_

(a) Factor of Evaporation

(b) Equivalent Evaporation

(c) Boiler Efficiency

(d) Power of a boiler

Q256. Diesel cycle consists of _

(a) Two adiabatic and two constant volume process

(b) Two adiabatic and two constant pressure process

(c) Two adiabatics, one constant pressure and one constant
volume process

(d) Two isothermal, one constant pressure and one constant
volume process

Q257. Brayton cycle consists of sets of process-
(a) Isentropic and constant volume

(b) Isentropic and constant pressure

(c) Isothermal and constant pressure

(d) Isothermal and constant volume

Q258. White metal is an alloy of!
(a) Copper and Zinc

(b) Copper and Tin

(c) Copper, Tin and Zinc

(d) Copper, Tin and Antimony

Q259. Pressure of cobalt in steel improves its_
(a) Cutting ability

(b) Corrosion resistance

(c) Strength & Hardness

(d) None

Q260. Carbon percentage is same in cast iron and-
(a) Wrought Iron

(b) Pig Iron

(c) Mild Steel

(d) High Silicon

Q261. Which key permits axial movement as well as
transmits a turning moment.?

(a) Feather key

(b) Dowel Key

(c) Saddle key

(d) Woodruff key

Q262. The longitudinal joint in a boiler shell is usually_
(a) Butt joint

(b) Lap joint

(c) Butt joint with two cover plates

(d) all of above (d) Butt joint with single cover plate
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Q263. The firing order for a six cylinder engine is-
(a) 1-6-2-5-3-4
(b) 1-5-3-6-2-4
(c) 1-2-5-4-3-6
(d) 1-3-2-6-5-4

Q264. Cavitation is caused by !
(a) High velocity

(b) Low barometric pressure
(c) High pressure

(d) Low pressure

Q265. What is the value of taper angle provided in draft
allowances-?

(a) 11°-12°

(b) 0°-3°

(c) 5°-7°

(d) 8°-10°

Q266. A nozzle meter is used to measure:-
(a) Viscosity

(b) Flow rate

(c) Volume

(d) Velocity

Q267. A circular shaft is subjected to torque. The torsional

rigidity is defined as:.

(a) product of polar moment of inertia and modulus of
rigidity

(b) ratio of torque and polar moment of inertia

(c) product of torque and length

(d) sum of polar moment of inertia and modulus of rigidity

Q268. What is the purpose of crowning of pulleys.?
(a) To prevent belt running off the pulley

(b) To increase the tightness of the belt on the pulley
(c) To increase the torque transmitted

(d) To improve the shape and strength of pulley

Q269. Which of the following is a Natural Circulation'
boiler.?

(a) Cochran

(b) Velox

(c) Benson

(d) Lamont

Q270. In an isothermal process, the internal energy of ideal
gas:_

(a) increases

(b) may increase or decrease, depends on properties of gas
(c) remain constant

(d) decreases

Q271. A tank containing air is stirred by a paddle wheel. The
work input to the wheel is 14000 k] and heat transferred to
the surrounding from the tank is 5000 k]. The change in
internal energy of the system (air) is:-

(a) -9000 k]

(b) +9000 K]

(c) +19000 kJ

(d) -19000 K]

Q272. Which of the following is true regarding a basic shaft-?
(a) Lower deviation is zero

(b) Upper deviation is zero

(c) Both lower deviation and upper deviation are zero

(d) Lower deviation is one and upper deviation is zero

Q273. The power transmitted from the shaft by the key will

be 100 % if the shearing strength of the key is
torsional shear strength of the shaft. !

(a) half of

(b) 80 % of

() 90 % of

(d) equal to

Q274. What type of shafts are used in automobile and allied
industries!?

(a) Shafts with keyways

(b) Shafts having splines

(c) Shafts with serrations

(d) Both shafts having splines and shafts with serrations

Q275. Which one of the following statements is correct-?

(a) Hot rolling produces a stronger shaft than cold rolling.

(b) Cold rolling produces a stronger shaft than hot rolling.

(c) Shafts are not made by rolling process.

(d) Angle of twist of shaft is inversely proportional to shaft
diameter.

Q276. Where is diamond riveting used.?

(a) For structural work

(b) For boiler work

(c) both structural and boiler work

(d) It does not have any specific usage, can be used anywhere

Q277. A solid shaft of diameter 20 mm can sustain a
maximum shear stress of 400 kg/cm? Calculate the torque
transmitted by the shaft-

(a) 80.628 kg-cm

(b) 628 kg-cm

(c) 62 .8 kg-cm

(d) 14 kg-cm
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Q278. According to hydrostatic law, the rate of increase of
pressure in a vertical direction is equal to:-

(a) density of fluid

(b) specific weight of fluid

(c) weight of fluid

(d) mass of the fluid

Q279. In a pipe, flow of fluid takes place from_:
(a) higher level to lower level

(b) higher pressure to lower pressure

(c) higher energy to lower energy

(d) lower level to higher level

Q280. For a floating body, match the List [ with List Il and
select the correct answer from the options given below the
lists:-

ListI:

(A) Meta-centre is above the centre of gravity

(B) Meta-centre is below the centre of gravity

(C) Meta-centre and centre of gravity coincides

List II:

I. Stable equilibrium

I1. Unstable equilibrium

I1I. Neutral equilibrium

(a) A-II, B-I1I, C-1

(b) A-1, B-], C-III

(c) A-I11, B-1, C-1I

(d) A-1I1, B-11, C-1

Q281. Find the buoyant force acting on an aluminium cube
which is suspended and immersed in a jar filled with water
when it is given that the side of cube is 5.0 cm-

(a)2.45N

(b)1.25N

(c)4.56N

(d)7.34N

Q282. Which of the following parameter is measured using
orifices_?

(a) Velocity

(b) Pressure

(c) Rate of Flow

(d) Both pressure and velocity

Q283. The total rate of flow, when the pipes are connected in

series, is:_

(a) equal to the sum of the rate of flow in each pipe

(b) equal to the reciprocal of the sum of rate of flow in each
pipe

(c) same as the rate of flow through each pipe

(d) the product of the rate of flow through each pipe

Q284. Specific energy is minimum at a depth of flow called:-
(a) normal depth

(b) critical depth

(c) sub-critical depth

(d) alternate depth

Q285. For a head of water ranging from 0 to 25 m, which of
the following types of turbine is preferred-?

(a) Francis Turbine

(b) Kaplan Turbine

(c) Pelton wheel Turbine

(d) thomson Turbine

Q286. The maximum value of the vane exit angle for a
centrifugal pump impeller is:_

(a) 10° to 15°

(b) 15°to 20°

(c) 20° to 25°

(d) 25°to 30°

Q287. Which of the following is not a category of machine
tools? !

(a) General purpose machine

(b) Special purpose machine

(c) Limited purpose machine

(d) Multi-purpose machine

Q288. The process of creating a true and concentric surface
of the grinding wheel with the wheel spindle axis is:_

(a) Clearing

(b) Dressing

(c) Truing

(d) Facing

Q289. Die cores are placed in the:_
(a) ejector half of the mould

(b) cover half of the mould

(c) either half of the mould

(d) full cover of the mould

Q290. The term "castability" in Die-casting is related to a
metal’s:!

(a) tensile strength

(b) compressive strength

(c) thermal conductivity

(d) melting temperature

Q291. Reaming operation can be performed on:_
(a) drilling and milling machine

(b) shaper and drilling machine

(c) lathe and drilling machine

(d) shaper and milling machine

20| Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q292. In drilling machine the metal is removed by_:
(a) Extrusion

(b) Shearing

(c) Shearing and Extrusion

(d) shearing and Compression

Q293. Which of the following materials is commonly used in
preparation of Die casting mould!?

(a) Aluminium

(b) Bronze

(c) Copper

(d) Steel

Q294. Which of the following processes is commonly used to
manufacture powder coated steel central heating radiators-?
(a) Sand Casting

(b) Presswork

(c) Bending

(d) Shaping

Q295. In a single point turning operation with a cemented
carbide and steel combination having a Taylor exponent of
0.25, if the cutting speed is halved, then the tool life
becomes:!

(a) Half

(b) Twice

(c) Eight times

(d) Sixteen times

Q296. Identify the correct arrangement (in ascending order)
of hardness of structures of steel while undergoing a heat
treatment process. Options:!

(a) Martensite < Fine pearlite < Coarse pearlite < Spherodite
(b) Fine pearlite < Martensite < Spherodite < Coarse pearlite
(c) Martensite < Coarse pearlite < Fine pearlite < Spherodite
(d) Spherodite < Coarse pearlite < Fine pearlite < Martensite

Q297. There is no contact between the tool and work in EDM
process, therefore:!

(a) s no relative motion occurs between them

(b) no wear of tool occurs

(c) no power is consumed during metal cutting

(d) no force between tool and work occurs

Q298. The preheating of parts to be welded and slow cooling
of the welded structure will lead to reduction in:.

(a) Residual stress and incomplete penetration

(b) A Cracking and incomplete fusion

(c) Cracking and residual stress

(d) Cracking and underfill

Q299. Conductivity of a perfect conductor is_:

Q300. The crystal structure of austenite is:-
(a) Body centered cube

(b) Face centered cube

(c) Hexagonal closed packed

(d) Body centered tetragonal

Q301. Which one of the following is a solid state joining
process_?

(a) Gas tungsten arc welding

(b) Resistance spot welding

(c) Friction welding

(d) submerged arc welding

Q302. Which one of the following welding processes uses
non-consumable electrode_?

(a) Gas metal arc welding

(b) submerged arc welding

(c) Gas tungsten arc welding

(d) Flux coated arc welding

Q303. Water dipole linkage is a type of:-
(a) Attractive forces

(b) Repulsive forces

(c) Resultant forces

(d) Shear force

Q304. The use of T-square is to draw:.
(a) parallel lines

(b) parabola

(c) circle

(d) cycloid

Q305. Young's modulus (Y) can also be written as_:
(a) Y = (Force x Area)/Strain
(b) Y = (Force x Strain) Area
(c) Y=Force/ (Strain x Area)
(d) Y =Force x Strain x Area

Q306. In a reverted gear train, the axes of the first and last
gear are:-

(a) Neither parallel nor axial

(b) Co-axial

(c) Skew

(d) Parallel

Q307. Poisson’s ratio for aluminium is -
(a) 0.13
(b) 0.33
(c)0.23
(d) 0.43

Q308. The Bernoulli's equation refers to conservation of:!

(@)1 (a) Mass
(b)o (b) Linear momentum
(c) oo (c) Viscosity
(d) Not defined (d) Energy
21| Adda247 App Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q309. Which of the following abrasive material is not used
for grinding wheel?!

(a) cubic boron nitride

(b) silicon carbide

(c) aluminium oxide

(d) manganese oxide

Q310. In casting, misrun occurs due to:.
(a) very low fluidity of molten metal

(b) absorption of gases by liquid metal
(c) improper alignment of mould flask
(d) high pouring temperature of metal

Q311. The direction of driven pulley and direction of driving
pulley in case of open belt drive and cross belt drive
respectively are:_

(a) Opposite and same

(b) Opposite and opposite

(c) Same and opposite

(d) same and same

Q312. In which of the following welding technique, heat is
generated by high velocity narrow beam of electron.:

(a) Electron beam welding

(b) Laser beam welding

(c) Plasma arc welding

(d) Ultrasonic welding

Q313. The tool signature in American system is 8-10-6-6-12-
2-30-0. Side rake angle is:_

(a) 6°

(b) 8°

(c) 10°

(d)12°

Q314. In engine, which of the following is an advantage of
liquid cooling system.

(a) Even cooling

(b) Power absorbed by pump is considerable

(c) Very cheap

(d) Dependent only on water supply

Q315. Grinding of soft material is not economic because of:_
(a) low work piece stiffness

(b) high temperature involved

(c) frequent wheel clogging

(d) rapid wheel wear

Q316. The relationship between Young's modulus (E), Bulk
modulus (K) and Poisson's ratio (p) is given by:_

(A E=3K(1-1

(b)K=3E(1-2 )

(JE=3K(1-2 )

(d)K=3E(1-p

Q317. On which of the following surface, flank wear occurs:_
(a) Cutting edge of the tool

(b) Nose of the tool

(c) Relief face of the tool

(d) Rake face of the tool

Q318. Which of following is an example of fire tube boiler-?
(a) Babcock and Wilcox boiler

(b) Locomotive boiler

(c) Benson boiler

(d) Stirling boiler

Q319. Which of the following is the motion of tool in shaping
process-?

(a) Oscillatory

(b) Reciprocating

(c) Rotating

(d) Stationary

Q320. Slenderness ratio of a column is defined as the ratio of
its length to its:_

(a) Maximum radius of gyration

(b) Maximum lateral dimension

(c) Least radius of gyration

(d) Least lateral dimension

Q321. In a kinematic chain, a tertiary joint is equivalent to:.
(a) two binary joints

(b) four binary joint

(c) three binary joints

(d) one binary joint

Q322. Consider the following!

1. Temperature

2. Enthalpy

3. internal energy

4. specific entropy

Which of these are extensive properties?
(a) 1,2,34

(b) 2,4

(c)3,4

(d)2,3

Q323. Positive bending moment is also known as:_
(a) hogging

(b) some time hogging and some time sagging

(c) sagging

(d) contraflexure

Q324. A beam is subjected to bending moment M. What is
the relationship between shear force F and bending moment
M!?

d?F
@M=—
b)M=5

d*M
OF =3z
(@F=3
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Q325. The instrument or device used to measure the cutting
forces during machining is:!

(a) Lactometer

(b) Comparator

(c) Tachometer

(d) Dynamometer

Q326. Which of the following relation is valid for belt drive
when the belt is on the point of slipping on the pulley?

T, = Tension on tight side, T, = Tension on slack side

0 = angle of lap or contact of belt over pulley

1 = coefficient of friction between belt and pulley_

(@) T, XT, = e"®

(b) 32 = et/®

Ty _ pe
(C)Tz—e

T
()72 =er®

Q327. What will be step ratio of headstock spindle for a
lathe machine of following data? !

Maximum speed = 2100 rev/min

Minimum speed = 70 rev/min

No. of speeds = 21

(@) (30)"1/22

(b) (30)~1/19

(c)(30)~1/21

(d) (30)~1/20

Q328. A 2 mm thick metal sheet is to be bent at an angle of
1.6 radian with the radius of 150 mm. Distance of neutral
axis from inside surface is 0.5 x sheet thickness. Find out
bend allowance-

(a) 321.6 mm

(b) 241.6 mm

(c) 301.6 mm

(d) 281.6 mm

Q329. A cylindrical cup of circular cross section of 50 mm
diameter and 60 mm height with corner radius 2.5 mm is to
be made of 0.5 mm thick sheet of steel. Its blank diameter
(approximately) will be: -

(a) 180 mm

(b) 120 mm

(c) 140 mm

(d) 160 mm

Q330. Group A items constitute the following percentage of
items in ABC analysis:.

(a) 10 to 20%

(b) 30 to 40%

(c)40to 50%

(d) 50 to 60%

Q331. If a cube of 100 mm dimension is to be made of
Aluminium (shrinkage allowance = 10 mm/m). What will be
the dimension of wooden pattern?

Assume only shrinkage allowance.

(@) 101mm x 101mm x 101mm

(b) 100mm x 99mm x 98mm

() 99mm x 99mm x 99mm

(d) 102mm x 101mm x 100mm

Q332. A work piece is turned on a lathe at 100 m/min
cutting speed, 0.4 mm/rev and A.5 mm depth of cut. What is
the rate of metal removal_?

(a) 1000mm3/min

(b) 20000mm?/min

(c) 60000mm?/ min

(d) 155 mm?/min

Q333. The speed of an engine varies from 110 rad/s to 90
rad/s. During cycle the change in kinetic energy is found to
be 200 N-m. The inertia of the flywheel in Kg-m2 is:_

(@) 0.2

(b) 0.8

(0.1

(d)o.4

Q334. A solid circular shaft of 40 mm diameter transmits a
torque of 3200 N-m. The value of maximum stress developed
is -

(a) 400/m

(b) 800/m

(c) 1600/m

(d) 600/m

Q335. The outside diameter of a hollow shaft is thrice to its
inside diameter. The ratio of its torque carrying capacity to
that of a solid shaft of the same material and the same
outside diameter is:.

(a) 80/ 81

(b)1/81

(c)8/9

(d)1/9

Q336. A Newtonian fluid having viscosity of 0.39 Ns/m? and
specific gravity of 0.91 flows through a 25 mm diameter pipe
with velocity of 3.6 m/s. Then the value of Reynold's number
is:.

(a) 210

(b) 240

(c) 175

(d) 155
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Q337. A water jet, 0.0020 m? in area, is issued from a nozzle
with a velocity of 10 m/s. It is made to impinge
perpendicular on a plate that moves away from the jet with a
velocity of 5 m/s. The force on plate is:_

() 75N

(b) 100N

(c)50N

(d) 150N

Q338. What is the composition of low-alloy steel 48XX_?
(@) C=0.6%,Cr=1.3%

(b) C=0.03%, Cr=1.3%

(c) Ni =3.5%, Mo =0.25%

(d) C=0.06%, Cr =13%

Q339. The refrigerants belonging to the Freon group are-:
(a) inorganic

(b) halocarbon

(c) azeotrope

(d) hydrocarbon

Q340. Which refrigerant is used commonly in domestic
refrigerators!?

(a) Carbon dioxide

(b) Sulphur dioxide

(c)R12

(d) R-134a

Q341. If the Reynolds number in a pipe is less than ____,
then the flow is said to laminar.

(a) 2000

(b) 3000

(c) 2500

(d) 4000

Q342. Areal fluid in which shear shear stress is proportional
to rate of shear strain, is.

(a) Newtonian fluid

(b) ideal solid

(c) non Newtonian fluid

(d) ideal fluid

Q343. The value of a laminar Darcy friction factor for viscous
flow through a pipe is given by ___. Where Re is the
Reynolds number.

(a) 64/Re

(b) 32/Re

(c) 8/Re

(d) 4/Re

Q344. The maximum working pressure in a Lancashire
boiler is.

Q345. The phenomenon of vapour bubble formation, and
sudden collapsing of it in a turbine, is called-:

(a) priming

(b) cavitation

(c) vibration

(d) buddle

Q346. The range of specific speed of a Kaplan or propeller
turbine in SI units is.:

(a) 250 -850

(b) 51-225

(c)30-51

(d)8.5-30

Q347. Specific volume is reciprocal of-:
(a) volume

(b) mass density

(c) area

(d) mass

Q348. Which of the following is the basic property of fluid-?
(a) Can resist tangential stresses in static condition

(b) Never regain its original shape on release of shear stress
(c) It undergoes a definite deformation

(d) More compact in structure

Q349. Calculate the dryness fraction of steam which has 1.5
kg of water in suspension with 50 kg of steam!.

(a) 0.83

(b) 0.75

(c) 0.68

(d) 0.97

Q350. A fluid in which shear stress is more than the yield
value, and shear stress is proportional to the rate of shear
strain is!

(a) Newtonian fluid

(b) real fluid

(c) ideal fluid

(d) ideal plastic fluid

Q351. If the velocity of fluid does NOT change with respect
to time the flow is said to be -:

(a) interflow

(b) steady flow

(c) non uniform flow

(d) cross flow

Q352. The moment of a force about any point is the
of force and perpendicular distance between the point and
line of action of force-

(a) 16 bar (a) subtraction
(b) 30 bar (b) Product
(c) 24 bar (c) Division
(d) 28 bar (d) Sum
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Q353. HS6-5-2-5 indicates a high speed steel containing.
(@) W=6%, Mo =5%,V=2%, Co=5%
(b) Mo = 6%, V=5%, W=2%, Co=5%
(c) Co=6%, Mo =5%,V=2%W=5%
(d) Mo = 6%, W =5%,V=2%,Co=5%

Q354. As per regulations, boilers should be fitted with
safety valves-

(a) five

(b) two

(c) four

(d) three

Q355. In the main characteristic curve of a centrifugal pump,
the power is proportional to!

(a) speed

(b) fourth power of speed

(c) square of speed

(d) cube of speed

Q356. The differential manometer consists of a tube of
shape.

(a)u

b X

(Vv

(AT

Q357. The boiler is protected from damage due to
overheating for low water level, using a.:

(a) fusible plug

(b) feed check valve

(c) safety valve

(d) below off cock

Q358. The efficiency of a Cochran boiler is in the range of.
() 70 - 75%
(b) 20 - 25%
(c)90-95%
(d) 40 -45%

Q359. The upward force equal to the weight of fluid
displaced by the body is called.

(a) buoyancy

(b) metacentric height

(c) centre of mass

(d) metacenter

Q360. Parallel forces have their lines of action-
(a) perpendicular to each other

(b) parallel to each other

(c) transverse to each other

(d) tangential to each other

Q361. The property of a fluid which offers resistance to the
movement of one layer of fluid over another layer of fluid, is
called!

(a) turbidity

(b) fluidity

(c) specific weight

(d) viscosity

Q362. Clearance ratio is-

(a) total volume / swept volume

(b) clearance volume / swept volume
(c) swept volume / clearance volume
(d) clearance volume / total volume

Q363. Circulating water around the cylinder, which helps
the air to cool during compression, is called-

(a) flow jacketing

(b) water jacketing

(c) pack jacketing

(d) oil jacketing

Q364. A centrifugal pump acts as a reverse of!:
(a) reciprocating pump

(b) outward radial flow reaction turbine

(c) pelton turbine

(d) inward radial flow raction turbine

Q365. Nozzle efficiency in a steam turbine is defined as-

(a) the ratio of actual potential drop to the isentropic
enthalpy drop

(b) the ratio of actual enthalpy drop to the isentropic
enthalpy drop

(c) the ratio of isentropic enthalpy drop to the actual
enthalpy drop

(d) the ratio of isentropic enthalpy drop to the actual
potential drop

Q366. The number of heat exchangers in a boot strap air
cooling system is_

(a) one

(b) four

(c) two

(d) three

Q367. When the fluid is at rest, the shear stress in N/m2 is_
(a) 0.5

(b1

(o0

(d) 0.25

Q368. In a reversible adiabatic process, the heat added (in
joule) is_

(@15

(b) 2

(o0

(A1
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Q369. The mechanical efficiency in a four stroke engine is.
(a)BP/IP
(b) BP x IP
(c)BP +1IP
(d)BP-1P

Q370. The difference between indicated power and brake
power is-

(a) engine power

(b) engine friction loss

(c) absolute power

(d) engine accumulated power

Q371. In a boiler one or more plates are bent into a
cylindrical form and riveted or welded together, this is
called-

(a) refractory

(b) shell

(c) grate

(d) mountings

Q372. The mechanical efficiency of a Pelton wheel is given
by-

(a) water power/shaft power

(b) shaft power/runner power

(c) runner power/shaft power

(d) shaft power/water power

Q373. The Morse test is used to determine_:
(a) brake power

(b) specific power

(c) friction power

(d) coulomb loss

Q374. The jet ratio in a Pelton wheel is!:

(a) diameter of jet/pitch diameter of wheel
(b) diameter of jet/outer diameter of wheel
(c) outer diameter of wheel/diameter of jet
(d) pitch diameter of wheel/diameter of jet

Q375. In a two-dimensional flow, a stream line shall be

interpreted as.

(a) a curve such that velocity is always tangential and there
is not flow in the direction normal to it

(b) they are not contours of an impervious two-dimensional
body

(c) atthe edge, velocity vector is normal to the flow

(d) flow is constant in the direction normal to the flow

Q376. The ratio of specific heat at constant pressure to the
specific heat at constant for triatomic gas, is!

Q377. The total power developed by combustion of fuel in
the combustion chamber is called-

(a) brake power

(b) indicated power

(c) alternate power

(d) specific power

Q378. What data is required to determine the stability of a
floating body!?

(a) Angle of tilt of the floating body

(b) Mass of the floating body

(c) Displaced volume of the floating body

(d) Position of the metacenter

Q379. In a fire tube boiler, the operating pressure range is.
(a) 16 to 20 bar
(b) 26 to 29 bar
(c) 30 to 35 bar
(d) 21 to 25 bar

Q380. When is a perfect vacuum obtained _?

(a) When gauge pressure is zero

(b) When atmospheric pressure is zero

(c) When both absolute pressure and molecular momentum
are zero

(d) When molecular momentum is unity and atmospheric
pressure is zero

Q381. A superstructure has!
(a) positive degree of freedom
(b) no degree of freedom

(c) infinite degrees of freedom
(d) negative degree of freedom

Q382. A compound of iron and carbon, called iron carbide, is
also known as-

(a) martensite

(b) cementite

(c) ferrite

(d) bainite

Q383. The ability of a tool material to resist shock or impact
forces is known as-

(a) wear resistance

(b) toughness

(c) red hardness

(d) machinability

Q384. Steel whose elements are used for the purpose of
modifying the mechanical properties of plain carbon steel is
called .

(a) 1.4 (a) Alloy steel
(b) 1.8 (b) Invar
(c) 1.6 (c) Stainless steel
(d) 1.3 (d) High speed steel
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Q385. Alloy steel containing 36% nickel is called _____.
(a) Invar

(b) Stainless steel

(c) High speed steel

(d) None of these

Q386. Percentage of carbon in steelis ____!
(a) 0.1% to 0.8%

(b) 0.35% to 0.45%

(c) 1.8% to 4.2%

(d) 0.1% to 1.5%

Q387. Hardness of steel depends on -
(a) amount of cementite it contains

(b) amount of carbon it contains

(c) contents of alloying elements

(d) method of manufacture of steel

Q388. _____ is added to raise the yield point of low carbon
steel_

(a) Silicon

(b) Carbon

(c) Phosphorus

(d) Sulphur

Q389. An alloy steel contains ____.
(a) more than 0.5% Mn and 0.5 % Si
(b) less than 0.5% Mn and 0.5% Si
(c) more than 0.35% Mn and 0.5% Si
(d) less than 0.35% Mn and 0.5% Si

Q390. Alloy steel as compared to carbon steel is more
!

(A) toug

(B) strong

(C) fatigue resistance
(a) only A

(b) only B

(c)only C

(d) All of the above

Q391. Steel which destroys by burning is called _____!
(a) Alloy steel

(b) Carbon steel

(c) Silicon steel

(d) Killed steel

Q392. In steel, main alloy causing corrosion resistance is

(a) Manganese

Q393. The atomic packing factor is the highest in which of
the following cubic lattice system_?

(a) Simple Cubic

(b) Body Centered Cubic (BCC)

(c) Face Centered Cubic (FCC)

(d) Diamond Cubic

Q394. The material commonly used for air craft gas turbine
is___ !

(a) stainless steel

(b) high alloy steel

(c) duralumin

(d) titanium

Q395. For steel, the ultimate strength in shear as compared
to ultimate strength in tension is !

(a) same

(b)1/2

(c)1/3

(d)2/3

Q396. The property of a material by virtue of which a body
returns to its original shape after removal of the load is
called -

(a) Plasticity

(b) Elasticity

(c) Ductility

(d) Malleability

Q397. Whatis ‘burr’?

(a) built up edge on a cutting tool

(b) a cutting tool

(c) burnt sand

(d) sharp edge remaining on metal after cutting, stamping
and machining

Q398. Flush Contour is Associated with which of the
following process?

(a) Metal Welding

(b) Metal Cutting

(c) Metal Forming

(d) Metal Extrusion

Q399. During machining Chip Experience which of the
following!?

(a) Shear stress

(b) Tensile stress

(c) Stress

(d) strain

Q400. Chipping is Mainly Associated with which of the
following process!?
(a) Metal Casting

(b) Vanadium (b) Metal Cutting
(c) Chromium (c) Metal Forming
(d) Cobalt (d) Metal Welding
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Q401. Which of the following is not a gear finishing process?
(a) Gear Shaving

(b) Gear Hobbing

(c) Gear lapping

(d) Gear Grinding

Q402. Instrument used to measure internal and external
dimensions.?

(a) Vernier

(b) Micrometer

(c) Slip Guages

(d) Sine Bar

Q403. Hardness Resistivity can be altered by.?
(a) Silicon

(b) Carbon

(c) Sulphur

(d) none

Q404. Which of the following is hardest material-?
(a) Graphite

(b) Diamond

(c) Ceramic

(d) Carbide

Q405. Coefficient of discharge is equal to.

(a) Coefficient of contraction x Coefficient of velocity

(b) Coefficient of Contraction / Coefficient of Acceleration
(c) Coefficient of Contraction / Coefficient of Acceleration
(d) Coefficient of contraction x Coefficient of acceleration

Q406. A graphical method of determining the normal,
tangential and resultant stresses on an oblique plane is-

(a) Coulomb circle

(b) Mohr circle

(c) stress circle

(d) force circle

Q407. A is a device used for measuring the rate of
flow of a fluid flowing through a pipe-

(a) hygrometer

(b) venturi meter

(c) manometer

(d) barometer

Q408. If the temperature of the heat source is 1990 K and
the sink is 850 K, the what is the carnot efficiency_?

Q409. Which of the following is NOT a property of a pure
substance!?

(a) Homogenous in chemical aggregation

(b) Homogenous in composition

(c) Invariable in chemical aggregation

(d) Heterogeneous in chemical aggregation

Q410. In a good steam power plant, the Rankine cycle
efficiency is in the range of!:

(2) 65-75%

(b) 75 -85%

(c)15-25%

(d)35-45%

Q411. The evaporative cooling system is suitable under-:
(a) cold and dry condition

(b) hot and dry condition

(c) moderately hot and humid condition

(d) cold and humid condition

Q412. When a valve is suddenly closed on a liquid through a
long pipe, the pressure wave of high intensity thus
generated, is known as_

(a) flow hammer

(b) pressure wave

(c) water hammer

(d) jet hammer

Q413. Admittance of oil between two surfaces having
relative motion is called!

(a) viscosity

(b) coalescence

(c) turbidity

(d) lubrication

Q414. The steam flow through a nozzle may be assumed as
a/an!

(a) divergent flow

(b) isothermal flow

(c) convergent flow

(d) isentropic flow

Q415. Regenerative heating in a steam power cycle-

(a) no effect on thermal efficiency

(b) increases thermal efficiency

(c) decrease thermal efficiency

(d) increase and decrease depends on the point of extraction
of steam

Q416. When a body is subjected to two forces, the body will
be in equilibrium if the two forces are:!

37.29
(a) o (a) collinear, equal and act in the same direction
(b) 22.7% . .
57 39 (b) collinear, unequal and opposite
(c) 7'30/0 (c) non colinear, equal and opposite
(d) 67.4% (d) collinear, equal and opposite
28| Adda247 App Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q417. If the fluid mass is moving in a curved path with the
help of some external torque, the flow is called.

(a) forced vortex flow

(b) mixed flow

(c) rotating flow

(d) free vortex flow

Q418. In case of reciprocating compressors, irreversibility is
due to which of the following reasons- ?

(a) Due to pressure rise across valves

(b) Due to pressure drop and heat transfer

(c) only due to heat transfer

(d) Due to flow of refrigerant at low velocity

Q419. In a steam nozzle, the energy of steam is converted to.
(a) kinetic energy

(b) potential energy - kinetic energy

(c) potential energy

(d) potential energy + kinetic energy

Q420. How many chlorine atoms does the refrigerant R-134
a contain!?

(a) Seven

(b) Eight

(c) One

(d) Nil

Q421. The work output from the turbine in case of a Rankine
cycle is given by!

(a) temperature change between inlet and outlet

(b) pressure change between inlet and outlet

(c) entropy change between inlet and outlet

(d) enthalpy change between inlet and outlet

Q422. A transmission dynamometer measures!:
(a) alternate power

(b) specific power

(c) indicated power

(d) brake power

Q423. A
pressures, where accuracy is required.
(a) single column inclined manometer
(b) hygrometer

(c) anemometer

(d) ammeter

is an instrument used for measuring small

Q424. Vacuum pressure is_

(a) atmospheric pressure / absolute pressure
(b) atmospheric pressure + absolute pressure
(c) atmospheric pressure - absolute pressure
(d) atmospheric pressure x absolute pressure

Q425. In high-speed compressors,
used-

(a) sleeve type

(b) precision insert

(c) copper

(d) bronze

bearings are

Q426. The cooler placed in between stages of reciprocating
compressor is called-

(a) counter cooler

(b) intercooler

(c) flow cooler

(d) cross cooler

Q427. Change in entropy (in kJ/kgK) in a reversible
adiabatic process is_

(@) 2

(b) 1.5

(o0

(d1

Q428. The metastable aggregate consisting of
supersaturated ferrite in which carbon has been finely
precipitated in the form of!

(a) ferrite

(b) cementite

(c) martensite

(d) bainite

Q429. Specific internal energy of a perfect gas is a function
of!

(a) absolute volume

(b) differential pressure

(c) absolute pressure

(d) absolute temperature

Q430. RefrigerantR - 717 is!:
(a) nitrogen

(b) air

(c) carbon dioxide

(d) ammonia

Q431. The number of flue tubes in a Cornish boiler is:_
(a) three

(b) two

(c) one

(d) four

Q432. Air-cycle refrigeration system has which of the

following assumptions.?

(a) Working fluid is a fixed mass

(b) Specific heat of air varies continuously throughout the
cycle

(c) cycle is assumed to be an open-loop

(d) All processes within the cycle irreversible

29| Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q433. The degree of freedom of a structure or a locked
system is-

()3

(b) 0

(c)2

(d)1

Q434. Which of the following is a secondary refrigerant,
when used above 0°C.?

(a) Water

(b) Brines

(c) Glysols

(d) Sodium chloride

Q435. The value of the coefficient of velocity for sharp edged
orifices, is.:

(a) 0.98

(b) 0.66

(c)0.41

(d) 0.85

Q436. If the motion of any of the movable links result in the
definite motion of the others, the linkage is known as_

(a) locked system

(b) superstructure

(c) mechanism

(d) structure

Q437. Which of the following does NOT come under the
forced circulation type of boilers_?

(a) Lamont

(b) Velox

(c) Lancashire

(d) Benson

Q438. A solid to semi solid dispersion of thickening agent in
a liquid lubricant is!:

(a) lubricating solid

(b) lubricating viscosities

(c) lubricating oil

(d) lubricating grease

Q439. In a constant volume process, the reversible moving
boundary work associated with closed system (in k] /kg) is!:
(a)1.5

(b)1

()05

(do

Q440. Losses caused due to leakage of combustion products
past the cylinder into the crank case are termed as!:

(a) Follow by losses

(b) Flow by losses

(c) Pass by losses

(d) Blow by losses

Q441. Which of the following is a high pressure boiler_?
(a) Cornish

(b) Cochran

(c) Velox

(d) Lancashire

Q442. A

a pointin a fluid.
(a) manometer
(b) hygrometer
(c) thermometer
(d) ammeter

is a device used for measuring pressure at

Q443. A cylindrical rod threaded at both the ends is called
a:-

(a) rivet

(b) stud

(c) allen bolt

(d) bolt

Q444. Enthalpy is_

(a) internal energy x pressure volume product
(b) internal energy / pressure volume product
(c) internal energy + pressure volume product
(d) internal energy - pressure volume product

Q445. Air standard Otto cycle consists of.

(a) two constant volume and two constant entropy
processes

(b) two constant pressure and two constant entropy
processes

(c) two constant pressure and two constant volume
processes

(d) two adiabatic and two isothermal processes

Q446. Which of the following is a fire tube boiler-?
(a) Yarrow

(b) Locomotive boiler

(c) Babcock and Wilcox

(d) Stirling

Q447. Entropy is _

(a) absolute pressure / heat change

(b) heat change / absolute pressure

(c) heat change / absolute temperature
(d) absolute temperature / heat change

Q448. For a laminar flow through a circular pipe, the kinetic
energy correction factor is equal to.:

(a) 2

(b) 4

(03

(d)5
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Q449. The ratio of specific heat at constant pressure to the
specific heat at constant volume for a monoatomic gas, is.

(a) 1.6

(b)1.4

(c)1.2

(d)1.8

Q450. In a reciprocating compressor, the clearance ratio is
generally between.

(a) 4% and 10%

(b) 5% and 12%

(c) 8% and 20%

(d) 10% and 30%

Q451. The moment of a force about any point is equal to the
algebraic sum of moments of its components about that
point’ is !

(a) Avogadro’s principle

(b) Henry’s principle

(c) Lufkin’s principle

(d) Varignon'’s principle

Q452. The capacity of a refrigeration system is 10 TR. What
is the heat extracted per minute!?

(a) 2000 k] /min

(b) 1800 kJ/min

(c) 1900 kJ/min

(d) 2100 kJ/min

Q453. A portion of water is discharge when the boiler is in
operation to blow out mud scale or sediments periodically,
by a.

(a) blow off cock

(b) fusible plug

(c) feed check valve

(d) safety valve

Q454. If at the inlet, only kinetic energy is available, then
name the turbine.

(a) Impulse turbine

(b) Low specific speed turbine

(c) Reaction turbine

(d) Mixed-flow turbine

Q455. The sublimation, vaporization and fusion curves for a
pure substance meetata_____ asseenina P-T diagram.

(a) triple point

(b) mono point

(c) zero point

(d) double point

Q456. Air standard efficiency is also called-
(a) effective efficiency

(b) overall efficiency

(c) ideal efficiency

(d) actual efficiency

Q457. Spinning operation is carried out on:!
(a) Milling machine

(b) Mechanical press

(c) Hydraulic press

(d) Lathe

Q458. Reynold number is the ratio of:_
(a) Viscous force to Inertia force

(b) Surface force to Viscous force

(c) Inertia force to Viscous force

(d) Shear force to Inertia force

Q459. In sand casting, fluidity of the molten metal increases
with:-

(a) increase in sand grain size

(b) increase in degree of superheat

(c) decrease in pouring rate

(d) increase in thermal conductivity of the mould

Q460. Let the atmospheric pressure at sea level is 70 cm of
mercury. Convert this pressure in terms of height of water
(in meter).!

(@) 8

(E]

(c) 8.5

(d)9.5

Q461. Point of contraflexure occur when:.

(a) bending moment is zero

(b) bending moment is constant

(c) loading is constant

(d) bending moment is maximum or minimum

Q462. Which of the following operation is not done on the
drilling machine-?

(a) reaming

(b) milling

(c) counter boring

(d) counter sinking

Q463. Double hemispherical buckets are used in:_
(a) bulb turbine

(b) kaplan turbine

(c) pelton wheel

(d) propeller turbine

Q464. The air is expanding from a very minute hole of cycle
tube in an evacuated room. The work done during process
is:_

(a) minimum

(b) negative

(c) Zero

(d) positive
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Q465. An aircraft engine is an example of:!
(a) quasi equilibrium

(b) closed system

(c) isolated system

(d) open system

Q466. A carnot engine rejects 40 % of heat absorbed from a
source to sink at 27°C. What is the value of source
temperature in °C_?

(a) 327

(b) 54

(c)477

(d) 600

Q467. In some carburetors, economizer device is used for.:
(a) Power enrichment

(b) Idling

(c) Cold starting

(d) Acceleration

Q468. Which of the following is an interference fit.?
(a) Shrink fit

(b) Push fit

(c) Sliding fit

(d) Running fit

Q469. Which of the following defines the useful property
called 'energy.?

(a) third law of thermodynamics

(b) zeroth law of thermodynamics

(c) first law of thermodynamics

(d) second law of thermodynamics

Q470. In a plane mechanism, total number of links is 4 and
number of turning pairs is 4. The degree of freedom of
mechanism is-

(a) 2

(b)1

(90

(d)3

Q471. Which one of the following mediums is used for the
fastest cooling rate of steel quenching.?

(a) Brine

(b) Air

(c) Oil

(d) Water

Q472. At critical point the enthalpy of vaporization is:-
(a) dependent on temperature

(b) zero

(c) minimum

(d) maximum

Q473. A grinding wheel is specified by C 70 G 7 R 23 Here C
stands for:-

(a) Diamond

(b) Silicon carbide

(c) Cubic boron nitride

(d) Aluminium oxide

Q474. If the SF diagram for a beam is a triangle with length

of the beam as its base, the beam is:.

(a) A cantilever with uniformly distributed load over its
whole span

(b) Simply supported with a concentrated load at its mid-
point

(c) A cantilever with a concentrated load at its free end

(d) Simply supported with a uniformly distributed load over
its whole span

Q475. The radiator cooling tubes are generally made of:!
(a) Brass

(b) Rubber

(c) Plastic

(d) Copper

Q476. Which of the following has got the highest value of
specific speed!?

(a) pelton wheel with single jet

(b) Francis

(c) pelton with three jet

(d) Kaplan

Q477. Relationship between the elastic constants E, G, K is:-
(a) E = KG/(K+G)

(b) E=9KG/(3K+G)

(c) E=2KG/(3K+G)

(d) E=3KG/(3K+G)

Q478. In which of the following tools, flutes are provided
on:.

(a) Drill bit

(b) Grinding wheel

(c) Chisel

(d) Hacksaw blades

Q479. The reaction at the two supports of a simply
supported beam carrying a uniformly distributed load over
its entire span is:

(the intensity of loading on the beam is w/unit length and L
is length of the beam)-

(a) WL, WL/2

(b) WL/2,WL/2

(c)w/2.W/2

(d) WL/4, WL/4
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Q480. A grinding wheel of 200 mm diameter is having
peripheral speed of 30 m/s, What is the speed of grinding
wheel in reposition per minute (rpm)_?

(2) 95

(b) 5730

(c) 2866

(d) 11460

Q481. Which of the following is not a point function_?
(a) pressure

(b) volume

(c) heat transfer

(d) internal energy

Q482. The reheat cycle in steam power plant is mainly

adopted to:_

(a) increase moisture content in low pressure stages to a
safe value

(b) decrease the capacity of condenser

(c) decrease moisture content in low pressure stages to a
safe value

(d) recover the waste heat of boiler

Q483. An ideal gas at 227°C is heated at constant pressure
till volume becomes three times. The temperature of gas will
then be:_

(a) 927°C

(b) 1027°C

(c) 1227°C

(d) 6810°C

Q484. Water is flowing through pipe. Flow through pipe will
be steady when-

(a) velocity changes with time

(b) at any point velocity does not change with time

(c) pressure variation does not change along with the flow
(d) density changes with time

Q485. A spur gear has following specification.
No of teeth = 22

Pitch circle diameter = 14 mm

Find out the value of circular pitch.

(a) 2mm

(b) 16mm

(c) 4mm

(d) 8mm

Q486. Under filling in a weld joint is due to:-
(a) melting away of base metal

(b) incomplete filling of weld joints

(c) low temperature of welding

(d) incomplete fusion

Q487. A body is acted upon by a force system. In general,

how can it be brought to equilibrium_?

(a) By the application of a force acting on a suitable point on
the body

(b) By the application of a force acting anywhere along a
suitable line

(c) By the application of a force acting along a suitable line
and a moment along the direction of the force

(d) By the application of a wrench acting anywhere on the
body

Q488. Consider the turbulent flow of a fluid through a
circular pipe. Which of the following statements hold (s)
true-?

L. The fluid is unmixed

I1. The fluid is well mixed

I11. Re < 4000

IV.Re > 4000

(a) Only statement IV

(b) Only statements Il and IV

(c) Only statement I and III

(d) Only statements [ and IV

Q489. The pressure intensity at a point in a fluid is given by
3.92 N/cm? Find the corresponding height of the fluid, when
the fluid is oil of specific gravity 0.9-

(@) 7.77 m

(b) 4.44 m

(c) 6.66 m

(d) 5.55 m

Q490. Which is of the following is determined by deploying
multiple gauge glasses in boilers_?

(a) Flow

(b) Pressure

(c) Level

(d) Velocity
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Q491. In a refrigeration system, why are expansion devices
located closer to the evaporator-?

(a) To ease the flow of the refrigerant

(b) To minimize the heat gain

(c) To avoid the flow of the refrigerant

(d) To maximise the heat gain

Q492. Fusible plugs in boilers are made of!:
(a) steel

(b) castiron

(c) titanium

(d) brass

Q493. The enthalpies at the beginning of compression, at the
end of compression and at end of condensation are 180
kJ/kg, 200 kJ/kg and 90 k]/kg respectively. Determine COP
of the vapour compression refrigeration system.!

(a) 6

(b) 5.5

()5

(d) 4.5

Q494. The overall efficiency of a centrifugal pump is:!

(a) Ratio of manometric efficiency to mechanical efficiency
(b) Ratio of mechanical efficiency to manometric efficiency
(c) Product of manometric and hydraulic efficiencies

(d) Product of manometric and mechanical efficiencies

Q495. What is the range of length of a Cornish boiler-?
(@A) 10to 15m

(b)4to8m

(c)15to 50 m

(d1to2m

Q496. 18 - 4 - 1 high speed steel consists of_:
(2) 18% Cr, 4%V, 1% Cr

(b) 18% W, 4% Ni, 1% Cr

(c)18% W, 4% Cr, 1% V

(d)18% W, 4%V, 1% Cr

Q499.
(a) White
(b) Grey
(c) Nodular
(d) Pig

castiron has the maximum tensile strength_

Q500. Hardness of cementite is of the order of BHN.......... !
(a) 200

(b) 300

(c) 400

(d) None of these

Q501. test is a non-destructive test_
(a) Impact

(b) Creep

(c) Radiography

(d) Tensile

Q502. Dies and drills and taps contain_
(a) Below 0.4% carbon
(b) Below 0.8 % carbon
(c) Above 0.9 % carbon
(d) Above 2.5 % carbon

Q503. Heating elements are generally made of!
(a) invar

(b) perminvar

(c) white metal

(d) nichrome

Q504. The chisels are generally made of steel.
(a) high carbon

(b) mild

(c) medium carbon

(d) dead mild

Q505. Gold is
(a) ferroelectric
(b) ferromagnetic
(c) diamagnetic
(d) paramagnetic

material_

Q506. steel is widely used for rails of a railway

Q497. High speed belongs to the category of steel. track-

(a) Alloy (a) Mild

(b) Stainless (b) High carbon

(c) Low carbon (c) Silicon

(d) High carbon (d) Nickel
Q498. Nickel is material_ Q507. y material show direction dependent

. . roperties_
(a) dielectric p .
(b) ferroelectric (a) Orthotr_oplc
, (b) Isotropic

(c) ferromagnetic Anisotroni

O di d (c) Anisotropic

(d) diamagnetic (d) None of these
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Q508. The percentage of carbon that must be present in
steel before it can be hardened noticeably !

(a) 0.05

(b)0.1

(c)0.2

(d)o.3

Q509. The chisel used for cutting steel sheets is usually!
(a) annealed

(b) normalized

(c) hardened

(d) hardened and tempered

Q510. Mild steel belongs to which of the category.?
(a) Low carbon steel.

(b) No carbon steel

(c) High carbon steel

(d) Medium carbon steel

Q511. The maximum amount of carbon present in low
carbon steel (mild steel) is.

(a) 0.3 %

(b) 3%

(c) 5%

(d) 4%

Q512. The main constituent of ferrous metals is_
(a) lead

(b) zinc

(c) iron

(d) copper

Q513. The Gating Ratio in Pressurized Gating System will be-
(a)1:2:2
(b)2:2:1
(c)1:1:2
(d2:2:1

Q514. Alluminium alloyes are Welded by .
(a) Carburizing flame

(b) Oxidising Flame

(c) Reducing Flame

(d) All Of the Above

Q515. CI Can Welded only by.
(a) Gas Welding

(b) Thermit Welding

(c) Seam Welding

(d) Arc Welding

Q516. Radio Frequency electric current welding is also
called as-

(a) Lazer beam welding

(b) Induction welding

(c) Electroslag welding

(d) Hydrogen welding

Q517. Above critical pressure ratio, addition of regenerator

in Brayton cycle causes one of the following:!

(a) gainin cycle efficiency

(b) no effect in cycle efficiency

(c) lower compressor discharge temperature than turbine
exhaust gas temperature

(d) lossin cycle efficiency

Q518. Bull’s eye refers to a type of-:
(a) manometric gauge

(b) bi-colour gauge

(c) pressure gauge

(d) flow measurement gauge

Q519. What is the typical composition of the casting
employed in oil-fired boilers!?

(a) 80% Niand 20% Cr

(b) 70% Ni and 30% Cr

(c) 90% Niand 10% Cr

(d) 50% Ni and 50% Cr

Q520. A stone of mass ‘m’ at the end of a string of length ‘I’ is
whirled in a vertical circle at a constant speed. What position
of the stone result in the maximum tension in the string-?

(a) Quarter-way down from the top

(b) At the bottom of the circle

(c) Half-way down from the top

(d) At the top-way of the circle

Q521. For the same compression ratio and heat rejection,
which of the following is true. -?

(a) () Diesel < (ny,) Dual < (ng,) Otto
(b) () Otto > (gp) Dual > (ny,) Diesel

(c) () Diesel > (n,)Dual > (ng,) Otto
(d) () Otto < (Mep) Dual < (n,) Diesel

Q522. An alloy of nickel and iron that is easily magnetised
and demagnetized and can also be used in electrical
equipment is.:

(a) permalloy

(b) cunife

(c) alnico

(d) supermalloy

Q523. What will be the magnitude of the shear stress on the
principal plane_?

(a) Minimum

(b) Maximum

(c) Zero

(d) Negative
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Q524. Select the option that correctly matches the items
given in List I to those given n List II._

List I:

(A) Force balance

(B) Barometer

(C) Bourdon gauge

(D) U-tube differential manometer

List II.

1. Differential pressure

2. Atmospheric pressure

3. Calibration of pressure instruments

4. Gauge pressure
(@QJA-3,B-4,C-2,
(b)A-4,B-2,C-3,
(cJA-3,B-2,C-4,
(dJA-1,B-2,C-4,

Q525. If any substance is cooled below its triple point
pressure, vapour become solid and the process is known as:_
(a) saturation

(b) sublimation

(c) ablimation

(d) vaporization

Q526. If Poisson’s ratio of an elastic material is 0.4, then will
be the ratio of modulus of rigidity to Young’s modulus_?

(a) 0.06

(b) 0.16

(c)0.36

(d) 0.86

Q527. The function of piston rings in internal combustion
engines is also to_:

(a) increase the speed

(b) prevent piston from corrosion

(c) dissipate heat to cylinder walls

(d) cool the cylinder

Q528. Intercooling and reheating is used to increases the
efficiency of the.:

(a) Brayton cycle

(b) Ericsson cycle

(c) dual cycle

(d) Otto cycle

Q529. Tool steel contains carbon in the range of:!
(2) 0.1t0 0.3
(b) 0.3t0 0.6
(c)0.2t0 0.9
(d)0.5t0 1.5

Q530. Diffusor increases the pressure of a fluid at the
expense of its.:

(a) kinetic energy

(b) impact energy

(c) rotational energy

(d) potential energy

Q531. The platform of the boiler where burning of fuel takes
place is known as!:

(a) lagging

(b) setting

(c) shell

(d) grate

Q532. The gas refrigeration cycle is preferred in aircraft
refrigeration because of-:

(a) low cost

(b) low weight per ton

(c) high COP

(d) high weight per ton

Q533. Which of the following factors are improved in a gas
turbine in the presence of a heat exchanger and reheater.?
(a) Both the thermal efficiency and thermal power output

(b) Only the thermal efficiency

(c) Neither the thermal efficiency nor specific power output
(d) Only the specific power output

Q534. The type of flow for which the density is constant for a
fluid flow is!:

(a) compressible

(b) non-uniform

() uniform

(d) incompressible

Q535. Which of the following boiler mountings protect the
boiler against damage due to overheating due to low water
level!?

(a) Blow off cock

(b) Feed check valve

(c) Stop valve

(d) Fusible plug

Q536. If the thermal efficiencies of mercury and steam cycles
are respectively n; and 1),, then the overall, efficiency of a
binary cycle can be expressed as!:

(@) ni+nz+nme

(b)ni-m

(Ani+m2

(CIRI PR PRiFL P

Q537. The efficiency of a Carnot engine is given by 0.80. If
the cycle direction is reversed, then what will be the COP for
the Carnot refrigerator-?

() 0.33

(b) 0.25

(c) 0.30

(d) 0.27
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Q538. In a refrigeration system, why is receiver installed in
the liquid line?-

(a) To wet the refrigerant

(b) To collect the refrigerant

(c) To heat the refrigerant

(d) To dry the refrigerant

Q539. What is the absolute pressure at a point 3 m below
the free surface of a liquid having a density of 1.53 x 103
kg/m? if the atmospheric pressure is equivalent to 750 mm
of mercury? The specific gravity of mercury is 13.6 and
density of water is 1000 kg/m?>._

(a) 345090 N/m?

(b) 245090 N/m?

(c) 145090 N/m?

(d) 45090 N/m?

Q540. Which of the following is true for performance
parameters of vapour power cycles_?

(a) Work ratio = Back work ratio

(b) Work ratio = 2 + Back work ratio

(c) Work ratio = 1 - Back work ratio

(d) Work ratio = 1 + Back work ratio

Q541. Pelton wheel isa/an:_

(a) radial flow impulse turbine

(b) inward flow radial turbine

(c) tangential flow impulse turbine
(d) outward flow radial turbine

Q542. An oil of specific gravity 0.9 is contained in a vessel. At
a point the height of oil is 40 m. Find the corresponding
height of water at the point._

(a) 46 m

(b)52m

(c)36m

(d)42m

Q543. In a non flow process work transfer from the system
is 30 k] and heat received by the system is 90 k]. Determine
the change in the internal energy.

(a) 60 K]

(b) - 60 K]

(c)80Kk]

(d)-80kJ

Q544. Which of the following is not a casting process..?
(a) Die casting process

(b) extrusion

(c) semi-centrifuge method

Q545. Fluidity is greatly influenced by....
(a) carbon content of molten metal

(b) melting temperature of molten metal
(c) inoculants addition

(d) poring temperature of molten metal

Q546. The hot chamber die casting method is used to cast::
(a) Brass

(b) Both brass and Aluminium

(c) Aluminium

(d) alloys of lead, tin and zinc

Q547. Facing sand used in foundry work comprises of ..
(a) alumina, silica and clay

(b) silica and clay

(c) silica and alumina

(d) clay and alumina

Q548. First product of the blast furnace in the process of
converting iron are into useful metal by reduction is
called_ _

(a) Castiron

(b) Wrought iron

(c) Pig iron

(d) Steel

Q549. Raw material for all iron and steel productis____ _
(a) Castiron

(b) Wrought iron

(c) pigiron

(d) Steel

Q550. Which of the following in not a casting defect!?
(a) hot tear

(b) blow hole

(c) scab

(d) decarburization

Q551. The correct statement regarding entropy is that: _

(a) Entropy is a path function

(b) Entropy can be obtained from a direct measurement of Q
and T

(c) During a change of a state of a system, the entropy
change is the same whether that change has occurred via
areversible process or an irreversible one

(d) Entropy of an isolated system is zero

Q552. The entropy will usually increase when_

1. A molecule is broken into two or more smaller molecules.
2. A reaction occurs that results in an increase in the number
of moles of gas.

3. Process is adiabatic

4. Process is reversible adiabatic

5. Aliquid changes to a gas

(@)1,2,4and 5 (b) 2,3 and 5
(d) slush process (©) 1,2, 3and5 (d)1,2and 4
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Q553. The change in entropy is zero during_
(a) hyperbolic process

(b) constant pressure process

(c) adiabatic process

(d) polytropic process

Q554. A heat engine transfers 15 K] of heat to a thermal
reservoir at 300 K. The change of entropy of the reservoir in
the process s :-

(a) AS reservoir = - 20 JK-1

(b) AS reservoir = + 50 JK-1

(c) AS reservoir = + 200 KJ-1

(d) AS reservoir = + 4500 k].K

Q555. Increase in entropy of a system represents!
(a) Decrease of temperature

(b) Increase of Pressure

(c) Increase of temperature

(d) Degradation of energy

Q556. The change of entropy, when heat is absorbed by the
gas, is.

(a) positive

(b) negative

(c) positive or negative

(d) zero

Q557. Which one of the following statements applicable to a
perfect gas will also be true for an irreversible process?_

(a) 6Q =dU + pdV

(b) dQ =TdS

(c) T8S =dU +pdV

(d) None of these

Q558. The property of a working substance which increases
or decreases as the heat is supplied or removed in a
reversible manner is.

(a) entropy

(b) external energy

(c) internal energy

(d) enthalpy

Q559. The entropy may be expressed as a function of.
(a) Pressure and temperature

(b) Temperature and volume

(c) Heat and work

(d) Internal energy

Q560. Entropy per unit massis -

Q561. In an Isentropic process_

(a) Work done is zero

(b) Change in internal energy is zero
(c) Change in entropy is zero

(d) Change in enthalpy is zero

Q562. The entropy of the universe is.
(a) Increasing

(b) Decreasing

(c) Constant

(d) Unpredictable

Q563. The main cause of the irreversibility is!

(a) Mechanical and Fluid Friction

(b) Unrestricted expansion

(c) Heat transfer with a finite temperature difference
(d) All of the above

Q564. Which of the following is a low grade energy!?
(a) Mechanical work

(b) Electrical energy

(c) Wind power

(d) Kinetic energy

(e) Heat energy

Q565. Irreversibility of the process is equal to.
(@) Wmax - W

(b) W - Wmax

() Wmax

(dw

Q566. Unavailable energy is the portion of energy that -

(a) cannotbe converted into work by turbine

(b) cannot be converted into work even by reversible heat
engine

(c) cannotbe converted into work by Rankine Engine

(d) cannotbe converted into work by a pump

Q567. The internal irreversibility of Rankine cycle is caused
by !

1. fluid friction

2. throttling

3. mixing

Select the correct answer using the code given below.

(a) 1 and 2 only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and3

Q568. The equation which perfectly represents Gibbs Phase
Rule for a process where the pressure is also a variable is
expressed as: !

(a) An extensive property (@F=P-C+2
(b) An intensive property M F=C+P-1
(c) It may be intensive or extensive (F=P-C-1
(d) All of the above (dF=C-P+2
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Q569. Which relationship defines Gibbs free energy G: -
(@aJG=H+TS
(b)G=H-TS
()G=U+TS
(d)F=U+TS

Q570. Which is a single phase system .?
(a) Mixture of water and alcohol

(b) Mixture of oil and water

(c) Liquid water, ice and water vapour
(d) Water and ice

Q571. For an ideal gas the compressibility factor is:-
(a) Zero

(b) Unity

(c) Infinity

(d) None of these

Q572. Select the correct statement as per Charles's law. -
(a) PV = Constant, if T is kept constant.
(b) V/T= constant, if P is kept constant.
(c) P/V=constant, if T is kept constant.
(d) T/P=constant, if T is kept constant.

Q573. Which of the following is a general gas Equation!?
(a) PVn=C

(b)PV=C

(c) PV=RT

(d) PV=mRT

Q574. Which one of the following relations defines
Helmholtz function!?

(2)H+TS

(b)H-TS

(cJU+TS

(d)U-TS

Q575. Which of the following options can always be
approximated to be an deal gas.?

(a) Highly superheated vapour

(b) Dry saturated vapour

(c) wet saturated fluid

(d) Saturated vapour

Q576. Pick the correct statement about pure substances. !

(a) A mixture of liquid air and gaseous air is a pure
substances.

(b) A mixture of ice and liquid water is not a pure substance.

(c) A mixture of two or more phases of pure substances is
not a pure substance even though the chemical
composition of all the phases is the same throughout.

(d) A mixture of two or more phases of pure substance as
long as the chemical composition of all the phases is the
same throughout.

Q577. Water vapour can be considered as Ideal Gas!.
(a) Never

(b) Always

(c) At high pressure

(d) Atlow pressure

Q578. A fluid behave as an ideal gas provided it is at :!
(a) High Temperature and Pressure

(b) High Temperature and Moderate Pressure

(c) Low Temperature and Pressure

(d) High Temperature and Low Pressure

Q579. The point that connects the saturated-liquid line to
the saturated-vapour line is called the -

(a) triple point

(b) critical point

(c) superheated point

(d) compressed liquid point

Q580. The enthalpy of vaporization, at critical point is_
(a) maximum

(b) minimum

(c) zero

(d) none of the above

Q581. According to Dalton's law, the total pressure of the
mixture of gases is equal to _

(a) greater of the partial pressure of gases

(b) average of the partial pressure of gases

(c) Sum of the partial pressure of all

(d) Sum of the partial pressure of all divided by average
molecular weight

Q582. Calculate the dryness fraction of steam which has 1.5
kg of water in suspension with 50 kg of steam .

() 0.971

(b)1

(90

(d) 0.485

Q583. The specific heat of an ideal gas depend on its
alone. !

(a) Pressure

(b) Volume

(c) Entropy

(d) Temperature

Q584. The substance which is homogeneous and invariable
in chemical composition throughout its mass is called as

(a) ideal substance
(b) pure substance
(c) solid substance
(d) gas substance
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Q585. No liquid can exist as a liquid at_
(a) 0°C temperature

(b) 200°C temperature

(c) Zero pressure

(d) Zero viscosity

Q586. With the increase of pressure -

(a) The boiling point of water decreases and enthalpy of
evaporation increases

(b) The boiling point of water increases and enthalpy of
evaporation decreases

(c) Both the boiling point of water and enthalpy of
evaporation decreases

(d) Both the boiling point of water and enthalpy of
evaporation increases

Q587. The ratio of PV/RT is -

(a) Equations of state

(b) Compressibility factor

(c) Reduced properties

(d) Critical compressibility factor

Q588. For dry saturated vapour, the value of dryness
fraction will be .

(@) 1.0

(b) 0.75

(c)0.5

(d)o

Q589. The reading of temperature on the Celsius scale is 60°
C. What is equivalent reading of temperature on the
Fahrenheit scale!?

(a) 130°F

(b) 132°F

(c) 136°F

(d) 140°F

(e) 146°F

Q590. Super heated vapours behave!:
(a) Exactly as a gas

(b) As steam

(c) As ordinary vapour

(d) Approximately as a gas

Q591. During melting the volume of pure substance other
than water: -

(a) Decreases

(b) Increases

(c) Remains constant

(d) Firstincreases and then decreases

Q592. The kinetic energy lost in friction is transformed into
heat which tends to -

(a) cool or condense the steam

(b) dry or superheat the steam

(c) increase the pressure of the steam

(d) reduce the dryness fraction

(e) decrease the specific volume of steam

Q593. At the critical point, any substance _

(a) will exist in all the three phases simultaneously

(b) will change directly from solid to vapour

(c) will lose phase distinction between liquid and vapour
(d) will behave as an ideal gas

Q594. The latent heat of steam with increase in pressure _
(a) does not change

(b) increases

(c) decreases

(d) remains unpredictable

Q595. The chief advantage of die casting is:!

(a) possibility of incorporating thick sections in small
castings

(b) casting of inserts is possible

(c) wide tolerances are possible

(d) High production rates are possible

Q596. Casting process is preferred for parts having-
(a) a few details

(b) many details

(c) no details

(d) non-symmetrical shape

Q597. Strength and permeability of served sand are related
to!

(a) grain size

(b) clay-content

(c) hardness

(d) moisture content

Q598. Graphite moulds are generally used for continuous
casting method because_

(a) The metals wet the mould slightly

(b) only a small of lubricating oil is required

(c) they are self-lubricating

(d) they are comparatively cheaper

Q599. Foundry crucible is made up of.
(a) Graphite

(b) Lead

(c) Castiron

(d) Mild steels

Q600. Investment casting is also known as!
(a) Hot investment casting

(b) Lost wax casting

(c) Lost pattern casting

(d) All of these

Q601. For the production of quality part of the following
casting method is normally employed!

(a) centrifugal casting

(b) continuous casting

(c) green sand casting

(d) pressure die casting
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Q602. In helium arc welding, the electrode is made of !
(a) copper

(b) carbon

(c) mild steel

(d) tungsten

Q603. Which of the following welding process uses non-
consumable electrode_?

(a) LASER welding

(b) MIG welding

(c) TIG welding

(d) Ion-beam welding

Q604. In resistance welding the pressure is released_
(a) just at the time of passing the current

(b) after completion of current

(c) after the weld cools

(d) during heating period.

Q605. Oxygen to acetylenes ratio is case of oxidizing flame
is-

() 1:1

(b) 1.2:1

(c) 2.5:1

(d) 2:1

Q606. The material used for coating the electrode is called!
(a) protective layer

(b) binder

(c) slag

(d) flux

Q607. Which of the following welding processes uses non-
consumable electrode_?

(a) Laser welding

(b) MIG welding

(c) TIG welding

(d) Ion beam welding

Q608. In which type of welding is a pool of molten metal
used.?

(a) Electro slag

(b) Submerged arc

(c) MIG

(d) TIG

Q609. Plain and butt welds may be used on materials upto
approximately.

(a) 25 mm thick

(b) 40 mm thick

(c) 50 mm thick

(d) 70 mm thick

Q610. In arc welding arc is created between the electrode
and work by.

(a) flow of current

(b) voltage

(c) material thickness

(d) contact resistance

Q611. For arc heating, the electrodes are made of:_
(a) copper

(b) aluminium

(c) graphite

(d) ACSR conductor

Q612. Oxygen to acetylene ratio in case of neutral flame is:-
(a) 0.8:1.0

(b) 1:1

(c)1.2:1

(d) 2:1

Q613. Projection welding is:.

(a) Multi-spot welding process

(b) Continuous spot welding process
(c) Used to form mesh

(d) Use to make cantilevers

Q614. Which welding process uses a consumable electrode!?
(a) Laser welding

(b) Thermit Welding

(c) TIG welding

(d) MIG welding

Q615. Welding process using a pool of molten metal is -
(a) carbon arc welding

(b) submerged arc welding

(c) TIG welding

(d) MIG welding

Q616. Which of the following is an example of semi-
automatic welding process-?

(a) TIG welding

(b) MIG welding

(c) Submerged arc welding (SAW)

(d) Resistance welding

Q617. In arc welding the arc length should be approximately
equal to.

(a) Diameter of electrode rod

(b) One and half time the diameter of electrode rod

(c) Twice the diameter of electrode

(d) Half the diameter of the electrode rod

41| Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q618. In which type of welding molten metal is poured for
joining the metals!?

(a) Arc welding

(b) Gas welding

(c) MIG welding

(d) Thermit welding

Q619. The pressure intensity at a point in a fluid is given by
4 N/cm? Find the corresponding height of the fluid, when
the fluid is oil of specific gravity 0.06_

(2)7.77m

(b) 444 m

(c) 6.66 m

(d) 5.55m

Q620. An Apple Iphone of mass ‘m’ at the end of a string of
length T" is whirled in a vertical circle at a constant speed.
What position of the iphone result in the maximum tension
in the string-?

(a) Quarter-way down from the top

(b) At the bottom of the circle

(c) Half-way down from the top

(d) At the top-way of the circle

Q621. What will be the magnitude of the Normal stress on
the Maximum shear stress plane_?

(a) Minimum

(b) Maximum

(c) Can be any value

(d) Zero

Q622. Draft tube increases the pressure of a fluid at the
expense of its.:

(a) kinetic energy

(b) impact energy

(c) rotational energy

(d) potential energy

Q623. The type of flow for which the Specific Volume is
constant for a fluid flow is!:

(a) compressible

(b) non-uniform

(c) uniform

(d) incompressible

Q624. If the thermal efficiencies of mercury and steam cycles
are respectively 30% and 40%, then the overall, efficiency of
a binary cycle can be expressed as!:

Q625. The efficiency of a Carnot engine is given by 50%. If
the cycle direction is reversed, then what will be the COP for
the Carnot Heat pump-?

(a) 0.25

(b) 1.25

(c)0.30

(d) 0.50

Q626. Which of the following is true for performance
parameters of vapour power cycles_?

(a) WR=BWR

(b) WR=2 + BWR

(c) WR=1-BWR

(d) WR=1 + BWR

Q627. An oil of specific gravity 0.4 is contained in a vessel. At
a point the height of oil is 130 m. Find the corresponding
height of water at the point-

(a) 46 m

(b)52m

(c)36m

(d)42 m

Q628. In a non flow process work transfer to the system is
30 k] and heat rejected by the system is 90 k]. Determine the
change in the internal energy-

(a) 60 K]

(b)-60K]

(c) 80 K]

(d)-80Kk]

Q629. The by-pass factor of a single cooling coil in an air-
conditioner is 0.2. What will be the by-pass factor if five such
cooling coils, with the same apparatus dew point, are kept
one behind the other.?

(a) 0.000323

(b) 0.000226

(c) 0.000512

(d) 0.000102

Q630. What is the number of buckets on the runner of a
Pelton tubine if the jet ratio is 10-?

(a) 21

(b) 20

()6

(d) 13

Q631. What is the purpose of using the meter rod and
economiser device in some carburettors!?

(a) 0.82 (a) Acceleration
(b) 0.01 (b) Cold starting
(c) 0.07 (c) Idling
(d) 0.58 (d) Power enrichment
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Q632. Supercharging in diesel engines is done primarily to!:
(a) improve brake power efficiency

(b) reduce exhaust losses

(c) improve thermal efficiency

(d) increase specific power output

Q633. Supercharging in petrol engines is done primarily to!:
(a) improve Brake power efficiency

(b) reduce exhaust losses

(c) improve thermal efficiency

(d) increase specific power output

Q634. Which of the following is an example of a Rheopectic
substance_?

(a) Water

(b) Quick Sand

(c) Gypsum

(d) Printer ink

Q635. Which of the following is an example of a Dilatant
substance-?

(a) Water

(b) Quick Sand

(c) Gypsum

(d) Printer ink

Q636. Which of the following is NOT an assumption of
Venturimeter--?

(a) Flow is steady

(b) Flow is compressible

(c) Flow is ideal

(d) Flow is irrotational

Q637. A hydraulic press has a ram of 10 cm diameter and a
plunger of 10 cm diameter. It is used for lifting a weight of 03
KN. Find the force required at the plunger._

(a)9250N

(b) 6150 N

(c)3050N

(d) 5075N
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Q638. Dynamic viscosity increases with the rate of shear
increase for.

(a) rheopectic fluid

(b) pseudoplastic fluid

(c) thixotropic fluid

(d) Newtonian fluid

Q639. If the by-pass factor is 0.2987825, what will be the
efficiency of cooling or the contact factor.?
(2) 0.7012175

(b) 0.6612458

(c) 0.2525585

(d) 0.3065897

Q640. Exergy of a system is defined as:-
(a) point function

(b) path function

(c) intensive property

(d) extensive property

Q641. What type of steel generally used for reciprocating
motion to rotatory motion in any automobile system-?

(a) Mild steel

(b) Medium carbon steel

(c) Low carbon steel

(d) High carbon steel

Q642. According to Gibbs phase rule) What will be the
degree of vapourised water in any closed container -?

(@) 2

()1

()3

(d) 4

Q643. What s the SI unit of work or energy-?
(a) kg.m/s=

(b) kg . m?/s?

(c) kg.m/s?

(d) kg. m3/s?

Q644. Piezometer is used to measure!
(a) Pressure is used to measure

(b) Atmospheric pressure

(c) Very low pressure of fluid

(d) Medium pressure of liquid

Q645. Dynamic viscosity of most of the fluid with rise in
temperature!

(a) increases

(b) decreases

(c) remains unaffected

(d) unpredictable
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Q646. If Metacentric height is 10 mt and metacentric radius
is 10 mt the the system will be in-

(a) Stable Equilibrium

(b) Unstable Equilibrium

(c) Neutral equilibrium

(d) None

Q647. Metacentre is the point of intersection of -

(a) vertical upward force through c.g. of body and center
line of body

(b) buoyant force and the center line of body

(c) mid-point between c.g. and center of buoyancy

(d) All of these

Q648. The function of a capillary tube in the refrigeration
cycle is to:!

(a) reduce component weight

(b) produce effect of cooling

(c) improve COP

(d) control flow

Q649. Chromium in stainless steel provides.:
(a) corrosion resistance

(b) less ductility

(c) low toughness

(d) hardenability

Q650. The by-pass factor of a single cooling coil in an air-
conditioner is 0.8. What will be the by-pass factor if three
such cooling coils, with the same apparatus dew point, are
kept one behind the other_?

(a) 0.343

(b) 0.226

(c) 0.512

(d) 0.102

Q651. What is the number of buckets on the runner of a
Pelton tubine if the jet ratio is 12.?

(a) 21

(b) 20

(c)6

(d) 13

Q652. For a Simply supported beam of span (I) carrying a
uniformly distributed load of (w) per unit length over the
whole span, where does the point of contraflexure lie!?

(a) At the fixed ends

(b) At the middle of beam

(c) At a distance of 1/4 from the ends

(d) None of the above

Q653. A 100 kg lamp is supported by a single electrical
copper cable of diameter (d) = 4 mm. What is the stress
carried by the cable-?

(a) 39 MPa

(b) 78 MPa

(c) 11738 MPa

(d) 12308 MPa

Q654. The members of trusses only takes.:
(a) axial force

(b) shear force

(c) bending force

(d) Both shear and bending force

Q655. Toughness dictates of a material.
(a) impact Strength

(b) fatigue Strength

(c) tensile Strength

(d) shear Strength

Q656. Which of the following strain acts normal to the
direction of applied force-?

(a) Shear Strain

(b) Lateral Strain

(c) Complex Strain

(d) Volumetric Strain

Q657. The motion of a square bar in a square hole is
example of
(a) Completely constrained motion
(b) Incompletely constrained motion
(c) Successfully constrained motion
(d) Machine

(e) Structure

Q658. Grubler's criterion is applicable for mechanisms
with:-

(a) Zero degree of freedom

(b) Single degree of freedom

(c) Two degree of freedom

(d) Three degree of freedom

(e) More than three degree of freedom

Q659. In elliptical trammels _

(a) All four pairs are sliding

(b) All four pairs are turning

(c) Two pairs are turning and other two sliding
(d) One pair turning and three sliding

(e) One pair sliding and three turning

Q660. Ackerman steering gear consist of-
(a) Lower pair

(b) Turning pair

(c) Rolling pair

(d) Cylindrical pair

(e) Sliding pair
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Q661. Which of the following mechanism generates
intermittent rotary motion from continuous rotary motion-?
(a) Scotch yoke mechanism

(b) Geneva mechanism

(c) Elliptical mechanism

(d) Whitworth mechanism

Q662. A planer mechanism has 6 links with 6 lower pairs
and 2 higher pairs. Then the degree of freedom of
mechanism as per Gruebler's Criterion is.

(@1

(b) 2

(c)3

(d)o

Q663. Universal joint is an example of:.
(a) Lower pair
(b) Higher pair
(c) Rolling pair
(d) Sliding pair

Q664. A planar mechanism has 8 links and 10 rotary joints.
The number of degrees of freedom of the mechanism, using
Grubler's criterion, is : -

()0

(b) 1

(c)2

(d)3

Q665. In a slotted lever and crank quick return mechanism
used in shapers, the beginning and end of cutting stroke
occurs when -

(a) cranked lever are in line with each other

(b) crank is perpendicular to lever

(c) crank is horizontal

(d) lever is horizontal

Q666. In a mechanism having six links, the number of
instantaneous centres of rotation present are .

(a) 15

(b) 12

()9

(d) 6

Q667. Identify the wrong statement : -

(a) A mechanism is an assemblage of four or more links.

(b) Aslider crank chain consists of two sliding pairs and two
turning pairs.

(c) A kinematic chain Mechanism at least four links and four
turning pairs.

(d) Open pairs are those whose elements are not held
together mechanically.

Q668. The instantaneous centre of rotation of a circular disc
rolling on a straight path is at-

(a) the centre of the disc

(b) their point of contact

(c) the centre of gravity of the disc

(d) infinity

Q669. Which one of the following is not an example of higher
pair! ?

(a) Disc Cam and roller follower

(b) Spur Gear meshing teeth

(c) Ball Bearing

(d) piston cylinder arrangement

Q670. Which of the following is not an inversion of single
slider crank mechanism!?

(a) Quick return mechanism

(b) Oscillating cylinder engine mechanism

(c) Slider crank mechanism

(d) Oldham's coupling

Q671. A spheric pair such as ball and socket joint has n
degrees of freedom, where n is equal to !

(@o

(b)1

(c)2

(d)3

Q672. In a slotted lever quick return mechanism the number
of instantaneous centres of rotation is.

(@)6

(b) 10

(c)12

(d) 15

Q673. A simple mechanism has the following number of
links:.

(a) 4

(b)3

(c)2

(A1

Q674. Which one of the following is a higher pair. ?
(a) Beltand Pulley

(b) Turning Pair

(c) Screw Pair

(d) Sliding Pair

Q675. DOF of an over constrained structure has ____ value.
(a) zero

(b) positive or negative

(c) negative

(d) positive
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Q676. Which of the following disciplines provides study of
relative motion between the parts of a machine _

(a) applied mechanics

(b) mechanisms

(c) kinematics

(d) kinetics

Q677. In a kinematic chain, a quaternary joint is equivalent
to:_

(a) one binary joint

(b) two binary joints

(c) three binary joints

(d) four binary joints

Q678. In a 4 bar mechanism A completely constrained
motion can be transmitted with: !

(a) 1 link with pin joints

(b) 2 link with pin joints

(c) 3 link with pin joints

(d) 4 link with pin joints

Q679. In a four bar Mechanism, if the shortest link is fixed,
the Mechanism obtained is known as: _

(a) Double rocker mechanism

(b) Six bar mechanism

(c) Double crank mechanism

(d) Crank and rocker mechanism

Q680. The link EF in a slider crank mechanism has a length
of 0.4 m. The velocity of end E with respect to F is 4.9 m/s.
The angular velocity of the linkis : _

(a) 0.01225 rad/s

(b) 1.225rad/s

(c)12.25rad/s

(d) 1225.5rad/s

Q681. Which of the following is the inversion of single
slider- crank chain?!

(a) Elliptical trammel

(b) Scotch yoke

(c) Oldham's coupling

(d) With worth quick-return mechanism

Q682. Pulley in belt drive acts as _
(a) Surface pair

(b) Turning pair

(c) Rolling pair

(d) Cylindrical pair

(e) Sliding pair

Q683. Consider the following geometrical figures

Which of these accurately describe the path traced by a point
on a link connecting double slider crank chain _

(@1

(b) 1and 2

(c) 2

(d)1and3

(e) 4

Q684. A four stroke engine having a brake power of 105 kW
is supplied with a fuel at a rate of 4.4 kg per 10 minutes. The
brake specific fuel consumption of the engine is :-

(a) 0.18 kg/kW-hr

(b) 0.25 kg/kW-hr

(c) 0.36 kg/kW-hr

(d) 0.42 kg/kW-h

Q685. The quality of vapour at the exit of nozzle ____ due to
nozzle friction.

(a) Increases

(b) Decreases

(c) Does not change

(d) Unpredictable

Q686. Critical radius of insulation of a hollow cylinder is_
Insulation

(a) 2k/h
(b) k/2h
(©) k/h

(d) 2k /h

Q687. Which one is NOT a reason behind the fact that the
ideal regenerative cycle is practically not possible! ?

(a) The reversible heat transfer takes infinite time

(b) It is mechanically impossible to exchange heat in the

1. Cycloid turbine
2. Ellipse (c) The moisture content in the turbine will be high
3. Circle (d) The steam specific volume will be too high.
4. Parabola
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Q688. Air is drawn in a compressor at the rate of 0.8 kg/s at
a pressure of 1 bar and temperature of 20°C. Delivering
temperature is 90°C and pressure is 10 bar. The air is
delivered through an area of 2 x 10-3 m2 . If R = 287 J/kgK,
the air exit velocity is.

(a) 41.7m/s

(b) 35.8m/s

(c) 29.7 m/s

(d) 27.3m/s

Q689. Which of the following configuration has the highest
fin effectiveness.?

(a) Thin, closely spaced fins

(b) Thin, widely spaced fins

(c) Thick, widely spaced fins

(d) Thick, closely spaced fins

Q690. The radioactive heat transfer per unit area (W/m?2)
between two plane parallel gray surfaces (emissivity = 0.9)
maintained at 400 K and 300 Kis -

(a) 992

(b) 812

(c) 464

(d) 567

Q691. Biogas is predominantly!
(a) Hydrogen

(b) Carbon monoxide

(c) Carbon dioxide

(d) Methane

Q692. In a vapour absorption refrigerator, the temperatures
of evaporator and ambient are 10°C and 30°C respectively. If
the COP of the system is 2, estimate the generator
temperature._

(a) 90°C

(b) 85°C

(c) 80°C

(d) 75°C

Q693. A diesel engine is usually more efficient than a spark

ignition engine because_

(a) Diesel being a heavier hydrocarbon, releases more heat
per kg than gasoline

(b) The air standard efficiency of diesel cycle is higher than
the Otto cycle, at a fixed compression ratio.

(c) The compression ratio of a diesel engine is higher than
that of a spark ignition engine

(d) Self ignition temperature of diesel is higher than that of
gasoline

Q694. In an air condition unit air enters the cooling coil a
temperature 30°C. The coil surface temperature is -10°C. If
the cooling coil bypass factor is 0.45, then the temperature at
the exit will be-

(a) 6°C

(b) 8°C

(c) 10°C

(d) 12°C

Q695. Decrease of air-fuel ratio in spark ignition engines
results in_

(a) increase of NOx

(b) a decrease of CO and unburnt hydrocarbon

(c) anincrease of CO and unburnt hydrocarbon

(d) none of the above

Q696. If the volume of moist air with 50% RH is isothermally
reduced to half its original volume, then relative humidity of
moist air becomes!

(@) 25%

(b) 60%

() 70%

(d) 100%

Q697. A centrifugal pump driven by a directly coupled 3 kW
motor of 1450 rpm speed, is proposed to be connected to a
motor of 2900 rpm speed. The power of the motor should
be!

(a) 6 kW

(b) 12 kW

(c) 18 kW

(d) 24 kW

Q698. Moist air at 35°C and 100% relative humidity is
entering a psychrometric device and leaving at 25°C and
100% relative humidity The name of the device is!

(a) Humidifier

(b) Dehumidifier

(c) Sensible heater

(d) Sensible cooler

Q699. An automobile moving at a velocity of 40 km/ hr is
experiencing a wind resistance of 2 kN. If the automobile is
moving at a velocity of 50 km/hr, the power required to
overcome the wind resistance is.

(a) 43.4 kW

(b) 3.125 kW

(c) 2.5 kW

(d) 27.776 kW

Q700. Refrigerant R-717 is-
(a) Air

(b) Ammonia

(c) Carbon dioxide

(d) Freon-12
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Q701. Velocity at a point in a pipe flow may be measured by
installing.

(a) a Pitot probe at that point

(b) awall trap

(c) a stagnation pressure probe at that point

(d) a Prandtl probe at that point

Q702. The room sensible heat loss is 30,000 kJ/hr and the
latent heat loss is 20,000 k] /hr. Then the sensible heat factor
is-

(a) 0.667

(b) 0.60

(c)0.30

(d) 3.00

Q703. If the stream function is given by $ = 3xy, then the
velocity at point (2, 3) will be-

(a) 7.21 unit

(b) 10.82 unit

(c) 18 unit

(d) 54 unit

Q704. If '4' number of links are connected at a joint. Then it
will be equivalent to: .

(a) 3 binary joints

(b) 2 binary joints

(c) 1 binary joint

(d) 2 quaternary joints

Q705. The motion of a piston in the cylinder of a steam
engine is an example of -

(a) Forced constrained motion

(b) Successfully constrained motion

(c) Incompletely constrained motion

(d) Completely constrained motion

Q706. Quick return mechanism is not required in-
(a) Planner

(b) Broaching

(c) Slotter

(d) Shaper

Q707. A planar linkage having 8 links and 9 joints of single
degree of freedom will have................. degree of freedom.

(@)1

(b) 2

(c)3

(d) 4

Q708. A ball and socket joint is example of pair-
(a) Screw

(b) Spherical

(c) Turning

(d) Rolling

Q709. Mechanism is said to be converted to structure if the
degree of freedom of mechanism reduced to : _

(@3

M1

(0

(d)2

Q710. In 3-dimension, how many degrees of freedom does a
fixed support have.?

@o

(b)2

()3

(d)e6

Q711. For a Kinematic chain to be considered as mechanism-
(a) Two links should be fixed

(b) One link should be fixed

(c) None of the links should be fixed

(d) There is no such criterion

Q712. The Grubler's criterion for obtaining the degree of
freedom (F) of a planar mechanism with 'n' number of links
and 'j' number of binary joints, is given by :-

(@) F=3(n-1) -j

(b) F=3(n-1) - 2j

() F=2(n-1) -j

(d) F=2(n-1) - 2j

Q713. Oldham's coupling and elliptic trammels are the
inversion of : !

(a) Crossed Slider Crank Chain

(b) Four Bar Chain

(c) Single Slider Crank Chain

(d) Double Slider Crank Chain

Q714. In a four-bar chain or quadratic cycle chain.
(a) each of the four pairs is a turning pair

(b) one is a turning pair and three are sliding pairs
(c) two are turning pairs and two are sliding pairs

(d) three are turning pairs and one is a sliding pair

Q715. A link, which is free in space, has degree of freedom
equal to -

(@) 3

(b)6

(@5

(d) 4

Q716. The mechanism used in a shaping machine is :!

(a) A closed 4-bar chain having 4 revolute pairs

(b) A closed 6-bar chain having 6 revolute pairs

(c) A closed 4-bar chain having 2 revolute and 2 sliding pairs
(d) An inversion of the single slider-crank chain
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Q717. In a four-bar linkage, S denotes the shortest link
length, L is the longest link length, P and Q are the lengths of
other two links. At least one of the three moving links will
rotate by 3602 if :.

(a)S+L<P+Q

(b)S+L>P+Q

(c)S+L=L+Q

(dS+L>L+Q

Q718. Any point on a link connecting double slider crank
chain will trace a _

(a) Straight line

(b) Circle

(c) Ellipse

(d) Parabola

Q719. A planer mechanism has 10 links and 12 rotary joints.
Using Grubler’s criterion, the number of degrees of freedom
of the mechanism is-

()1

(b) 3

(c)2

(d) 4

Q720. In a lower pair of links there is ........... contact._
(a) point

(b) line

(c) surface

(d) no

Q721. A kinematic chain having N links will have:.
(a) (N - 1) inversion

(b) N inversion

(c) (N - 2) inversion

(d) (N - 3) inversion

Q722. Roller bearingisa: -
(a) Spherical pair

(b) Higher pair

(c) Lower pair

(d) Cylindrical pair

Q723. The mechanism used in internal combustion engine
is:_

(a) crank mechanism

(b) slider mechanism

(c) slider crank mechanism

(d) circular mechanism

Q724. A mechanism has 7 links with all binary pairs except
one which is ternary pair. The number of instantaneous
centres of this mechanism are: _

Q725. As per Kennedy's theorem, if three bodies have plane
motion, their instantaneous centre lies on:!

(a) a triangle

(b) a point

(c) two lines

(d) a straight line

Q726. A slider moving in a curve surface will have its
instantaneous center_

(a) at their point of contact

(b) at infinity

(c) at the center of curvature

(d) anywhere on the curve surface

Q727. The modulus of elasticity and rigidity of a material are
200 GPa and 80 GPa, respectively. What is the value of
Poisson's Ratio of this material!?

() 0.5

b1

(c)1.25

(d) 0.25

Q728. The ultimate tensile strength (UTS) is:.

(a) the maximum load sustained by the specimen divided by
the original specimen cross-sectional area.

(b) the maximum load sustained by the specimen plus the
original specimen cross-sectional area.

(c) the maximum load sustained by the specimen.

(d) square of product of the maximum load sustained by the
specimen and original specimen cross-sectional area.

Q729. A solid circular shaft of 30 mm diameter transmits a
torque of 800 N-m. Value of maximum shear stress
developed will be approximately-?

(a) 103 Mpa

(c) 151 Mpa

(c) 260 MPa

(d) 264 MPa

Q730. There is a two dimensional fluid element which
depicts the properties of a rigid body while rotating, during
the rotation a point is taken inside the element having
pressure of one unit. Find out the radius of Mohr's circle at
the given instance of time-

(a) 0.5 unit

(b) 0 unit

(c) 1 unit

(d) 2 units

Q731. Which of the following represents correct relationship
between Young's modulus (E) and bulk modulus (K).?

() 14 (a) K=E/(3[1-2 (Lateral strain/Longitudinal strain)])
(b) 21 (b) K= E/[1+2(Lateral strain/Longitudinal strain)]
(c) 28 (c) K=E/[1-2 (Longitudinal strain/Lateral strain)]
(d) 42 (d) K= E/[1+2(Longitudinal strain/Lateral strain)]
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Q732. A circular shaft is taken and torque T is applied on it.
Taking the radius of shaft as r, evaluate the maximum value
of shear stress. (Given thatd = 2r)_

(a) 64T /md?

(b) 32 T/nd?

(c) 16T/nd?

(d) 8T/nd?

Q733. A feeler gauge is used to check!:
(a) Radius

(b) Surface roughness

(c) Screw pitch

(d) Thickness of clearance

Q734. CAD helps in..

(a) Identifying all possible views for a drawing

(b) Analysis of drawing only with regards of material
(c) storage of 2 D drawings in digital format only

(d) Provides networking of all such drawings only

Q735. Among the following, identify the incorrect statement-

(a) Error is the disagreement between the result of
measurement and actual value.

(b) Random error are regularly repetitive in nature and
result from improper conditions or procedures that are
constant in action.

(c) Uncertainty of measurement represents the dispersion
of the result of measurement defined by the limits of the
error.

(d) A Absolute error is the algebraic difference between the
result of measurement and the value of comparison.

Q736. Profile of a gear tooth can be checked by!:
(a) Sine bar

(b) Bench micrometer

(c) Optical pyrometer

(d) Optical projector

Q737. Random errors follow which of the following
distributions.?

(a) Gaussian

(b) Hyperbolic

(c) Be Parabolic

(d) T-student

Q738. In measurement which of the following is not a
category of errors falling under Systematic errors!?

(a) Instrumental errors

(d) Environmental Errors

(c) Observational errors

(d) Misuse of instruments

Q739. Tolerances are specified:_

(a) To obtain desired fit

(b) To obtain high accuracy

(c) Because it is not possible to manufacture a size exactly
(d) To have proper allowance

Q740. The basic measurement system used for diagonostic
analysis of vibrations consists of:!

1. Vibration pickups

2. Pre amplifiers

3. Processing and display equipment

Choose the correct answer from the options given below.

(@) 1and?2

(b) Only 1

(c)2and 3

(d)1,2and 3

Q741. Which of the following can be used to scribe lines
parallel to the edges of a part!?

(a) Vernier calliper

(b) Screw gauge

(c) Divider

(d) Hermaphrodite calliper

Q742. Which of the following is not the essential

requirement for accuracy of measurement with a sine bar_?

(a) Flatness of upper surface

(b) Exact distance between roller axes and mutual
parallelism

(c) Parallelism between top and bottom surfaces

(d) Parallelism of rollers to upper surface and equality of
axis distance as from surface

Q743. A proving ring has to be calibrated in a dead weight
force standard machine to establish the relationship._

(a) force-moment

(b) force-bending

(c) force-deflection

(d) force-fatigue

Q744. A proving ring has to be calibrated in a dead weight
force standard machine to establish the relationship._

(a) force-moment

(b) force-bending

(c) force-deflection

(d) force-fatigue

Q745. Equivalent bending moment alone produces-:
(a) maximum shear stress

(b) maximum normal stress

(c) minimum shear stress

(d) minimum normal stress
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Q746. In spur gears, Lewis equation is applied_:
(a) only to the pinion

(b) only to the gear

(c) to weaker of pinion or gear

(d) to stronger of pinion or gear

Q747. Which of the following functions is performed by the
finishing teeth of a broach.?

(a) Removes maximum metal

(b) Removes minimum metal

(c) Performs burnishing operation

(d) Performs shaping operation

Q748. Which of the following is governed by the alloy's
melting temperature in die casting?

(a) Size of injector pump

(b) Die and core draft

(c) Ejection method

(d) Die material

Q749. "Hot chamber" die casting machines are used for
alloys with:-

(a) high melting temperatures

(b) low melting temperatures

(c) low thermal conductivity

(d) low electric resistance

Q750. Which one of the following is incorrect for

normalizing operation!?

(a) Itrelievesinternal stresses

(b) It produces a uniform structure

(c) After heating the material is allowed to cool in
atmosphere

(d) The rate of cooling is very slow

Q751. The law governing the rate of heat transfer from solid
surface to a fluid is:.

(a) Newton's law of cooling

(b) Fourier's law

(c) Kirchoff's law

(d) Stefan's law

Q752. In M.KSS system, what is the unit of film heat transfer
coefficient (h).?

(a) kcal/m? hreC

(b) kcal/m hr°C

(c) kcal/hr°C

(d) kcal m?/hr°C

Q753. As the value of diffusivity of material increases, the
propagation of heat into the medium.

(a) increases

(b) decreases

(c) remains same

(d) may increase or decrease

Q754. If a workshop engineer wants to perform hot chamber
die casting, then which of the following alloys will be best
suited for the mentioned purpose?!

(a) Low carbon steel

(b) aluminium

(c) Copper

(d) Tin

Q755. Void ratio does not depend on:.
(a) Liquid limit

(b) Volume

(c) Bulk volume

(d) Porosity

Q756. Mica variety muscovite is.:
(a) generally colourless

(b) of blue colour

(c) of white colour

(d) of brown colour

Q757. In the drawing sheet, the size of title block is.:
(a) 185 mm x 65 mm

(b) 100 mm x 180 mm

(c) 20 mm x 100 mm

(d) 190 mm x 130 mm

Q758. An asymmetric object is usually described by-:
(a) 6 views
(b) 3 views
(c) 4 views
(d) 2 views

Q759. On which of the following does the coefficient of
friction depend-?

(a) Normal reaction

(b) Surface roughness

(c) Tangential force applied

(d) Speed of the movement

Q760. The coefficient of friction between two surfaces may
be defined as the constant of proportionality between the
applied tangential force and the normal reaction:_

(a) at the instant of application of force

(b) at any instant when body is at rest

(c) at the instant of impending motion

(d) at an instant after motion takes place

Q761. Proof stress:-

(a) is the safest stress

(b) is that which will cause a specified permanent
deformation in a material, usually 0.02 % or less

(c) isused in connection with materials like mild steel

(d) does not exist
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Q762. The localized compressive stress at the area of the
contact between two mating members is the!:

(a) Bending stress

(b) Tensile stress

(c) Shearing stress

(d) Compressive stress

Q763. Which of the following behaviour of the system

defines under-damped harmonic oscillator?_

(a) The system returns (exponentially decays) to
equilibrium without oscillating,

(b) The system returns to equilibrium as quickly as possible
without oscillating.

(c) The system oscillates (at reduced frequency compared
to the undamped case) with the amplitude gradually
decreasing to zero.

(d) The system oscillates at its natural resonant frequency.

Q764. What is the work done for a constant volume process?
(@) 0.5

(b)o

(01

(d)-1

Q765. The range of coefficient of discharge value of Venturi
meter is-:

(a) 0.55t0 0.75

(b) 0.95t0 0.99

(c) 0.25t0 0.35

(d)0.6t0 0.8

Q766. Which of the following statement is INCORRECT with
repeat to a reheat cycle!?

(a) Work ratio increases

(b) Net work done increase

(c) Turbine work increase

(d) Steam rate increase

Q767. What will be the effect by mistake diesel fuel supplied
in a petrol engine!?

(a) Engine will run at reduced efficiency

(b) Engine will give smoke and will consume more fuel as
well as lubricating oil

(c) Engine will run at lower rpm

(d) Engine will not run

Q768. If s steam Function satisfies the Laplace equation it is
a possible case of fluid flow which is_

Q769. An open tank contains water up to depth of 2 m and
above it an oil of specific gravity 0.9 for a depth of 1 m. Find
the pressure intensity at the interface of the

two liquids-

(a) 9829 N/m?

(b) 8829 N/m?

(c) 6829 N/m?

(d) 7829 N/m?

Q770. The thermal efficiency of an air standard Brayton

cycle in terms of pressure ratio (rp) and y (CpCv) is:-
1

(@1-—=
(rp)Y
1
R
1
Y
d)1——=
@1-

Q771. Supercharging in diesel engines is done primarily to!:
(a) improve mechanical efficiency

(b) reduce exhaust losses

(c) improve thermal efficiency

(d) increase specific output

Q772. The atmospheric air at DBT is 20°C, It enters a heating
coil which is maintained 50°C. If the air leaves the heating
coil at 35°C, then what will be the efficiency of the coil-?

(a) 0.35

(b) 0.5

() 0.6

(d) 0.22

Q773. Which of the following is an example of a thixotropic
substance!?

(a) Water

(b) Quick Sand

(c) Gypsum

(d) Printer ink

Q774. What is the minimum valley of an ash hopper used in
a dry electrostatic precipitator.?

(a) 55°

(b) 35°

(c) 45°

(d) 25°

Q775. What is the maximum moisture content in a steam
turbine exhaust.?

(a) Unsteady (@) 15%
(b) Rotational (b) 25%
(c) Irrotational (c) 20%
(d) Turbulent (d) 30%
52| Adda247 App Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q776. Which of the following is NOT an assumption of
Bernoulli’s equation-?

(a) Flow is steady

(b) Flow is compressible

(c) Flow is ideal

(d) Flow is irrotational

Q777. The mechanism which serve the purpose of dividing
the periphery of a circular piece into a number of equal parts
is known as:.

(a) indexing

(b) slider crank

(c) oldham

(d) quick return

Q778. What is the Babcock and Wilcox boiler.?
(a) Water tube boiler

(b) Horizontal fire tube boiler

(c) Transverse fire tube boiler

(d) Vertical fire tube boiler

Q779. A hydraulic press has a ram of 20 cm diameter and a
plunger of 3 cm diameter. It is used for lifting a weight of 30
KN. Find the force required at the plunger-

(a)975N

(b) 675N

(c)875N

(d) 1075N

Q780. Which of the following statements is/are correct with

respect to gas turbine power plant!?

Statement:

P. Smaller is size compared to steam power plant for the
same power output

Q: Starts slowly compared to a steam power plant

R. Works on the principle of the Rankine cycle

S: Good compatibility with solid fuel

(a) Only statements P and Q are correct

(b) All statements P,Q,R and S are correct

(c) Only statement S is correct

(d) Only statement P is correct

Q781. The ability of oil to resist oxidation that would yield
acids, lacquers and sludge is called:!

(a) oiliness

(b) detegency

(c) foaming

(d) stability

Q782. What does a Lagrangian description of fluid flow
provide.?

(a) Position of fluid particle at every time instant

(b) Energy of a fluid particle at every time instant

(c) Pressure at a given point at every time instant

(d) Temperature at a given point at every time instant

Q783. The deflection at the centre of a fixed-fixed beam
carrying a point load at the centre is related to the deflection
of simply supported beam by a factor of -

(@)1

(b) 0.25

(c) 0.50

(d) 0.75

Q784. Dynamic viscosity increases with the rate of shear
increase for:!

(a) rheopectic fluid

(b) pseudoplastic fluid

(c) thixotropic fluid

(d) dilatants fluid

Q785. If the by-pass factor is 0.30, what will be the efficiency
of cooling or the contact factor.?

(a) 0.70

(b) 0.66

(c) 0.15

(d) 0.30

Q786. Energy of a system is defined as:!
(a) point function and intensive property
(b) path function and extensive property
(c) path function and intensive property
(d) point function and extensive property

Q787. What type of steel generally used for connecting rods,
crank shafts and axle component-?

(a) Mild steel

(b) Medium carbon steel

(c) Low carbon steel

(d) High carbon steel

Q788. What is a locomotive boiler_?
(a) Horizontal water tube boiler

(b) Vertical water tube boiler

(c) Fire tube boiler

(d) Self-cooled boiler

Q789. Vacuum pressure is-:
Atmospheric pressure
(a) P P

Absolute pressure
(b) Atmospheric pressure-Absolute pressure
(c) Atmospheric pressure-Absolute pressure
(d) Atmospheric pressure-Absolute pressure

Q790. Which fo the following options is used for mixing air
with fuel supply.?

(a) Booster fan

(b) Blowdown valve

(c) Chimney

(d) Fusible plug
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Q791. In spur gears, the circle on which the involute is
generated in called:-

(a) pitch circle

(b) base circle

(c) addendum circle

(d) clearance angle

Q792. Which of the following is NOT a wet sump lubrication
system-?

(a) Splash system

(b) Velocity feed system

(c) Splash and pressure system

(d) Pressure feed system

Q793. A heat engine is supplied with 450 kJ/s of heat at a
constant fixed temperature of 227°C. The heat is rejected at
27°C what will be the amount of heat rejected if the cycle is
reversible-?
(a) 330 kW
(b) 270 kW
(c) 300 kW
(d) 320 kW

Q794. Gibbs phase rule defines the relationship between
degrees of freedom (F) of a system number of phase (P) and
the number of components (C) What is the equation-?
(@F-P=C

() F+P=C+2

(c)F+P=C

(AF+P=C+1

Q795. Name the point which a body starts oscillating when a
body, floating in a liquid, is titled even by small angle.

(a) Metacentre

(b) Center of buoyancy

(c) Centre of gravity

(d) Shear center

Q796. In a diesel engine, where does the mixing of fuel and
air occur_?

(a) Injector

(b) Inlet manifold

(c) Engine cylinder

(d) Fuel pump

Q797. Stream line a flow is:.

(a) Tangent to the velocity vector at any instant in time

(b) locus of fluid particles that have earlier passed through a
given a point

(c) tangent to the acceleration vector at any instant in time

(d) actual path followed by a fluid particle

Q798. The Flow ratio for a Francis turbine varies from:!
(a) 0.01to0 0.10

(b) 0.30 to 0.45

(c)01.To 0.14

(d) 0.15t0 0.30

Q799. Which of the following devices is used for preheating
the air before it is supplied to the boiler.?

(a) Economiser

(b) Superheater

(c) Steam trap

(d) Injector

Q800. A carrot engine receiving heat at 400 K has an
efficiency of 50%. What is the COP of a carrot refrigerator
working between the same temperature limits!?

(a)2

(b) 4

(03

(@1

Q801. Which of the following statements is true-?

(a) Rankine efficiency is higher than carnot efficiency

(b) Rankine efficiency is lower than carnot efficiency

(c) Rankine efficiency is equal to carnot efficiency

(d) Rankine efficiency cannot be compared with carnot
efficiency

Q802. The equation to determine number of buckets (Vanes)

in terms diameter (D) and jet diameter (d) of the Pelton
turbine is:_

@z=(%)+15

@z=(¥)+15

BILINGUAL

Mechanical
Engineering

ka Mahapack

Live Class, Video Course
Test Series, Ebooks

54 Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/
https://www.adda247.com/product-onlineliveclasses/9973/mechanical-engineering-maha-pack?examCategory=engineering-maha-pack

Addal2417
|_ENGINEERS

Addal247

1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Q803. For a forced vortex flow in an open tank which of the

following statements is correct.?

(a) Fall of liquid level at the centre = rise of liquid level at
the ends

(b) Fall of liquid level at the centre = 0.5 x rise of liquid at
the ends

(c) Fall of liquid level at the centre = 0.98 x rise of liquid
level at the ends

(d) Fall of liquid level at the centre = 0.95 x rise of liquid
level at the ends

Q804. For a floating body to be in a stable equilibrium,
Where G is the centre of gravity B is the centre fo buoyancy,
and M is the metacentre which of the following statements is
true-?

(a) M is below G

(b) M is above G

(c) M and B coincide

(d) M and G Coincide

Q805. The Angular moment of a system is conserved if there
are:!

(a) No forces present

(b) No magnetic forces present

(c) No net force on the system

(d) No torques present

Q806. Identify the statement which is applicable to a perfect
gas and is also true for an irreversible process. (Where: Heat
content of a gas = Q, Internal energy = U, Pressure = P,
Volume =V, Temperature = T (all per unit mass)-

() dQ=dU + pdV

(b) Tds =dU + pdV

(c)dQ=Tds

(d)dQ =Tds +dU

Q807. At a given temperature, the enthalpy of superheated
steam is always that of saturated steam-
(a) less than

(b) greater than

(c) same as

(d) equal to twice of

Q808. The enthalpy of vapour at lower pressure is
dependent on Options:-

(a) Entropy

(b) Temperature

(c) Volume

(d) Neither Temperature nor Volume

Q809. Which of the following gives the correct definition of a

closed thermodynamic system-?

(a) System in which there is no energy or mass transfer
across the boundary.

(b) System in which there is no mass transfer, but energy
transfer exists.

(c) System in which there is no energy transfer, but mass
transfer exists.

(d) System in which both energy and mass transfer take
place across the boundary, but the mass transfer is
controlled by valves.

Q810. Coordination number in case of FCC crystal is:_
(a) 8

(b) 4

(c)12

(d)16

Q811. Which type of teeth are normally used and satisfy law
of gearing.?

(a) Involute teeth

(b) Conjugate teeth

(c) Cycloidal teeth

(d) Both cycloidal and involute teeth

Q812. The value of mobility for an indeterminate structure
which is static is.

(@)1

Mo

(1

(d)=2

Q813. When an object simultaneously rotates about a point
and moves relative to that point, an acceleration results from
this. This acceleration is called

(a) Doppler

(b) Coriolis

(c) Sequential

(d) Tangential

Q814. Determine the number of links when the number of
instantaneous centres are 10-

(a) 4

(b) 5

(96

(d) Data Insufficient

Q815. Zeroth law of thermodynamics deals with_:
(a) internal energy

(b) entropy

(c) concept of temperature

(d) absolute zero of entropy
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Q816. The law of thermodynamics states that conversion of
heat to work is limited by the temperature at which
conversion occurs-

(a) first

(b) second

(c) third

(d) second and third

Q817. Identify the correct statement for the Zeroth Law of

thermodynamics.!

(a) Two thermodynamic systems are always in thermal
equilibrium with each other.

(b) If two systems are in thermal equilibrium, then the third
system will also be in thermal equilibrium.

(c) Two systems not in thermal equilibrium with a third
system will also not in thermal equilibrium with each
other.

(d) When two systems are in thermal equilibrium with a
third system, they are in thermal equilibrium with each
other.

Q818. The
(a) Dual Cycle
(b) Otto Cycle

(c) Diesel Cycle
(d) Brayton Cycle

is used in gas turbines.

Q819. The primary function of the flywheel is:_

(a) To maintain the constant speed of rotation of the
crankshaft when the load on the engine increases

(b) To absorb energy during these periods of crank rotation
when turning moment is less than the resisting points

(c) To limit the fluctuations of speed during each cycle

(d) To maintain constant speed of rotation of the crank shaft
when the load on the engine decreases

Q820. Which of the following casting processes uses
expendable pattern and expendable mould_?

(a) Centrifigal casting

(b) Pressure die casting

(c) Investment casting

(d) Shell mould casting

Q821. A thermodynamic property:-

(a) depends on path

(b) does not depend on the past history of the system

(c) can have different values when the system is in a
particular state

(d) depends on the past history of the system

Q822. Patterns are usually coated with a parting agent to:_
(a) Increase strength of pattern

(b) protect pattern

(c) Facilitate their removal from the moulds

(d) Increase strength of mould

Q823. A carnot engine operates between the temperatures
of 300 K and 600 K. If engine produces 600 K] of work, what
is the entropy change during heat addition in KJ/K!?

(@)1

(b) 0.5

(c)1.5

(d)2z

Q824. The ratio of circular pitch and the module is:-
(a) 1/n*

(b) m

Ohs

)1/

Q825. A machine which is transferring heat from lower
temperature body to higher temperature body without
consuming any external work. Such machine is an example
of-

(a) Perpetual Motion Machine of the fourth kind

(b) Perpetual Motion Machine of the second kind

(c) Perpetual Motion Machine of the third kind

(d) Perpetual Motion Machine of the first kind

Q826. Cope in foundry practice refers to:
(a) Bottom half of moulding box

(b) Top half of moulding box

(c) Middle portion of the moulding box
(d) Coating on the mould face

Q827. The vertical passage for bringing molten metal to
mould cavity is called:-

(a) Riser

(b) Sprue

(c) Runner

(d) Gate

Q828. The process of pouring molten metal in the cavity of a
metallic mould by gravity is known as:!

(a) Permanent mould casting

(b) Pressed casting

(c) Shell moulding

(d) Die casting

Q829. Cupola is best suited for melting::!
(a) Non-ferrous metals

(b) Aluminium alloys

(c) Alloys of Copper

(d) Ferrous metals

Q830. Permeability of a foundry sand is.

(a) Porosity to permit the escape of gases/air
(b) Fineness of sand

(c) Distribution of binder in sand

(d) Capacity to hold moisture
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Q831. Permeability is poor for.
(a) Fine grains

(b) Medium grains

(c) Coarse grains

(d) Rounded grains

Q832. Metal patterns are used for ......... !
(a) small castings

(b) large castings

(c) precise and intricate castings

(d) large scale production on castings

Q833. The shape and size of sand grains affects the following
property:-

(a) Adhesiveness

(b) Porosity

(c) Refractoriness

(d) Strength

Q834. Cereals are added to the moulding sand to improve
the following:-

(a) Porosity

(b) Green strength

(c) Hot strength

(d) Edge hardness

Q835. To improve the surface finish of castings, the
following additive is used in the moulding sand.

(a) Resins

(b) Oils

(c) Wood flour

(d) Sea coal

Q836. Non uniform ramming of moulding sand may lead to
the following casting defect.. -

(a) scabs

(b) swells

(c) blow holes

(d) bends

Q837. An important factor to be taken into account while
designing a core print is::!

(a) Pouring temperature

(b) Pattern material

(c) Type of mould

(d) Moulding sand characteristics

Q838. A casting defect which results in general enlargement
of a casting is known as.

Q839. The process of removing unwanted material from the
casting is called.....!

(a) blowing

(b) cleansing

(c) finishing

(d) fettling

Q840. Which of the following material is added to base sand
to impart bonding strength..._

(a) sea coal

(b) silica

(c) bentonite

(d) wood flour

Q841. One direction solidification in casting can be
improved by using....._

(a) chaplets and padding

(b) chills and chaplets

(c) chills, chaplets and padding

(d) chills and padding

Q842. The process of making hollow castings of desired
thickness by permanent mould without the use of cores is
known as.... ...... !

(a) Die casting

(b) Slush casting

(c) Pressed casting

(d) Centrifugal casting

Q843. The purpose of chaplets is.

(a) To support the core

(b) To provide efficient venting

(c) To join upper and lower parts of the moulding box
(d) Just like chills to ensure directional solidification

Q844. Assumption made in the Fourier’s law is that the heat
flow_

(A) Is in steady state

(B) Through a solid medium in one dimension

(a) Only A.

(b) Only B.

(c) Both A.and B.

(d) None of these

Q845. Hot tear refersto ___.

(a) casting defect

(b) process of fabrication

(c) process of heat treatment

(d) weathering of non-ferrous materials

Q846. Which of the following processes would produce best
components!?

(a) swell (a) die casting
(b) shift (b) hot rolling
(c) sand wash (c) extrusion
(d) blow hole (d) forging
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Q847. Asprue holeis ___!

(a) a casting defect

(b) a hold made for riveting

(c) a blind hole in jigs

(d) an opening in mould for pouring molten metal

Q848. Slick in a foundry shop is used to .
(a) make and repair corners in a mould

(b) thoroughly mix up moulding sand

(c) make venting holes in the mould

(d) prepare gates

Q849. A 50mm x 10mm x 4mm copper bar, free to expand, is
heated from 20°C to 50°C, what shall be developed_?

(a) shear stress

(b) tensile stress

(c) no stress

(d) compressive stress

Q850. The included angle of a pulley for a V-Belt is in the
range of:-

(a) 1.50°-60°

(b) 30°-40°

(c) 40°-50°

(d) 20°-30°

Q851. The dynamic viscosity of fluid is 0.7 poise and specific
gravity is 0.8, then the kinematic viscosity of fluid in stokes
is:_

(a) 0.22

(b)1.14

(c) 0.87

(d)0.34

Q852. Supercharging is the process of:!

(a) providing clean air:

(b) injecting excess fuel for raising more load

(c) providing forced cooling air

(d) Supplying the intake of an engine with air at a density
greater than the density of the surrounding atmosphere

Q853. Oldham's coupling contains:.

(a) 2 turning pairs and 2 sliding pairs
(b) 1 turning pairs and 3 sliding pairs
(c) 2 turning pairs and 1 sliding pairs
(d) 3 turning pairs and 1 sliding pairs

Q854. Which of the following is an inversion of double slider
crank chain-?

(a) Rotatory engine

(b) Scotch yoke

(c) Reciprocating compressor

(d) Whitworth quick return mechanism

Q855. Vents, which are placed in moulds are used:.

(a) To carry off gases produced when molten metal comes
into contact with sand

(b) To pour molten metal into mould

(c) To hold pattern

(d) To provide strength to mould

Q856. Bernoulli's equation cannot be applied when the flow
is:_

(a) Streamlined

(b) Irrotational

(c) Rotational

(d) Non viscous

Q857. Which type of governor is Hartnell govemer_?
(a) Dead weight

(b) Inertia

(c) Spring-loaded

(d) Pendulam type

Q858. Thermit welding differs from other methods of
welding in that!

(a) it does not use heat

(b) itis less time consuming

(c) it does not require electrode

(d) it employs exothermic chemical reaction for developing
high temperature

Q859. The commonly used flux for Brazing is-
(a) Slag

(b) Borax

(c) Lead

(d) Calcium chloride

Q860. If electric current is passed through the metals to be
joined and geated to the plastic state and weld is completed
by the application of pressure the welding in known as_

(a) Forge weld

(b) Electric arc welding

(c) Resistance welding

(d) Thermit welding with pressure

Q861. Which of the following is an example of solid state
welding!?

(a) Gas welding

(b) Arc welding

(c) Thermit welding

(d) Forge welding

Q862. Generally used fuel gas in gas welding is:_
(@) N2

(b) CO;

(c) CzH,

(d) He
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Q863. Spot welding projection welding and or seam welding
belong to the category of.

(a) electric resistance welding

(b) Forge welding

(c) thermit welding

(d) arc welding

Q864. Electrode used in TIG is-
(a) copper

(b) Tungsten

(c) Aluminium

(d) Castiron

Q865. Black colour is generally painted on_?
(a) Acetylene cylinder

(b) Hydrogen cylinder

(c) Oxygen cylinder

(d) None of the options

Q866. Stud and projection welding belong to the following
category of welding___ _

(a) gas welding

(b) arc welding

(c) resistance welding

(d) pressure welding

Q867. Electrode gets consumed in the following welding
process____!

(a) gas

(b) resistance

(c) thermit

(d) arc

Q868. Oxygen to acetylene ratio in case of carburising flame
is -

(a) 0.5:1

(b)0.9:1

(c)1:1

(d) 1:1.2

Q869. Which of the following is a cutting tool material.?
(a) High speed steel

(b) Mild steel

(c) Costiron

(d) Soft steel

Q870. Tool life is generally better when .

(a) grain size of metal is large

(b) grain size of metal is small

(c) hard constituents are present in the microstructure of
the tool material

(d) none of the above

Q871. Size of a shaper is given by.
(a) stroke length

(b) Motor power

(c) table size

(d) Weight of the machine

Q872. For steel, which one of the following properties can be
enhanced upon... annealing_?

(a) Hardness

(b) Toughness

(c) Ductility

(d) Resilience

Q873. In Annealing, cooling is done in which of the following
medium!?

(a) Air

(b) Water

(c) oil

(d) Furnace

Q874. In Normalizing, cooling is done in which of the
following medium.?

(a) Air

(b) Water

(c) 0il

(d) Furnace

Q875. Pinch effect is associated with which technique-?
(a) Metal Forming

(b) Metal Welding

(c) Metal Casting

(d) Metal Cutting

Q876. What is the function of a torch-?

(a) It controls fuel rate

(b) It mixes fuel and oxygen and controls delivery
(c) It controls oxygen rate

(d) It mixes fuel and hydrogen

Q877. Which of the following is a type of welding joint?!
(a) Tee joint

(b) Lap joint

(c) Corner joint

(d) All of the Mentioned

Q878. The heavier oxide films are removed by using-?
(a) Basic flux

(b) Emery

(c) Organic solvents

(d) Water
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Q879. Which of the following is a type of autogenous
welding!?

(a) Arc

(b) Gas

(c) Brazing

(d) Resistance

Q880. In which of the following joining process, the filler
material used is the same as the parent material-?

(a) Autogenous

(b) Homogenous

(c) Heterogenous

(d) Either homogenous or heterogenous

Q881. Pattern material used for precision casting is:-
(a) wooden pattern

(b) wax pattern

(c) no pattern

(d) metal pattern

Q882. The phenomenon of water hammer takes place in

pipes:!

(a) when water is suddenly accelerated by opening the
valve.

(b) when fluid is moving with high head.

(c) when pressure is reduced to zero.

(d) when fluid is suddenly brought to rest by closing the
valve.

Q883. An object is deformed by applying force. Energy
stored in the material duning deformation is known as:_

(a) elastic energy

(b) potential energy

(c) strain energy

(d) plastic eneroy

Q884. The reading of temperature on Celsius scale is 40°C.
What is equivalent reading of temperature on Fahrenheit
scale.?

(a) 104°F

(b) 134°F

(c) 110°F

(d) 114°F

Q885. A simply supported beam of length 3 m caries a
concentrated load of 15 kN at a 1 m from left support. The
maximum bending moment in the beam:_

Q886. Tool life can be increased by increasing:!
(a) depth of cut

(b) feed

(c) cutting speed

(d) nose radius

Q887. Engine overheating may be due to:!
(a) open thermostat

(b) excess coolant

(c) stuck radiator pressure cap

(d) broken fan belt

Q888. Maximum energy that a given component can absorb
without undergoing any permanent deformation upto elastic
limit is known as:.

(a) Proof Resilience

(b) Resilience

(c) Hardness

(d) Toughness

Q889. A draft tube is used in a reaction turbine -

(a) to guide water downstream without splashing

(b) to convert residual kinetic energy into pressure energy
(c) to convert residual pressure energy into kinetic energy
(d) to streamline the flow in tail race

Q890. Which of the following is not a casting defect_?
(a) Scar

(b) Scab

(c) Hot cracks

(d) Hot tears

Q891. A heat engine working on carnot cycle receives heat at
the rate of 80 kW from source at 1500 K and rejects it to a
sink at 300 K. The heat rejected is:!

(a) 48 KW

(b) 32 KW

(c) 64 KW

(d) 16 KW

Q892. Superheating of steam in boiler is done at!:
(a) constant volume

(b) constant entropy

(c) constant temperature

(d) constant pressure

Q893. Which of the following theory is applicable when
friction lining is new.?

(a) 15KNm (a) Uniform pressure theory
(b) 5kNm (b) Uniform torque theory
(c) 10 KNm (c) Uniform wear theory
(d) 40 kNm (d) Uniform dimensional theory
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Q894. Sensitivity of U - tube manometer with inclined leg
depends on:_

(a) specific weight of fluid

(b) length of inclined leg

(c) angle of inclination of leg

(d) atmospheric pressure

Q895. Moulds made of metals that maintain their strength at
high temperature are:.

(a) Permanent moulds

(b) Composite moulds

(c) Expendable moulds

(d) Green sand moulds

Q896. For a given material the bulk modulus is 100 GPa and
passions ratio is 0.25, then the value of modulus of rigidity is
(In GPa)-

(a) 100

(b) 60

(c) 125

(d)75

Q897. Two processes isobaric and isochoric are represented
on T-s diagram. They are starting from same point. Out of
these process, which shall have higher slope_?

(a) isobaric

(b) both have same slope

(c) isochoric

(d) depend on final point

Q898. Hollow casting with thin walls can be made by
process of:_

(a) Die casting

(b) Vacuum casting

(c) Slush casting

(d) Pressure casting

Q899. In a four link mechanism, the sum of the shortest and
the longest link is less than the sum of the other two links. It
will act as a rocker-rocker mechanism if:_

(a) the shortest link is fixed

(b) shortest and adjacent to the shortest both are fixed

(c) the link opposite to the shortest link is fixed

(d) any link adjacent to the shortest link is fixed

Q900. The defect caused, due to low permeability in sand
casting is:-

(a) Drop

(b) Blow holes

(c) Rough surface

(d) Hot tears

Q901. In an inert gas welding process, the commonly used
gas is:-

(a) Krypton

(b) Helium or Argon

(c) Oxygen

(d) Hydrogen

Q902. If the speed of the engine fluctuates between 990 and
1010 rpm in a cycle operation, the coefficient of fluctuation
of speed is:_

(a) 0.05

(b) 0.01

(c) 0.02

(d) 0.04

Q903. In power plant, function of air pre heater is:-
(a) to avoid hazard

(b) to raise temperature of entering air

(c) to raise temperature of feed water

(d) to increase temperature of steam

Q904. Which of the following cycle consist of two adiabatic
and constant volume process!?

(a) joule cycle

(b) diesel cycle

(c) dual cycle

(d) otto cycle

Q905. If a rod expands freely due to heating it will develop:.
(a) no stress

(b) compressive stress

(c) thermal stress

(d) bending stress

Q906. Warm metal working is applied extensively for_
(a) Rolling

(b) Extrusion

(c) Forging

(d) Drawing

Q907. Which of the following processes is used for the
manufacturing of steel balls for balls bearings_?

(a) Die casting

(b) Investment casting

(c) Skew rollings

(d) Milling

Q908. Swaging is an operation of-
(a) Hot rolling

(b) Forging

(c) Extrusion

(d) Piercing
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Q909. The most commonly used flame is gas welding is .
1. Neutral

2. Oxidising

3. Carburising

(a) only 1

(b) only 2

(c)only 3

(d) only 1 and 2

Q910. Acetylene is the most common chemical heat source
and us used in a chemical gas flame. If oxygen is premixed
with acetylene in one-to one mole ratio, then the combustion
products are.

(a) CO?H?0 and heat

(b) CO, H? and heat

(c) CO%and H? only

(d) CO, H?0 and heat

Q911. Electron beam welding can be carried out in!
(a) open air

(b) a shielding gas environment

(c) a pressurised inert gas chamber

(d) vacuum

Q912. In the forging operation, fullering is done to.
(a) Draw out the material

(b) Bend the material

(c) Upset the material

(d) Extrude the material

Q913. A forging method for Increasing the diameter of a bar
and in the process making it Shorter is termed as..._

(a) Fullering

(b) Punching

(c) Upsetting

(d) Extruding

Q914. As compared to Invar, grey cast iron will have
.................. shrinkage allowance -

(b) More
(c) Less
(d) Depending upon the temp

Q915. Which of the following can not be a pattern material!?
(a) Teak

(b) Mahogany

(c) Deodar

(d) Corundum

Q917. Which of the following is not correct for pressurized
gating system_

(a) Liquid metal will enter with more velocity

(b) Casting yield will be more

(c) High possibility of air aspiration effect

(d) All of the above

Q918. Chvorinov’s Principle is associated with which of the
following manufacturing process -?

(a) Metal cutting

(b) Metal Casting

(c) Metal Forming

(d) Metrology

Q919. Pinhole porosity is a defect occurs because of_?
(a) Oxygen gas

(b) Nitrogen gas

(c) Hydrogen gas

(d) All of the above

Q920. Scar/ defect covered by thin layer of metal is known
AS..ee -?

(a) Slick

(b) Blister

(c) Scab

(d) None of the above

Q921. Concept of convective and radiative heat transfer is
associated with!

(a) Crucible Furnace

(b) Cupola Furnace

(c) Induction Furnace

(d) Reverberatory Furnace

Q922. With respect to DCSP which of the following is correct
?

(a) Weld Deposition rate is more

(b) Depth of penetration is less

(c) High melting point material is used

(d) All of the above

Q923. Which of the following is De oxidizing element! ?
(a) Graphite

(b) Cellulose

(c) Alumina

(d) All of the above

Q924. Shielding of GTAW is done by_?

Q916. Which one is responsible to minimize discharge and | (a) Helium
turbulent losses of liquid metal.? (b) Argon + Helium
(a) Runner (c) Helium + Argon + Co2
(b) Vent (d) Argon
(c) Pouring basin (e) Co2
(d) Riser (f) All of the above
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Q925. Shielding of GMAW is done by_?
(a) Helium

(b) Argon + Helium

(c) Helium + Argon + Co2

(d) Argon

(e) Co2

(f) All of the above

Q926. Which of the explosive material used in fabrication
process!?

(a) Ammonium Nitrate

(b) Dynamite

(c) Trinitrotoluene

(d) All of the above

Q927. The position of centre of pressure of a plane surface
immersed in a static fluid is :!!

(a) at the centroid of the immersed surface

(b) always above centroid

(c) always below centroid

(d) none of the above

(e) On or Below the centroid

Q928. A Lewis boltisa/an.:
(a) foundation bolt

(b) stud bolt

(c) eye bolt

(d) tap bolt

Q929. An ideal gas is filled in a balloon kept in an evacuated
and insulated room. When the balloon ruptures, the gas fills
up the entire room. Now internal energy of gas and the
enthalpy of gas at the end of this process._

(a) increases, increases,

(b) constant, decreases

(c) constant, constant

(d) decreases, increases

Q930. Moment of Inertia of an area dA at a distance x from a
reference axis is :-

Q932. The acceleration, in a simple harmonic motion, is
proportional to:_

(a) linear velocity

(b) angular velocity

(c) displacement

(d) rate of change of angular velocity

Q933. The weld bead between a heavy steel section and a
thin section occurs mainly due to the formation of :

(a) bainite

(b) spheroidite

(c) martensite

(d) none of these

Q934. In type of centrifugal pump the impeller is
surrounded by the spiral casing._

(a) involute

(b) bevel

(c) volute

(d) spur

Q935.InSHM ____is always proportional to displacement-
(a) angular velocity

(b) acceleration

(c) time period frequency

(d) mass ratio

Q936. is used as an alloying element to enhance the
endurance strength of steel materials.!

(a) Tungsten

(b) Molybdenum

(c) Nickel

(d) Vanadium

Q937. The different speeds on a lathe are provided in :_
(a) Arithmetic progression

(b) Binary numbers

(c) geometric progression

(d) None of these

(@) [ xdA Q938. The no. of inversions for a slider crank mechanism is.
(b) [ x%dA ()4
(c) [ x3dA (b)8
(d) [x*dA ()6
(d)o
Q931. Junker's gas calorimeter is used to determine the
calorific value of :. Q939.In____ casting expendable pattern is used_
(a) gaseous fuels (a) die
(b) petrol (b) squeeze
(c) coke (c) investment
(d) all fuels (d) continuous
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Q940. Atomic packing factor is .:

(a) volume fraction of atoms in cell

(b) distance between two adjacent atoms

(c) Projected area fraction of atoms on a plane
(d) None of the above

Q941. Compressibility of a liquid is expressed by its! :
(a) Density

(b) Pressure

(c) Volume

(d) Bulk modulus of elasticity

Q942. Power transmitted by a circular shaft is given by- :
(a) tDN/60 joules

(b) 2 tNT/60 watts

(c) T DNT/60 watts

(d) 2m NT/1000 watts

Q943. Watt mechanismisa____ bar mechanism-
(a)3
(b) 4
(5
(d)8

Q944. The hardness of various structures in decreasing
order during heat treatment of steel is- :

(a) fine pearlite, coarse pearlite, martensite, spherodite

(b) martensite, fine pearlite, coarse pearlite, spherodite

(c) fine pearlite, martensite, spherodite, coarse pearlite

(d) coarse pearlite, fine pearlite, martensite, spherodite

Q945. The most appropriate governing equation of ideal
fluid flow are :.

(a) Euler's equation

(b) Navier Stokes' equation

(c) Reynolds' equation

(d) Hagen Poisullie equation

Q946. In sand casting lower part of the moulding flask is
called :_

(a) cope

(b) riser

(c) drag

(d) none of these

Q947. The emissivity and absorptivity of a real surface are

Q948. Time dependent yield is known as. :
(a) Creep

(b) Fracture

(c) Buckling

(d) Fatigue

Q949. Spanners are manufactured by- :
(a) dry casting

(b) forging

(c) sheet rolling

(d) cup blanking

Q950. Mechanism having zero d.o.f. is known as -:
(a) Machine

(b) Structure

(c) Kinematic chain

(d) Link

Q951. The value of side rake angle of the turning tool having
tool signature :_

0°,10°, 8°, 6°, 20°, 60°, 0(mm) will be :

(a) 60°

(b) 20°

(c) 10°

(d) 8°

Q952. Surface tension is expressed as :_
(a) Force per unit area

(b) Force per unit volume

(c) Force per unit length

(d) Force only

Q953. A truss having 5 joints and 7 members is termed as
____ truss.

(a) perfect

(b) imperfect or deficient

(c) redundant

(d) none of these

Q954. Kinematic viscosity is equal to _:
(a) density/dynamic viscosity

(b) viscosity/shear stress

(c) viscosity/density

(d) viscosity/velocity gradient

Q955. Consider a refrigerator and a heat pump working on

equal for radiations with identical temperature and | the reversed Carnot cycle between the same temperature
wavelength. This is law.! limits. Then :_
(a) Planck's (a) COP of Heat Pump = COP of Refrigerator
(b) Wein's (b) COP of Heat Pump = COP of Refrigerator -1
(c) Stefan-Boltzman's (c) COP of Heat Pump = COP of Refrigerator + 1
(d) Kirchhoff's (d) COP of Heat Pump = 1/(COP of Refrigerator)
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Q956. Turbine is a machine which converts :-
(a) Mechanical energy to hydraulic energy
(b) Hydraulic energy to mechanical energy
(c) Electrical energy to mechanical energy
(d) Mechanical energy to electrical energy

Q957. The 'flyer plate' is used ............... Welding-
(a) Ultrasonic

(b) Explosive

(c) Electron beam

(d) Laser beam

Q958. In cutting tools, crater wear develops at I:
(a) the principal flank

(b) the tool nose

(c) the auxiliary flank

(d) the rake surface

Q959. In an open thermodynamic system :_
(a) mass transfer takes place

(b) energy transfer takes place

(c) both mass and energy transfer takes place
(d) no change takes place

Q960. The convexity provided on the rim of the pulley is
known as :!

(a) Grooving

(b) Caulking

(c) Forming

(d) Crowning

Q961. In a cantilever beam the bending moment with
respect to fixed end is maximum at :_

(a) the center

(b) the free end

(c) the fixed end

(d) any point on the beam

Q962. One poise is equal to :_
(a) 1 Ns/m?

(b) 10 Ns/m?

(c) 0.1 Ns/m?

(d) 0.01 Ns/m?

Q963. Orsat apparatus is used for analyzing ____!
(a) oxygen

(b) air

(c) carbon dioxide

(d) flue gases

Q964. Annealing is used to make the steel components :-
(a) hard

(b) soft

(c) brittle

(d) none of these

Q965. Profiles used for spur gears are !:
(a) Epicycloid profiles

(b) Hypocycloid profiles

(c) Thread profiles

(d) Involute profiles

Q966. During fusion, the entropy of the system -:
(a) decreases

(b) increases

(c) always remains constant

(d) none of these

Q967.____ welding is a solid state joining process-
(a) gas

(b) friction

(c) arc

(d) thermit

Q968. ___ technique is used for planning the procurement
of dependent demand items.

(a) MRP

(b) EOQ

(c) CPM

(d) PERT

Q969. A car moving with a uniform acceleration covers 450
m in 5 secs interval, and covers 700 m in next 5 seconds
interval. The acceleration of the car is :!

(a) 7.5 m/sec?

(b) 10 m/sec?

(c) 12.5 m/sec?

(d) 20 m/sec?

Q970. For principal axes, the moment of inertia will be :.

(@I =0
(b) Ixy =1
() Ixy ——

(d) None of these

Q971. If the algebraic sum of the virtual work for every
displacement is
(a) zero

(b) one

(c) infinity

(d) none of these

the system is in equilibrium.

Q972. The second law of thermodynamics defines !:
(a) internal energy

(b) heat

(c) work

(d) entropy
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Q973. Section modulus (Z) of a beam depends on. :
(a) the geometry of the cross-section

(b) weight of the beam

(c) only on length of the beam

(d) none of the above

Q974. In a lower pair of links thereis____ contact_
(a) point

(b) line

(c) surface

(d) no

Q975.LVDT is used for measuring :.
(a) displacement

(b) roughness

(c) pressure

(d) speed

Q976. is a cylindrical rod threaded at both the ends
and left plain in the middle._

(a) Shaft

(b) Spindle

(c) Stud

(d) Bolt

Q977. Which of the following is the dimensionless quantity_
(a) Specific Weight

(b) Specific mass

(c) Specific gravity

(d) Specific Volume

Q978. Concept of continuum breaks down under!
(a) Boiling

(b) Vaporization

(c) Solidification

(d) None

Q979. As we know Newtonian fluids are based on newtons
law of viscosity so on which law non-Newtonian fluids are
based_?

(a) Non newtons law of viscosity

(b) Viscosity law

(c) Power law

(d) Newtons law of viscosity only

Q980. Which of the following is an example of shear thining
materials!?
(a) Sugar syrup

Q981. With increase in the thickness of capillary tube the
rise or fall of the liquid will be_

(a) Increases drastically

(b) Decreases drastically

(c) Remains same

(d) It will increase then decrease

Q982. During the smooth flow of water the bubble formation
will occur at-

(@) P>Pvs

(b) Pvs>P

(c)Pvs<P

(d) Very confusing sir

Q983. If there are n; discs on the driving shaft and n, discs
on the driven shaft in a multiplate clutch. then the number of
pairs of contact surface is-

(a)ny +n,

(b)ny +ny -1

()ny+ny+1

(d)ng+n, +2

Q984. Reverse polarity in arc welding is obtained with-

(a) Alternating current electrode with electrode being
positive

(b) Direct current electrode with electrode being positive

(c) Direct current electrode with electrode being negative

(d) Alternating current electrode with electrode. being
negative

Q985. At critical point the enthalpy of vaporization is.
(a) zero

(b) minimum

(c) Maximum

(d) None of the above

Q986. The radiator cooling tubes are generally made of!:
(a) Aluminium

(b) Rubber

(c) Plastic

(d) Copper

Q987. Which of the following is an interference fit.?
(a) Shrink fit

(b) clearance fit

(c) Sliding fit

(d) Running fit

Q988. Which of the following defines the useful property
called ‘High Grade energy_?
(a) third law of thermodynamics

(b) TO_Ot_h paste (b) zeroth law of thermodynamics
(c) Drilling mud (c) first law of thermodynamics
second law of thermodynamics
(d) Yoghurt d dl fth dy
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Q989. In a plane mechanism, total number of links is 4 and
number of turning pairs is 4. The degree of freedom of
mechanism is-

(a) 2

(b)1

(©)0

(d)3

Q990. Packing efficiency of Body Centered Cubic (BCC)
crystal is.

(a) 0.68

(b) 0.74

(c)0.50

(d) 0.65

Q991. Steam flow through a nozzle is considered as _:
(a) constant volume flow

(b) constant pressure flow

(c) adiabatic flow

(d) isothermal flow

Q992. The following cycle is used for air craft refrigeration !
(a) Brayton cycle

(b) otto cycle

(c) Carnot cycle

(d) Reversed-Brayton cycle

Q993. When two diff gases suddenly mix up with each other
then resultant entropy of the system will :-

(a) decrease

(b) increase

(c) remain same

(d) attain negative value

Q994. The air-fuel ratio of the petrol engine is controlled by!:
(a) fuel pump

(b) governor

(c) injector

(d) carburettor

Q995. Engine pistons are usually made of aluminum alloy
because it.

(a) is lighter

(b) wears less

(c) absorbs shocks

(d) is stronger

Q996. The dimensions of surface tension are_

Q997. If a circular chamber is introduced between the casing
and the impeller, then casing is known as :-

(a) guide blades casing

(b) vortex casing

(c) volute casing

(d) none of these

Q998.

graph.!

(a) Acceleration

(b) Displacement

(c) Motion

(d) Change in velocity

represents the area under acceleration-time

Q999. McLeod gauges are used for measuring_:
(a) RPM of shaft

(b) Surface roughness

(c) Vacuum

(d) Velocity

Q1000. Which among the following is the boiler mounting .?
(a) Blow off cock

(b) Feed pump

(c) Economiser

(d) Superheater

Q1001. Gibbs phase rule for general system is! :
(@P+F=C-3

(b)P+F=C+3
(o)P+F=C-2
(dP+F=C+2

Q1002. Principal plane and plane containing maximum
shear stress are separated by _:

(a) 0°

(b) 30°

(c) 45°

(d) 60°

Q1003. On principal plane the shear stress is.
(a) zero

(b) unity

(c) double the value of principal stress

(d) half the value of principal stress

Q1004. Lami's theorem can be applied for.:
(a) 3 concurrent forces

(a) N/m? (b) 3 non-concurrent forces
(b)J/ mz (c) 3 parallel forces
ES)) ]V/Vr;l (d) 3 collinear forces
m
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$1. Ans.(d) $52. Ans.(a)
S2. Ans.(d) $53. Ans.(c)
$3. Ans.(b) S$54. Ans.(a)
$4. Ans.(c) $55. Ans.(c)
S5. Ans.(c) $56. Ans.(c)
S6. Ans.(c) S$57. Ans.(d)
S$7. Ans.(d) $58. Ans.(c)
$8. Ans.(b) $59. Ans.(b)
S9. Ans.(d) $60. Ans.(b)
$10. Ans.(b) S$61. Ans.(c)
S$11. Ans.(b) $62. Ans.(b)
$12. Ans.(d) $63. Ans.(c)
$13. Ans.(d) S$64. Ans.(c)
S$14. Ans.(a) $65. Ans.(a)
$15. Ans.(a) $66. Ans.(a)
$16. Ans.(a) $67. Ans.(c)
$17. Ans.(a) $68. Ans.(c)
$18. Ans.(c) $69. Ans.(c)
$19. Ans.(d) $70. Ans.(d)
$20. Ans.(a) S$71. Ans.(b)
S$21. Ans.(c) $72. Ans.(b)
$22. Ans.(d) S$73. Ans.(d)
$23. Ans.(d) S$74. Ans.(c)
S$24. Ans.(b) $75. Ans.(c)
$25. Ans.(a) $76. Ans.(a)
$26. Ans.(b) S$77. Ans.(b)
S$27. Ans.(b) $78. Ans.(c)
$28. Ans.(c) $79. Ans.(d)
$29. Ans.(d) $80. Ans.(d)
$30. Ans.(b) $81. Ans.(a)
S$31. Ans.(b) $82. Ans.(d)
S$32. Ans.(c) $83. Ans.(a)
$33. Ans.(c) $84. Ans.(d)
S$34. Ans.(b) $85. Ans.(c)
$35. Ans.(c) $86. Ans.(b)
$36. Ans.(a) $87. Ans.(a)
S$37. Ans.(a) $88. Ans.(d)
$38. Ans.(a) $89. Ans.(c)
$39. Ans.(b) $90. Ans.(a)
$40. Ans.(b) $91. Ans.(c)
S41. Ans.(c) $92. Ans.(a)
S42. Ans.(c) $93. Ans.(d)
$43. Ans.(d) S$94. Ans.(a)
S44. Ans.(d) $95. Ans.(b)
$45. Ans.(a) $96. Ans.(d)
$46. Ans.(d) $97. Ans.(a)
S$47. Ans.(d) $98. Ans.(a)
$48. Ans.(c) $99. Ans.(c)
$49. Ans.(c) $100. Ans.(d)
$50. Ans.(b) $101. Ans.(a)
S$51. Ans.(d) $102. Ans.(c)
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$103. Ans.(a)
$104. Ans.(b)
$105. Ans.(b)
$106. Ans.(d)
$107. Ans.(c)
$108. Ans.(c)
$109. Ans.(d)
$110. Ans.(d)
S$111. Ans.(b)
$112. Ans.(b)
$113. Ans.(d)
S$114. Ans.(d)
$115. Ans.(d)
$116. Ans.(d)
S$117. Ans.(d)
$118. Ans.(c)
$119. Ans.(c)
$120. Ans.(c)
S$121. Ans.(d)
$122. Ans.(c)
$123. Ans.(b)
S$124. Ans.(b)
$125. Ans.(b)
$126. Ans.(d)
$127. Ans.(b)
$128. Ans.(b)
$129. Ans.(d)
$130. Ans.(d)
$131. Ans.(d)
$132. Ans.(a)
$133. Ans.(a)
S134. Ans.(b)
$135. Ans.(d)
$136. Ans.(a)
S$137. Ans.(d)
$138. Ans.(a)
$139. Ans.(b)
$140. Ans.(c)
S$141. Ans.(d)
S$142. Ans.(b)
$143. Ans.(a)
S$144. Ans.(d)
$145. Ans.(a)
$146. Ans.(a)
S$147. Ans.(b)
$148. Ans.(b)
$149. Ans.(b)
$150. Ans.(c)
S$151. Ans.(a)
$152. Ans.(a)
$153. Ans.(d)
S$154. Ans.(b)
$155. Ans.(a)
$156. Ans.(d)

$157. Ans.(d)
$158. Ans.(d)
$159. Ans.(c)
$160. Ans.(c)
$161. Ans.(d)
$162. Ans.(c)
$163. Ans.(a)
$164. Ans.(b)
$165. Ans.(c)
$166. Ans.(c)
$167. Ans.(b)
$168. Ans.(d)
$169. Ans.(a)
$170. Ans.(a)
$171. Ans.(c)
$172. Ans.(d)
$173. Ans.(c)
$174. Ans.(c)
$175. Ans.(a)
$176. Ans.(c)
$177. Ans.(a)
$178. Ans.(b)
$179. Ans.(b)
$180. Ans.(d)
$181. Ans.(c)
$182. Ans.(b)
$183. Ans.(a)
$184. Ans.(d)
$185. Ans.(a)
$186. Ans.(d)
$187. Ans.(b)
$188. Ans.(c)
$189. Ans.(d)
$190. Ans.(a)
$191. Ans.(c)
$192. Ans.(b)
$193. Ans.(b)
$194. Ans.(b)
$195. Ans.(a)
$196. Ans.(b)
$197. Ans.(c)
$198. Ans.(c)
$199. Ans.(b)
$200. Ans.(c)
$201. Ans.(d)
$202. Ans.(c)
$203. Ans.(b)
S$204. Ans.(b)
$205. Ans.(c)
$206. Ans.(d)
$207. Ans.(a)
$208. Ans.(d)
$209. Ans.(c)
$210. Ans.(d)
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S$211. Ans.(a)
$212. Ans.(b)
$213. Ans.(d)
$214. Ans.(c)
$215. Ans.(b)
$216. Ans.(a)
$217. Ans.(a)
$218. Ans.(a)
$219. Ans.(c)
$220. Ans.(b)
$221. Ans.(a)
$222. Ans.(d)
$223. Ans.(d)
S$224. Ans.(a)
$225. Ans.(a)
$226. Ans.(d)
§227. Ans.(c)
$228. Ans.(c)
$229. Ans.(b)
$230. Ans.(c)
$231. Ans.(b)
$232. Ans.(b)
$233. Ans.(b)
S$234. Ans.(d)
$235. Ans.(b)
$236. Ans.(a)
$237. Ans.(a)
$238. Ans.(b)
$239. Ans.(a)
$240. Ans.(c)
$241. Ans.(b)
S$242. Ans.(a)
S$243. Ans.(b)
S244. Ans.(d)
S$245. Ans.(d)
$246. Ans.(b)
S$247. Ans.(b)
$248. Ans.(b)
$249. Ans.(d)
$250. Ans.(a)
$251. Ans.(c)
$252. Ans.(b)
$253. Ans.(a)
S$254. Ans.(b)
$255. Ans.(c)
$256. Ans.(c)
$257. Ans.(b)
$258. Ans.(d)
$259. Ans.(c)
$260. Ans.(b)
$261. Ans.(a)
$262. Ans.(c)
$263. Ans.(b)
S$264. Ans.(d)

$265. Ans.(b)
$266. Ans.(b)
$267. Ans.(a)
$268. Ans.(a)
$269. Ans.(a)
$270. Ans.(c)
$271. Ans.(b)
$272. Ans.(b)
$273. Ans.(d)
S$274. Ans.(d)
$275. Ans.(b)
$276. Ans.(a)
$277. Ans.(b)
$278. Ans.(b)
$279. Ans.(c)
$280. Ans.(b)
$281. Ans.(b)
$282. Ans.(c)
$283. Ans.(c)
$284. Ans.(b)
$285. Ans.(b)
$286. Ans.(c)
$287. Ans.(d)
$288. Ans.(c)
$289. Ans.(c)
$290. Ans.(d)
$291. Ans.(c)
$292. Ans.(c)
$293. Ans.(d)
$294. Ans.(b)
$295. Ans.(d)
$296. Ans.(d)
$297. Ans.(d)
$298. Ans.(a)
$299. Ans.(c)
$300. Ans.(b)
$301. Ans.(c)
$302. Ans.(c)
$303. Ans.(b)
S$304. Ans.(a)
$305. Ans.(c)
$306. Ans.(b)
$307. Ans.(b)
$308. Ans.(d)
$309. Ans.(d)
$310. Ans.(a)
$311. Ans.(c)
$312. Ans.(a)
$313. Ans.(c)
S$314. Ans.(a)
$315. Ans.(c)
$316. Ans.(c)
$317. Ans.(c)
$318. Ans.(b)
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$319. Ans.(b)
$320. Ans.(c)
$321. Ans.(a)
$322. Ans.(d)
$323. Ans.(c)
$324. Ans.(d)
$325. Ans.(d)
$326. Ans.(c)
$327. Ans.(d)
$328. Ans.(b)
$329. Ans.(b)
$330. Ans.(a)
$331. Ans.(a)
$332. Ans.(c)
$333. Ans.(c)
S$334. Ans.(b)
$335. Ans.(a)
$336. Ans.(a)
$337. Ans.(c)
$338. Ans.(c)
$339. Ans.(b)
$340. Ans.(d)
S$341. Ans.(a)
S$342. Ans.(a)
S$343. Ans.(a)
S$344. Ans.(a)
$345. Ans.(b)
$346. Ans.(a)
$347. Ans.(b)
$348. Ans.(b)
$349. Ans.(d)
$350. Ans.(d)
$351. Ans.(b)
$352. Ans.(b)
$353. Ans.(a)
S$354. Ans.(b)
$355. Ans.(d)
$356. Ans.(a)
$357. Ans.(a)
$358. Ans.(a)
$359. Ans.(a)
$360. Ans.(b)
$361. Ans.(d)
$362. Ans.(b)
$363. Ans.(b)
S364. Ans.(d)
$365. Ans.(b)
$366. Ans.(c)
$367. Ans.(c)
$368. Ans.(c)
$369. Ans.(a)
$370. Ans.(b)
S$371. Ans.(b)
$372. Ans.(b)

$373. Ans.(c)
S$374. Ans.(d)
$375. Ans.(a)
$376. Ans.(d)
$377. Ans.(b)
$378. Ans.(d)
$379. Ans.(a)
$380. Ans.(c)
$381. Ans.(d)
$382. Ans.(b)
$383. Ans.(b)
$384. Ans.(a)
$385. Ans.(a)
$386. Ans.(d)
$387. Ans.(b)
$388. Ans.(c)
$389. Ans.(a)
$390. Ans.(d)
$391. Ans.(d)
$392. Ans.(c)
$393. Ans.(c)
$394. Ans.(d)
$395. Ans.(d)
$396. Ans.(b)
$397. Ans.(d)
$398. Ans.(a)
$399. Ans.(d)
$400. Ans.(d)
S$401. Ans.(b)
$402. Ans.(a)
$403. Ans.(a)
S$404. Ans.(b)
$405. Ans.(a)
$406. Ans.(b)
$407. Ans.(b)
$408. Ans.(c)
$409. Ans.(d)
$410. Ans.(d)
S$411. Ans.(b)
$412. Ans.(c)
$413. Ans.(d)
S414. Ans.(d)
$415. Ans.(b)
$416. Ans.(d)
S$417. Ans.(a)
$418. Ans.(b)
$419. Ans.(a)
$420. Ans.(d)
S$421. Ans.(d)
$422. Ans.(d)
$423. Ans.(a)
S$424. Ans.(c)
$425. Ans.(b)
$426. Ans.(b)
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$427. Ans.(c)
$428. Ans.(d)
$429. Ans.(d)
$430. Ans.(d)
S$431. Ans.(c)
$432. Ans.(a)
S$433. Ans.(b)
S$434. Ans.(a)
$435. Ans.(a)
$436. Ans.(c)
$437. Ans.(c)
$438. Ans.(d)
$439. Ans.(d)
$440. Ans.(d)
S$441. Ans.(c)
S$442. Ans.(a)
S$443. Ans.(b)
S$444. Ans.(c)
S$445. Ans.(a)
S$446. Ans.(b)
S$447. Ans.(c)
S$448. Ans.(a)
$449. Ans.(a)
$450. Ans.(a)
S$451. Ans.(d)
$452. Ans.(d)
S$453. Ans.(a)
S$454. Ans.(a)
$455. Ans.(a)
$456. Ans.(b)
$457. Ans.(d)
$458. Ans.(c)
$459. Ans.(b)
$460. Ans.(d)
S$461. Ans.(a)
$462. Ans.(b)
$463. Ans.(c)
S$464. Ans.(c)
$465. Ans.(d)
$466. Ans.(c)
S$467. Ans.(a)
$468. Ans.(a)
$469. Ans.(a)
$470. Ans.(b)
S471. Ans.(a)
S$472. Ans.(b)
S$473. Ans.(b)
S474. Ans.(a)
S$475. Ans.(d)
$476. Ans.(d)
S$477. Ans.(b)
$478. Ans.(a)
$479. Ans.(b)
$480. Ans.(c)

$481. Ans.(c)
$482. Ans.(c)
$483. Ans.(c)
$484. Ans.(b)
$485. Ans.(a)
$486. Ans.(b)
$487. Ans.(c)
$488. Ans.()

$489. Ans.(b)
$490. Ans.(c)
$491. Ans.(b)
$492. Ans.(d)
$493. Ans.(d)
$494. Ans.(d)
$495. Ans.(b)
$496. Ans.(c)
$497. Ans.(a)
$498. Ans.(c)
$499. Ans.(c)
$500. Ans.(d)
$501. Ans.(c)
$502. Ans.(c)
$503. Ans.(d)
S$504. Ans.(a)
$505. Ans.(c)
$506. Ans.(b)
$507. Ans.(c)
$508. Ans.(d)
$509. Ans.(d)
$510. Ans.(a)
S$511. Ans.(a)
$512. Ans.(c)
$513. Ans.(b)
S$514. Ans.(c)
$515. Ans.(a)
$516. Ans.(b)
S$517. Ans.(d)
$518. Ans.(b)
$519. Ans.(d)
$520. Ans.(b)
$521. Ans.(b)
$522. Ans.(a)
$523. Ans.(c)
$524. Ans.(c)
$525. Ans.(c)
$526. Ans.(c)
$527. Ans.(c)
$528. Ans.(a)
$529. Ans.(d)
$530. Ans.(a)
$531. Ans.(d)
$532. Ans.(b)
$533. Ans.(a)
$534. Ans.(d)
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$535. Ans.(d)
$536. Ans.(d)
$537. Ans.(b)
$538. Ans.(b)
$539. Ans.(c)
$540. Ans.(c)
$541. Ans.(c)
$542. Ans.(c)
$543. Ans.(a)
S$544. Ans.(b)
$545. Ans.(d)
$546. Ans.(d)
$547. Ans.(b)
$548. Ans.(c)
$549. Ans.(c)
$550. Ans.(d)
§551. Ans.(c)
§552. Ans.(c)
$553. Ans.(c)
$554. Ans.(b)
$555. Ans.(d)
$556. Ans.(a)
$557. Ans.(c)
$558. Ans.(a)
$559. Ans.(a)
$560. Ans.(b)
$561. Ans.(c)
$562. Ans.(a)
$563. Ans.(d)
S$564. Ans.(e)
$565. Ans.(a)
$566. Ans.(b)
$567. Ans.(d)
$568. Ans.(d)
$569. Ans.(b)
$570. Ans.(a)
S$571. Ans.(b)
$572. Ans.(b)
$573. Ans.(d)
S$574. Ans.(d)
$575. Ans.(a)
$576. Ans.(d)
$577. Ans.(d)
$578. Ans.(d)
$579. Ans.(b)
$580. Ans.(c)
$581. Ans.(c)
$582. Ans.(a)
$583. Ans.(d)
$584. Ans.(b)
$585. Ans.(c)
$586. Ans.(b)
$587. Ans.(b)
$588. Ans.(a)

$589. Ans.(d)
$590. Ans.(d)
$591. Ans.(b)
$592. Ans.(b)
$593. Ans.(c)
$594. Ans.(c)
$595. Ans.(d)
$596. Ans.(b)
$597. Ans.(d)
$598. Ans.(c)
$599. Ans.(a)
$600. Ans.(d)
S601. Ans.(d)
$602. Ans.(d)
$603. Ans.(c)
S$604. Ans.(c)
S$605. Ans.(b)
$606. Ans.(d)
S$607. Ans.(c)
$608. Ans.(a)
$609. Ans.(a)
$610. Ans.(a)
S$611. Ans.(c)
$612. Ans.(b)
$613. Ans.(a)
S$S614. Ans.(d)
$615. Ans.(b)
$616. Ans.(b)
S$617. Ans.(a)
$618. Ans.(d)
$619. Ans.(c)
$620. Ans.(b)
$621. Ans.(c)
$622. Ans.(a)
$623. Ans.(d)
$624. Ans.(d)
$625. Ans.(b)
$626. Ans.(c)
$627. Ans.(b)
$628. Ans.(b)
$629. Ans.(a)
$630. Ans.(b)
S$631. Ans.(d)
$632. Ans.(d)
$633. Ans.(d)
$634. Ans.(c)
$635. Ans.(b)
$636. Ans.(d)
$637. Ans.(c)
$638. Ans.(a)
$639. Ans.(a)
$640. Ans.(b)
S$641. Ans.(b)
S$642. Ans.(b)
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$643. Ans.(b)
S$644. Ans.(d)
$645. Ans.(d)
$646. Ans.(b)
$647. Ans.(b)
$648. Ans.(d)
$649. Ans.(a)
$650. Ans.(c)
$651. Ans.(a)
$652. Ans.(d)
$653. Ans.(b)
$654. Ans.(a)
$655. Ans.(a)
$656. Ans.(b)
$657. Ans.(a)
$658. Ans.(b)
$659. Ans.(c)
$660. Ans.(b)
S661. Ans.(b)
$662. Ans.(a)
$663. Ans.(a)
S$664. Ans.(b)
$665. Ans.(b)
$666. Ans.(a)
$667. Ans.(b)
$668. Ans.(b)
$669. Ans.(d)
$670. Ans.(d)
S$671. Ans.(d)
$672. Ans.(a)
$673. Ans.(a)
S674. Ans.(a)
S$675. Ans.(a)
$676. Ans.(c)
S677. Ans.(c)
S$678. Ans.(d)
$679. Ans.(c)
$680. Ans.(c)
S681. Ans.(d)
$682. Ans.(c)
$683. Ans.(c)
S$684. Ans.(b)
$685. Ans.(a)
$686. Ans.(c)
S$687. Ans.(d)
$688. Ans.(a)
$689. Ans.(a)
$690. Ans.(b)
S691. Ans.(d)
$692. Ans.(c)
$693. Ans.(c)
S$694. Ans.(b)
$695. Ans.(c)
$696. Ans.(d)

$697. Ans.(d)
$698. Ans.(d)
$699. Ans.(a)
$700. Ans.(b)
S$701. Ans.(a)
$702. Ans.(b)
$703. Ans.(b)
S$704. Ans.(a)
$705. Ans.(b)
$706. Ans.(b)
$707. Ans.(a)
$708. Ans.(b)
$709. Ans.(c)
$710. Ans.(a)
$711. Ans.(b)
$712. Ans.(b)
$713. Ans.(d)
S$714. Ans.(a)
$715. Ans.(b)
$716. Ans.(d)
$717. Ans.(a)
$718. Ans.(c)
$719. Ans.(b)
$720. Ans.(c)
$721. Ans.(a)
S$722. Ans.(b)
$723. Ans.(c)
S$724. Ans.(c)
S$725. Ans.(d)
$726. Ans.(c)
S$727. Ans.(d)
$728. Ans.(a)
$729. Ans.(b)
$730. Ans.(b)
$731. Ans.(a)
$732. Ans.(c)
S$733. Ans.(d)
S$734. Ans.(a)
$735. Ans.(b)
$736. Ans.(d)
$737. Ans.(a)
$738. Ans.(d)
$739. Ans.(c)
$740. Ans.(d)
$741. Ans.(d)
$742. Ans.(c)
$743. Ans.(c)
S$744. Ans.(c)
$745. Ans.(b)
$746. Ans.(c)
$747. Ans.(a)
$748. Ans.(b)
$749. Ans.(b)
$750. Ans.(d)
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S$751. Ans.(a)
$752. Ans.(a)
$753. Ans.(a)
S$754. Ans.(d)
$755. Ans.(a)
§$756. Ans.(a)
§$757. Ans.(a)
$758. Ans.(b)
$759. Ans.(b)
$760. Ans.(c)
$761. Ans.(b)
$762. Ans.(d)
$763. Ans.(c)
S$764. Ans.(b)
$765. Ans.(b)
$766. Ans.(d)
$767. Ans.(d)
$768. Ans.(c)
$769. Ans.(b)
$770. Ans.(b)
$771. Ans.(d)
$772. Ans.(b)
$773. Ans.(d)
S$774. Ans.(a)
$775. Ans.(a)
$776. Ans.(b)
S$777. Ans.(a)
$778. Ans.(a)
$779. Ans.(b)
$780. Ans.(d)
$781. Ans.(d)
$782. Ans.(a)
$783. Ans.(b)
S$784. Ans.(d)
$785. Ans.(a)
$786. Ans.(d)
$787. Ans.(b)
$788. Ans.(c)
$789. Ans.(b)
$790. Ans.(a)
$791. Ans.(b)
$792. Ans.(b)
$793. Ans.(b)
S$794. Ans.(b)
$795. Ans.(a)
$796. Ans.(c)
$797. Ans.(a)
$798. Ans.(d)
$799. Ans.(a)
$800. Ans.(d)
S$801. Ans.(b)
$802. Ans.(c)
$803. Ans.(a)
S$804. Ans.(b)

$805. Ans.(d)
$806. Ans.(b)
$807. Ans.(b)
$808. Ans.(b)
$809. Ans.(b)
$810. Ans.(c)
$811. Ans.(a)
$812. Ans.(a)
$813. Ans.(a)
$814. Ans.(b)
$815. Ans.(c)
$816. Ans.(b)
$817. Ans.(d)
$818. Ans.(a)
$819. Ans.(c)
$820. Ans.(c)
$821. Ans.(b)
$822. Ans.(c)
$823. Ans.(d)
$824. Ans.(b)
$825. Ans.(b)
$826. Ans.(b)
$827. Ans.(b)
$828. Ans.(d)
$829. Ans.(d)
$830. Ans.(a)
$831. Ans.(a)
$832. Ans.(d)
$833. Ans.(b)
$834. Ans.(b)
$835. Ans.(a)
$836. Ans.(b)
$837. Ans.(d)
$838. Ans.(a)
$839. Ans.(d)
$840. Ans.(c)
$841. Ans.(c)
$842. Ans.(d)
$843. Ans.(a)
$844. Ans.(c)
$845. Ans.(a)
$846. Ans.(d)
$847. Ans.(d)
$848. Ans.(a)
$849. Ans.(c)
$850. Ans.(b)
$851. Ans.(c)
$852. Ans.(d)
$853. Ans.(a)
$854. Ans.(b)
$855. Ans.(a)
$856. Ans.(c)
$857. Ans.(c)
$858. Ans.(d)
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$859. Ans.(b)
$860. Ans.(c)
$861. Ans.(d)
$862. Ans.(c)
$863. Ans.(a)
$864. Ans.(b)
$865. Ans.(c)
$866. Ans.(c)
$867. Ans.(d)
$868. Ans.(b)
$869. Ans.(a)
$870. Ans.(a)
$871. Ans.(a)
$872. Ans.(c)
$873. Ans.(d)
S$874. Ans.(a)
$875. Ans.(b)
$876. Ans.(b)
$877. Ans.(d)
$878. Ans.(b)
$879. Ans.(d)
$880. Ans.(b)
$881. Ans.(b)
$882. Ans.(d)
$883. Ans.(c)
$884. Ans.(a)
$885. Ans.(c)
$886. Ans.(d)
$887. Ans.(d)
$888. Ans.(a)
$889. Ans.(b)
$890. Ans.(c)
$891. Ans.(d)
$892. Ans.(d)
$893. Ans.(a)
$894. Ans.(c)
$895. Ans.(a)
$896. Ans.(b)
$897. Ans.(c)
$898. Ans.(c)
$899. Ans.(c)
$900. Ans.(b)
S901. Ans.(b)
$902. Ans.(c)
$903. Ans.(b)
S904. Ans.(d)
$905. Ans.(a)
$906. Ans.(c)
$907. Ans.(c)
$908. Ans.(b)
$909. Ans.(a)
$910. Ans.(a)
S911. Ans.(d)
$912. Ans.(a)

$913. Ans.(c)
S$914. Ans.(b)
$915. Ans.(d)
$916. Ans.(a)
$917. Ans.(c)
$918. Ans.(b)
$919. Ans.(c)
$920. Ans.(b)
$921. Ans.(d)
§922. Ans.(c)
$923. Ans.(d)
$924. Ans.(b)
§925. Ans.(c)
$926. Ans.(d)
§927. Ans.(e)
$928. Ans.(a)
$929. Ans.(c)
$930. Ans.(b)
S$931. Ans.(a)
$932. Ans.(c)
$933. Ans.(a)
S$934. Ans.(c)
$935. Ans.(b)
$936. Ans.(d)
$937. Ans.(c)
$938. Ans.(a)
$939. Ans.(c)
$940. Ans.(a)
S941. Ans.(d)
S942. Ans.(b)
S$943. Ans.(b)
S944. Ans.(b)
$945. Ans.(a)
$946. Ans.(c)
$947. Ans.(d)
$948. Ans.(a)
$949. Ans.(b)
$950. Ans.(b)
$951. Ans.(c)
$952. Ans.(c)
$953. Ans.(a)
$954. Ans.(c)
$955. Ans.(c)
$956. Ans.(b)
$957. Ans.(b)
$958. Ans.(d)
$959. Ans.(c)
$960. Ans.(d)
$961. Ans.(c)
$962. Ans.(c)
$963. Ans.(d)
$964. Ans.(b)
$965. Ans.(d)
$966. Ans.(b)

76

Adda247 App

Engineers Adda247


https://play.google.com/store/apps/details?id=com.adda247.app&hl=en
https://www.adda247.com/engineering-jobs/

Addal2417

m 1000 Most Important MCQs for All AE/JE Exams (Mechanical Engineering)

Addal247

$967. Ans.(b)
$968. Ans.(a)
$969. Ans.(d)
$970. Ans.(a)
S971. Ans.(a)
§972. Ans.(d)
$973. Ans.(a)
S$974. Ans.(c)
§975. Ans.(a)
§976. Ans.(c)
§977. Ans.(c)
$978. Ans.(d)
$979. Ans.(c)
$980. Ans.(d)
$981. Ans.(c)
$982. Ans.(b)
$983. Ans.(b)
$984. Ans.(b)
$985. Ans.(a)

Civil
Engineering

ka Mahapack

Live Class, Video Course
Test Series , Ebooks

$986. Ans.(d)
$987. Ans.(a)
$988. Ans.(c)
$989. Ans.(b)
$990. Ans.(a)
$991. Ans.(c)
$992. Ans.(d)
$993. Ans.(b)
$994. Ans.(d)
$995. Ans.(a)
$996. Ans.(c)
$997. Ans.(b)
$998. Ans.(d)
$999. Ans.(c)
$1000. Ans.(a)
$1001. Ans.(d)
$1002. Ans.(c)
$1003. Ans.(a)
$1004. Ans.(a)
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